f

“lﬁ!lHl#"‘ “fu={e
A ERERE

mEARE#% (S EH

EXCELLENT QUALITY TRUST WORTHY

{148 3324441

a IE =
ibt i 5 il
EHENETI]NE WUZHOU

WA iki® i3 M E ln RSB IR 4 Sl

SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.



W inkid g E RS SBIRAE

LY . L]
it i
EHENI_STIJNE WUZHOU

AR EIT

WZFRBEBEENEFREZAERARREHESHKE, ML
T ARRBAEEGINER., TR T —FRHARNE,
NAFmI T ZMNATIRENE. UK. KRERE. T,
A, P, BA. SR, MRAREITI, T A THIRZ
#HAELFREIHTIEET. EZEH

ZEsoE A RMARGNSELR S, ARH205FF
ERHMAETZYE, EEEFRGIKMA, BEIERTFHA
 REERTFHIR, BEHERTHK, KTHK, BRIk
A, RERBRHK, INKEHAE,

SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

COMPANY PROFILE

Shandong Chengtong Wuzhou International Trade Co., Lid. is
abearing company jointly founded by a number of production and-
scientific research factories as member units, integrating science,in-
dustry and trade. The company's products are widely used incon—
struction machinery, machine tools, automobiles, metallurgymining,
petroleum, machinery, electric power, railways, ships andother in—
dustries. Our factory is located in the capital of bearings,Linging City,
Liaocheng City, Shandong Province, China. The mainbusiness
scope is bearings and bearing accessories and auto parts.The com-
pany has 20 years of rich experience in bearing production.It mainly
produces deep groove ball bearings, cylindrical rollerbearings,
spherical roller bearings, tapered roller bearingsspherical plain bear—

ings, angular contact ball bearings, automobilehub bearings, and

outer spherical bearings




it sl & W inkid g E RS SBIRAE

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

f?'rlg %‘]ﬂzﬁﬁ 7?/ Deep groove ball bearing

B f
. z RS I =
o sk R ¢ € | [
IR A B A 73 . ;
Deep groove ball bearing o o -
al H
lpa
zZ 2RZ 2RS NR
HIRENS SMERY (mm) EEERE (kN) Wit
Bearing type Qverall dimensions ( mm } The rated load(kN) | The
weight
21 A variant P D2 § of the
Thebase | BhE FHE HEIEZHA | H5LEEDER D B r, min Cr Cor

ype | Dust cover Sealing ing Wit focing s | With iop ring : (max) | (max) (kg)
6000 77 2RZ 2RS N NR 10 26 8 0.3 29.2 0.7 4.55 1.97 0.018
6001 ZZ 2RZ 2RS N NR 12 28 8 0.3 30.8 0.85 5.00 2.30 0.021
6002 ZZ 2RZ 2RS N NR 15 32 9 0.3 36.7 112 5.50 2.80 0.030
- 6003 Iz 2RZ 2RS N NR 17 35 10 0.3 39.7 1.12 6.00 3.25 0.040
PR 6004 | 77 | 2RZ | 2RS N NR 20 42 [ 06 | 463 | 112 | 938 | 503 | 0068
- ERIEREEAE R, LR E R, S - I - 0 I O S
C BRI, RIREEIRE, HEEEREER, BAE. iREh/. 6007 | 2z | 2Rz | 2Rs N NR 35 62 14 1 677 | 17 | 162 | 104 | 0149
6008 ZZ 2RZ 2RS N NR 40 68 15 1 74.6 1.7 17.0 11.7 0.185
o 6009 ZZ 2RZ 2RS N NR 45 75 16 1 81.6 1.7 21.0 148 0.231
g5t 6010 | 7z | 2Rz | s | N NR | 50 | 80 | 16 1 | 866 | 17 | 220 | 163 | 0250
*J%'I#éﬁ#ﬁﬁ%ﬁgi*ﬂlﬁﬁ', ﬁﬂﬁi\‘.%ﬁc, iﬁ%iﬁﬂlﬁc (-Z, -RS, -RZ), 6011 ZZ 2RZ 2RS N NR 55 90 18 11 96.5 2.46 303 220 0.362
_ 6012 4 2RZ 2RS N NR 60 95 18 1L 1016 2.46 31.7 242 0.385
Jtnﬂma"]tm%" 6013 77 2RZ 2RS N NR 65 100 18 L 106.5 2.46 320 248 0.430
W ZEH & (-22, —2RS, -2RZ), wHri-ohilitysk A b shEREShE . 6014 7z 2RZ 2RS N NR 70 110 20 11 1166 | 246 38.6 304 | 0569
6015 ZZ 2RZ 2RS N NR 75 115 20 1.1 1216 2.46 40.2 33.2 0.603
6016 ZZ 2RZ 2RS N NR 80 125 22 1.1 134.7 2.82 47.5 39.8 0.821
FENA 6017 | 2z | 2RZ | 2RS N NR 85 130 | 22 11 | 1397 | 282 | 508 | 428 | 0.848
6018 ZZ 2RZ 2RS N NR 90 140 24 L5 149.7 2.82 58.0 49.9 112
B, MK, BERE, CINH, @R, RUNEF. 6019 | 2z | 2Rz | 2RS N NR_| 95 | 145 | 24 15 | 1547 | 282 | 577 | 500 | 118
6020 iz 2RZ 2RS N NR 100 150 24 15 1597 2.82 60.5 54.0 1.25
6021 7z 2RZ 2RS N NR 105 160 26 2 169.7 2.82 72.8 65.5 1.60
Product characteristics 6022 ZZ 2RZ 2RS N NR 110 170 28 2 182.9 31 819 729 1.93
This series of bearings mainly bear radial load, but also can bear certain axial load; Z${ X Sealed 6024 iz 2RZ 2RS N NR 120 180 28 2 1929 3.1 87.7 79.3 203
-8mall running resistance, high limit speed, high rotating precision, low noise and vibration. £026 ZZ cliss 2RS N NR 130 200 23 2 2129 24 105 968 s
k ¥ ® . 6028 ZZ 2RZ 2RS N NR 140 210 33 2 222.8 31 111 108 3.35
6030 ZZ 2RZ 2RS N NR 150 225 35 2.1 237 35 125 125 4.80
Structure and design 6032 ZZ 2RZ 2RS - = 160 240 38 21 = = 137 135 5.15
Provide various structural designs for full size section, such as open bearing, single seal bearing (- Z, - RS, - RZ), 6034 ZZ 2RZ 2RS = - 170 260 42 21 - - 161 161 6.89
The bearing of the stop ring. 6036 | 7z | 2Rz | 2RsS - - 180 | 280 6 75! - - 180 | 185 | 888
Double seal bearing (- 2Z, - 2RS, - 2RZ), bearing with or without stop ring. ggig ;; g:é ;iz : : 238 ;ig ;? ;i : ;g? Egé 9]'.329
6044 ZZ 2RZ 2RS - - 220 340 56 3 - - 235 271 186
Main applications 6048 ZZ 2RZ 2RS n - 240 360 56 3 = = 244 296 19.9
Electrical machinery, machine tools, precision equipment, chemical machinery, general machinery, agricultural machinery, etc. 6052 zZ 2RZ 2RS - = 260 400 65 4 m = 291 375 294




it sl & W ikiEE M ERE SBIRASE

EHEN_ETI]NE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

FfTE %\]B}ZEEIJ?(/ Deep groove ball bearing ffﬁﬁ 5"] Bkiﬂ] J_ﬂ/ Deep groove ball bearing

RS ERT (mm) HTERT (KN) il WRRE AMERT (mm) EEE G (kN) it
Bearing type Overall dimensions ( mm ) The rated load(kN) The Bearing type Overall dimensions ( mm ) The rated load(kN) The
HEY TH variant . D2 f ";?‘,ghl‘ HAY FEEY variant ) D2 § %?Iah;
e e e =+t 3 7
Tmley:a:e oﬁf‘é&'&‘g. .ﬁﬁrﬂfg mﬁ?ﬁ d D B re mMin as ) Cr Cor (kg) Thfyl;:se D[gg;f:r sfﬁgg ﬁﬂﬁ ﬁ&uﬁﬁ d D B T, min iy | - ez Cr Cor (kg)
6056 ZZ 5 = 280 420 65 4 - X 300 410 31.2 6319 ZZ 2RZ 2RS N NR 95 200 45 3 2129 31 153 119 5.75
6060 v - - 300 460 74 4 - - 355 500 44.2 6320 7z 2RZ 2RS N NR 100 215 47 3 227.8 31 174 140 7.00
6201 ZZ N NR 12 32 10 0.6 36.7 112 6.00 2.70 0.036 6321 ZZ 2RZ 2RS N NR 105 225 49 3 237 3.5 182 153 8.25
6202 77 N NR 15 35 11 0.6 397 112 7.80 375 0.045 6322 7z 2RZ 2RS N NR 110 240 50 3 252 35 205 178 9.54
6203 ZZ N NR 17 40 12 0.6 44.6 112 9.56 4.75 0.065 6324 ZZ 2RZ 2RS = = 120 260 S5 3 = = 228 207 122
6204 Zz N NR 20 47 14 1 527 112 12.7 6.55 0.103 6326 ZZ 2RZ 2RS % = 130 280 58 4 a B 229 216 18.0
6205 zZ N NR 25 52 15 1 579 112 14.0 7.80 0.127 6328 ZZ 2RZ 2RS - = 140 300 62 4 » = 251 245 220
6206 Zz N NR 30 62 16 1 677 I3 19.5 112 0.203 6330 77 2RZ 2RS - - 150 320 65 4 - - 274 284 227
6207 Iz N NR 35 72 17 1.1 78.6 17 25.5 153 0.287 6332 77 2RZ 2RS - - 160 340 68 4 - - 278 287 26.2
6208 Zz 2RZ 2RS N NR 40 80 18 11 86.6 42 30.7 19.0 0.367 6334 ZZ 2RZ 2RS = - 170 360 72 4 - - 325 355 366
6209 ZZ 2RZ 2RS N NR 45 85 19 Il 91.6 17 332 216 0416 6336 ZZ 2RZ 2RS - - 180 380 75 4 - - 355 405 43.1
6210 ZZ 2RZ 2RS N NR 50 90 20 Ll 96.5 2.46 35.1 232 0.462 6338 ZZ 2RZ 2RS - - 190 400 78 S - - 355 415 49.7
6211 Zz 2RZ 2RS N NR 55 100 21 15 106.5 246 434 29.2 0.607 6340 ZZ 2RZ 2RS - ~ 200 420 80 5 - b 380 445 55.3
6212 ZZ 2RZ 2RS N NR 60 110 22 15 116.6 246 47.5 325 0.783 6344 ZZ 2RZ 2RS < = 220 460 88 S — - 410 520 739
6213 Zz 2RZ 2RS N NR 65 120 23 15 129.7 2.82 55.9 40.5 0.990 6348 ZZ 2RZ 2RS # = 240 500 95 5 - - 470 625 94.4
6214 Zz 2RZ 2RS N NR 70 125 24 135 1347 2.82 60.5 45.0 110 6352 ZZ 2RZ 2RS = S 260 540 102 6 - - 505 710 118
6215 b d 2RZ 2RS N NR 75 130 25 1.5 139.7 2.82 66.3 49.0 1.20 6356 77 2RZ 2RS - - 280 580 108 6 - - 570 340 144
6216 77 2RZ 2RS N NR 80 140 26 2 149.7 282 70.2 55.0 140 6405 - - - N NR 25 80 21 5 86.6 17 358 193 0.530
6217 ZZ 2RZ 2RS N NR 85 150 28 2 159.7 2.82 83.2 64.0 1.80 6406 - - - N NR 30 90 23 15 96.5 2.46 43.6 23.6 0.738
6218 ZZ 2RZ 2RS N NR 90 160 30 2 169.7 2.82 95.6 735 2.15 6407 - - - N NR 35 100 25 15 106.5 2.46 55.3 31.0 0.951
6219 ZZ 2RZ 2RS N NR 95 170 32 2.1 1829 3.1 108 815 2.60 6408 = = = N NR 40 110 27 2 116.6 2.46 63.7 36.5 1.25
6220 iz 2RZ 2RS N NR 100 180 34 2.1 1929 31 122 92.7 3.20 6409 = » = N NR 45 120 29 2 129.7 2.82 76.1 45.0 155
6221 Zz 2RZ 2RS N NR 105 190 36 21 2029 3.1 133 104 371 6410 & = 3 N NR 50 130 31 21 139.7 2.82 87.1 520 1.90
6222 ZZ 2RZ 2RS N NR 110 200 38 23 2129 31 144 117 4.44 6411 - - - N NR 55 140 33 21 149.7 2.82 99.5 62.0 230
6224 7z 2RZ 2RS N NR 120 215 40 251, 2278 31 155 130 532 6412 - - - N NR 60 150 35 21 159.7 2.82 114 70.1 273
6226 Y24 2RZ 2RS N NR 130 230 40 3 242 3.5 165 147 6.13 6413 - - - N NR 65 160 37 21 169.7 2.82 119 78.0 3.30
6228 ZZ 2RZ 2RS N NR 140 250 42 3 262 3.5 165 125 7.45 6414 - - - N NR 70 180 42 3 192.9 3.1 143 104 4.85
6230 Y4 2RZ 2RS - - 150 270 45 3 - - 174 137 9.40 6415 - - = N NR 75 190 45 3 202.9 3.1 153 114 6.80
6232 Y4 2RZ 2RS - - 160 290 68 3 = - 185 186 12.8 6416 = 2 = N NR 80 200 48 3 2129 3.1 163 125 8.00
6234 ZZ 2RZ 2RS e = 170 310 52 4 2 = 212 224 15.8 6417 = = < N NR 85 210 52 4 2228 3.1 174 134 9.50
6236 ZZ 2RZ 2RS & - 180 320 52 4 = = 227 241 15.9 6418 = = - N NR 90 225 54 4 237 3.5 186 146 11.5
6238 ZZ 2RZ 2RS - - 190 340 55 4 - - 255 282 22.3 HRERTEER
6240 7z 2RZ 2RS - - 200 360 58 4 - - 269 310 26.7 61905 77 2RZ 2RS N NR 25 42 9 03 44.8 0.85 6.63 4.00 0.045
6244 ZZ 2RZ 2RS - - 220 400 65 4 - - 310 375 374 61906 £Z 2RZ 2RS N NR 30 47 9 03 49.8 0.85 7.28 4.55 0.051
6248 ZZ 2RZ 2RS 2 2 240 440 72 4 - i 340 430 50.5 61907 ZZ 2RZ 2RS N NR 35 55 10 0.6 57.8 0.85 9.56 6.20 0.080
6252 zz 2RZ 2RS - - 260 480 80 5 - - 400 540 67 61908 ZZz 2RZ 2RS N NR 40 62 12 0.6 64.8 0.85 138 9.30 0.120
6256 ZZ 2RZ 2RS # 280 500 80 5 - = 400 550 704 61909 ZZ 2RZ 2RS N NR 45 68 12 0.6 70.8 0.85 10.1 6.70 0.140
6260 ZZ 2RZ 2RS - - 300 540 85 5 - - 465 670 87.8 61910 ZZ 2RZ 2RS N NR 50 72 12 0.6 74.8 0.85 14.6 104 0.140
6301 ZZ 2RZ 2RS N NR 12 37 12 1 413 112 9.70 4.20 0.060 61911 ZZ 2RZ 2RS N NR 55 80 13 1 84.4 1.12 16.0 132 0.181
6302 ZZ 2RZ 2RS N NR 15 42 13 1 46.3 1.12 114 540 0.082 61912 y4 2RZ 2RS N NR 60 85 13 & 89.4 1.12 164 14.2 0.195
6303 ZZ 2RZ 2RS N NR 17 47 14 1 527 112 13.5 6.55 0.115 61913 ZZ 2RZ 2RS N NR 65 90 13 1 94.4 1.12 16.0 15.0 0.196
6304 ZZ 2RZ 2RS N NR 20 52 15 1. 579 112 15.9 7.80 0.141 61914 77 2RZ 2RS N NR 70 100 16 1 104.4 1.12 23.7 211 0.342
6305 ZZ 2RZ 2RS N NR 25 62 17 11 67.7 17 22.5 116 0.219 61915 ZZ 2RZ 2RS N NR 75 105 16 1 110.7 1.12 24.3 22.5 0.355
6306 ZZ 2RZ 2RS N NR 30 72 19 LI 78.6 1T 281 16.0 0.350 61916 ZZ 2RZ 2RS N NR 80 110 16 1 115.7 1.12 249 239 0.375
6307 ZZ 2RZ 2RS N NR 35 80 21 15 86.6 17 332 19.0 0.454 61917 ZZ 2RZ 2RS N NR 85 120 18 11 125.7 112 319 29.7 0.507
6308 ZZ 2RZ 2RS N NR 40 90 23 5 96.5 246 314 224 0.639 61918 ZZ 2RZ 2RS N NR 90 125 18 11 130.7 1.12 328 315 0.533
6309 77 2RZ 2RS N NR 45 100 25 15 106.5 246 52.7 315 0.836 61919 77 2RZ 2RS N NR 95 130 18 11 135.7 112 337 333 0.558
6310 zZ 2RZ 2RS N NR 50 110 27 2 116.6 246 61.8 38.0 1.05 61920 ZZ 2RZ 2RS N NR 100 140 20 11 145.7 17 427 41.9 0.774
6311 ZZ 2RZ 2RS N NR 55 120 29 2 129.7 2.82 71.5 45.0 135 61921 ZZ 2RZ 2RS N NR 105 145 20 11 150.7 17 43.9 44.3 0.808
6312 ZZ 2RZ 2RS N NR 60 130 3L 2.1 139.7 2.82 81.9 52.0 1.70 61922 ZZ 2RZ 2RS N NR 110 150 20 11 155.7 17 43.6 44.4 1.00
6313 ZZ 2RZ 2RS N NR 65 140 33 2.1 149.7 2.82 92.3 60.0 2.10 61924 ZZ 2RZ 2RS N NR 120 165 22 11 1715 17 53.0 539 1.09
6314 Zz 2RZ 2RS N NR 70 150 35 2L 159.7 2.82 104 68.0 2.50 61926 Tz 2RZ 2RS N NR 130 180 24 15 186.5 17 65.1 67.2 1.50
6315 ZZ 2RZ 2RS N NR 75 160 37 2.1 169.7 2.82 114 76.5 3.00 61928 ZZ 2RZ 2RS N NR 140 190 24 15 196.5 17 66.6 712 159
6316 pard 2RZ 2RS N NR 80 170 39 21 1829 31 124 86.5 3.60 61930 77 2RZ 2RS - - 150 210 28 2 - - 84.7 90.2 245
6317 7z 2RZ 2RS N NR 85 180 41 3 1929 3.1 133 96.5 4.25 61932 7z 2RZ 2RS - - 160 220 28 2 - - 86.9 95.5 2.59
6318 7z 2RZ 2RS N NR 90 190 43 3 2029 33 143 108 4.90 61934 7z 2RZ 2RS = = 170 230 28 2 N - 88.8 100 273




it sl & W ikiEE M ERE SBIRASE

EHEN_ETI]NE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

o if'] ﬂfﬂiﬁ(/ Deep groove ball bearing i~ 5/‘3 Bkiﬁ 7/ Deep groove ball bearing

MRS SMERT (mm) HERFKN) | ER RS SMEERT (mm) mEnEkN) | B
Bearing type Overall dimensions { mm ) The rated load(kN) | The Bearing type Overall dimensions ( mm ) The rated load(kN) | The
A : FFE) variant j ] o2 fi c c Vé?tghrg atE LAY variant D2 £ Vf,?'%rg
ol A Al R R R T Y R Rl K el P I T 0 I I R Il I IS I Ml KLY
61936 ZZ 2RZ - - 180 250 33 2 - - 118 133 4.06 16028 - - - - = 140 210 22 11 = = 82.1 85.0 2.00
61938 | 7z 2RZ - - 190 260 33 2 - - 117 133 422 16030 E Z E < T 150 225 24 1.1 2 2 91.9 98.5 2.64
61940 | 7z 2RZ - - 220 300 38 2.1 - - 152 178 6.34 16032 - - - - - 160 240 25 1.5 - - 99 108 4.2
61948 ZZ 2RZ - - - 240 320 38 2.1 - - 154 190 8.49 16034 - - - - - 170 260 28 1.5 — - 114 126 5.71
61952 ZZ 2RZ - - - 260 360 46 271 - - 204 255 14 16036 - - - - - 180 280 31 2 - - 145 157 7.5
61956 ZZ 2RZ % = - 280 380 46 21 # - 209 272 15.1 16038 - - - - - 190 290 31 2 2 = 149 168 7.78
61960 ZZ 2RZ e = - 300 420 56 3 3 & 269 370 239 16040 - - - - - 200 310 34 2 - - 161 180 10
61809 ZZ 2RZ 2RS N NR 45 58 7 0.3 60.8 0.85 4.65 4.32 0.040 16044 - - - - - 220 340 37 2.1 - - 180 217 13.1
61810 [ 7z 2RZ 2RS N NR 50 65 7 03 67.8 0.85 6.60 610 | 0043 16048 - - - - - 240 360 37 21 - - 196 243 13.9
61811 7z 2RZ 2RS N NR 55 72 9 0.3 74.8 0.85 9.10 840 | 0070 16052 - - - " ” 260 400 44 3 = - 237 310 211
61812 7z 2RZ 2RS N NR 60 78 10 0.3 82.7 112 9.10 870 | 0093 16056 - - - . - 280 420 44 3 - - 243 330 22.7
61813 ZZ 2RZ' 2RS N NR 65 85 10 0.6 89.4 1.12 11.9 11.5 0.130 16060 - - - - - 300 460 50 4 - - 285 405 31.5
61814 | 7z 2RZ 2RS N NR 70 90 10 0.6 944 | 112 12.1 119 | 0138 TEER A B
61815 ZZ 2RZ 2RS N NR 75 95 10 0.6 99.4 112 12.5 12.8 0.147 62203 zZ 2RZ 2RS N NR 17 40 16 0.6 44.6 112 7.36 4.48 0.086
61816 ZZ 2RZ 2RS N NR 80 100 10 0.6 104.4 112 127 13.3 0.155 62204 ZZ 2RZ 2RS N NR 20 47 18 1 52.7 112 9.88 6.22 0.134
61817 Zz 2RZ 2RS N NR 85 110 13 1 1157 | 112 19.2 198 | 0.245 62205 | 77 2RZ 2RS N NR 25 52 18 1 57.9 112 14.0 7.80 | 0146
61818 [ 7z 2RZ 2RS N NR 90 115 13 1 1207 | 112 19.5 205 | 0258 62206 | 77 2RZ 2RS N NR 30 62 20 1 67.7 1.7 19.5 11.2 | 0249
61819 | 7z 2RZ 2RS N NR 95 120 13 1 1257 | 112 19.8 213 | 0.270 62207 | ZZ 2RZ 2RS N NR 35 72 23 1.1 78.6 17 25.7 153 | 0381
61820 [ 7z 2RZ 2RS N NR 100 125 13 1 1307 | 112 20.1 220 | 0303 62208 | zz 2RZ 2RS N NR 40 80 23 11 86.6 17 30.7 19.0 | 0450
61821 - 2RZ 2RS N NR 105 130 13 1 135.7 112 20.3 22.7 0.312 62209 zZ 2RZ 2RS N NR 45 85 23 11 91.6 17 33.2 216 0.485
61822 - 2RZ 2RS N NR 110 140 16 1 145.7 17 22.5 245 | 0509 62210 | 77 2RZ 2RS N NR 50 90 23 11 96.5 246 35.1 232 | 0535
61824 - 2RZ 2RS N NR 120 150 16 1 1557 17 24.0 28.0 0.529 62211 ZZ 2RZ 2RS N NR 55 100 25 1.5 106.5 246 43.4 29.2 0.680
61826 E 2RZ 2RS N NR 130 165 18 11 1715 17 244 280 | 0775 62212 77 2RZ 2RS N NR 60 110 28 1.5 116.6 2.46 47.5 32.5 1.01
61828 - 2RZ 2RS N NR 140 175 18 11 1815 17 39.2 460 | 0784 62213 | zz 2RZ 2RS N NR 65 120 31 1.5 1297 | 282 55.9 40.5 1.28
61830 - 2RZ 2RS N NR 150 190 20 1.1 196.5 7 49.1 57.1 111 62214 | 77 2RZ 2RS N NR 70 125 31 15 1347 | 282 60.5 45.0 1.40
61832 - 2RZ 2RS N NR 160 200 20 11 206.5 1.7 45.2 55.1 118 62304 ZZ 2RZ 2RS N NR 20 52 21 131 57.9 112 12.3 7.81 0.197
61834 - 2RZ 2RS = = 170 215 22 11 - - 51.2 63.3 165 62305 ZZ 2RZ 2RS N NR 25 62 24 11 67.7 17 22.4 11.5 0.302
61836 = 2RZ 2RS = = 180 225 22 11 = = 62.3 75.9 162 62306 ZZ 2RZ 2RS N NR 30 72 27 11 78.6 1.7 27.0 15.2 0.489
61838 - 2RZ 2RS - - 190 240 24 15 - - 75.1 916 210 62307 | 7z 2RZ 2RS N NR 35 80 31 15 86.6 17 335 183 | 0614
61840 - 2RZ 2RS - - 200 250 24 15 - - 74.2 912 2.18 62308 | 77 2RZ 2RS N NR 40 90 33 15 96.5 2.46 314 224 | 0843
61848 ZZ 2RZ = = - 240 300 28 2 o = 98.5 137 448 62309 ZZ 2RZ 2RS N NR 45 100 36 1.5 106.5 2.46 37.2 26.3 1.11
61852 ZZ 2RZ - - - 260 320 28 2 - 101 148 4.84 62310 ZZ 2RZ 2RS N NR 50 110 40 2.0 116.6 2.46 47.6 35.7 147
61856 2z 2RZ 5 = < 280 350 33 2 & - 133 191 72 62311 ZZ 2RZ 2RS N NR 55 120 43 2.0 129.7 2.82 71.5 45.0 1.95
61860 ZZ 2RZ = = = 300 380 38 2 S = 166 233 10.3 62312 ZZ 2RZ 2RS N NR 60 130 46 2.1 139.7 2.82 81.8 51.9 2.50
BERPUMR 62313 | zZ 2RZ 2RS N NR 65 140 48 21 1497 | 282 92.3 60.0 294
16004 n = = = = 20 42 8 0.3 = T 7.90 445 0.050 62314 ZZ 2RZ 2RS N NR 70 150 51 2.1 159.7 2.82 104 68.0 3.58
16005 - - - - - 25 47 8 0.3 - - 842 515 | 0.060 63303 | zz 2RZ 2RS N NR 17 47 222 1 52.7 112 135 655 | 0.1431
16006 - - - - - 30 55 9 0.30 - - 11.2 625 | 0085 63304 | zZ 2RZ 2RS N NR 20 52 222 11 57.9 112 15.9 78 | 01935
16007 - - - - - 35 62 9 030 - - 115 8380 | 0100 63305 | zz 2RZ 2RS N NR 25 62 25 1.1 67.7 17 225 116 | 0.2541
16008 & = = = = 40 68 9 0.3 = % 125 10.2 0.130 63306 ZZ 2RZ 2RS N NR 30 72 25.4 1.1 78.6 1.7 28.1 16 0.4062
16009 - - - - - 45 75 10 0.6 - - 15.6 122 | 0155 63307 | 2z 2RZ 2RS N NR 35 80 30 15 86.6 17 33.2 19 | 05037
16010 = = 2 = - 50 80 10 0.6 H = 16.1 131 0.166 63308 ZZ 2RZ 2RS N NR 40 90 30.2 15, 96.5 2.46 314 224 | 08364
16011 - - - - - 55 90 11 0.6 - - 194 162 | 0207 63309 | zZ 2RZ 2RS N NR 45 100 32 15 1065 | 246 52.7 315 127
16012 & = = = & 60 95 11 0.6 = & 19.9 17.5 0.224 63310 ZZ 2RZ 2RS N NR 50 110 34.9 2 116.6 2.46 61.8 38 1.732
16013 - - - - - 65 100 11 0.6 - - 20.5 186 | 0241 63311 | 77 2RZ 2RS N NR 55 120 36.5 2 129.7 | 282 715 45 | 22372
16014 - - - - - 70 110 13 0.6 - - 27.9 250 | 0386 63312 | zz 2RZ 2RS N NR 60 130 39.7 21 1397 [ 282 819 52 | 28531
16015 - - - - - 75 115 13 0.6 - - 28.7 268 | 0411 63313 | 77 2RZ 2RS N NR 65 140 444 2.1 1497 | 282 923 60 | 35418
16016 - - - - - 80 125 14 0.6 - - 33.1 314 0.539 63314 ZZ 2RZ 2RS N NR 70 150 49.2 21 159.7 2.82 104 68 4.3533
16017 - - - - - 85 130 14 0.6 - - 340 333 | 0568 63315 | zZ 2RZ 2RS N NR 75 160 54 2.1 1697 | 2.82 114 76.5 | 5.2064
16018 = = = = = 90 140 16 1 = = 415 393 0.671 63316 ZZ 2RZ 2RS N NR 80 170 58.7 2.1, 182.9 3.1 124 86.5 | 6.1098
16019 - - - - - 95 145 16 1 - - 427 419 | 0709 63317 | 77 2RZ 2RS N NR 85 180 63.5 3 192.9 3.1 133 96.5 | 7.1134
16020 = % o 5 = 100 150 16 1 - = 43.8 44.3 0.744
16021 - - - - - 105 160 18 1 - - 51.8 50.6 1.00
16022 - - = = - 110 170 19 1 = = 57.4 56.7 127
16024 - - - - - 120 180 19 1 - - 58.8 60.4 137
16026 - - - - - 130 200 22 L1 - - 79.7 79.2 1.87




it i i WFRRBENERRSERAS

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

Fonilén

roduct introduction

i It EK 3

Centering ball bearing

i oo @M

roduct display

BOBMAEERILMEEILAREN, RERONRERR. SRMES, 2SS0 ERE
SHEK, EEEHRELNE, TLAMERRLEMMEEERNIZEE, 1A, MERHRHERS
BB, WOHHRR SRR BARE DR B2, SEAERKER R, & Lonfa
SNEFETEL B RO SRERRO—B, ARS8 RCKIRFEGROE, £, 5

IR AT, AE SRR, FEMMAASIE, HOETHRTURZZEARRE = A RHNHE SEIKO QUALITY
i, REANEAL, ERTFEEAM. PHEANOER. NENEREILOME, THRERS,
SEAEEE., FOSREEREN L. RBEREANTERSE, BERRERGEERASSE
HRIBR, TRAZRANBESN, FRCERE—ENMEEY. ZXRFNERELKER, &
BRI, ST NS MR T E R B0 & S5NE RO SR RHAR R BT 10 250 BT, WE
hRETIE,

The self-aligning ball bearing has two structures: cylindrical hole and conical hole. The cage is made of steel plate, synthetic resin, etc. Its feature is that

BRIEEE

EFFICIENT OPERATION

U [ A

DURABLE

the outer ring raceway is spherical, with automatic centering, which can compensate the error caused by different concentricity and shaft deflection, but
the relative inclination of the inner and outer rings shall not exceed 3 degrees. The self-aligning ball bearing is a bearing equipped with spherical balls
between the inner ring of two raceways and the outer ring with spherical raceways.

The curvature center of the outer ring raceway surface is consistent with the bearing center, so it has the same centering function as the automatic
self-aligning ball bearing. When the shaft and housing are flexed, it can be adjusted automatically without increasing the bearing burden. Self aligning roller
bearing can bear radial load and axial load in two directions. Large radial load capacity, suitable for heavy load and impact load. The inner diameter of the
inner ring is a tapered bearing, which can be directly installed. Or install it on the cylindrical shaft with a set sleeve and a disassembly cylinder. The cage
is made of steel plate pressing cage, polyamide shaped cage and copper alloy car made cage. It can bear large radial load and certain axial load. The
raceway of the outer ring of this type of bearing is spherical, so it has the self-aligning performance. When the shaft is forced to bend or tilt so that the
relative inclination between the centerline of the inner ring and the centerline of the outer ring does not exceed 1 ° - 25 °, the bearing can still work.

i oo IE

roduct introduction

AFRFREFSFENRE, RREHN
18, RECAKRPHER, FRIOZEBTA
€. . A, KT, FEx, KiE. EE.
RE., ERMMFTIL,

With its high precision quality and low price, the company's
products are deeply appreciated by the majority

of users The products are widely used in metallurgy, mining,
petroleum, chemical industry, coal, cement,

paper making Wind power, heavy machinery and other
industries.




it i 13 il

CHENGTONG WUZHOU

IR A B

Self aligning ball bearing/technical parameters

BE | pgEmm) | AMEmm) | BEmm) ﬂg(j‘fff)ﬁ ﬁ(':‘}f'f)ﬁ 8 (ko)
1200 10 30 9 23000 28000 0.034
1201 12 32 10 21000 26000 0.040
1202 15 35 11 18000 22000 0.049
1203 17 40 12 16000 20000 0.073
1204 20 47 14 14000 17000 0.120
1205 25 52 15 12000 14000 0.141
1206 30 62 16 9900 12000 0.220
1207 35 72 17 8500 10000 0.323
1208 40 80 18 7500 9200 0.417
1209 45 85 19 7000 8500 0.465
1210 50 0 20 6500 7900 0.525
1211 55 100 21 5800 7100 0.705
1212 60 110 22 5200 6400 0.900
1213 65 120 23 4800 5800 1.150
1214 70 125 24 4600 5700 1.260
1215 75 130 25 4300 5300 1.461
1216 80 140 26 4000 4900 1.670
1217 85 150 28 3800 4600 2.070
1218 90 160 30 3500 4300 2.520
1219 95 170 32 3300 4000 3.100
1220 100 180 34 3100 3800 3.700
1221 105 190 36 2900 3600 4,370
1222 110 200 38 2700 3400 5.160

R ERER A/ B R B EL

Self aligning ball bearing/technical parameters

W ikiEE M ERE SBIRASE

SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

mE | otz | s | s | EORE | ERERR) ggq)
1300 10 35 11 20000 24000 0.058
1301 12 37 12 18000 22000 0.067
1302 15 42 13 16000 20000 0.094
1303 17 47 14 14000 17000 0.130
1304 20 52 15 13000 15000 0.163
1305 25 62 17 9900 12000 0.257
1306 30 72 19 8500 11000 0.399
1307 35 80 21 7600 9300 0.510
1308 40 90 23 6900 8400 0.715
1309 45 100 25 6100 7500 0.957
1310 50 110 27 5600 6800 1.210
1311 55 120 29 5000 6200 1.580
1312 60 130 31 4500 5500 1.961
1313 65 140 33 4300 5200 2452
1314 70 150 35 4000 4900 2.990
1315 75 160 37 4000 4900 3.561
1316 80 170 39 3500 4300 4.180
1317 85 180 41 3300 4000 4.980
1318 90 190 43 3200 3800 6.418
1319 95 200 45 2900 3600 6.689
1320 100 215 47 2800 3400 8.293




it i i WFiREENERESERAE

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.
-%- §|J *Ei&?‘iﬂi ﬁ/cylindrical roller bearing $§U EE}‘& ?‘ZLI:EI ﬁ(/cylindrical roller bearing
BARRY HRPR%IE EMESE (KN ) EARY HRBREEIE BB (KN)
RS Principal dimensions Speed ratings Basic load ratings %%KEE [T = Principal dimensions Speed ratings Basic load ratings SEER
BearingNo. AE | ME | BE ] BN (KN) |# (KN) (Magss) BearingNo. mE | ME | BE Ag W [Bh(KN) |8 (KN) (MKiS)
d D B Grease Oil Dynamic | Siatic d D B Grease Qil Dynamic | Siatic
N/NJ/NU/NUP/NFA04E/EM | 20 70 19 14000 | 17000 53.3 47.1 0.402 N/NJ/NU/NUP/NF2203E/EM| 17 40 16 10000 | 16000 21 20 0.07
N/NJ/NU/NUP/NF405E/EM | 25 80 21 6500 | 8600 47 43 0.64 N/NJ/NU/NUP/NF2204E/EM| 20 47 18 11000 | 15000 22 21 0.11
N/NJ/NU/NUP/NF406E/EM | 30 90 23 7000 | 9000 57.2 53 0.9 N/NJ/NU/NUP/NF2205E/EM| 25 52 18 10000 | 14000 | 237 22.8 0.168
N/NJ/NU/NUP/NF407E/EM | 35 100 25 6000 | 7500 70.8 68.2 112 N/NJ/NU/NUP/NF2206E/EM| 30 62 20 7500 | 11000 | 23.9 331 0.3
N/NJ/NU/NUP/NF408E/EM | 40 110 27 5600 7000 90.5 89.8 13 N/NJ/NU/NUP/NF2207E/EM| 35 72 23 6500 9500 49 51.2 0.45
N/NJ/NU/NUP/NF409E/EM | 45 120 29 5000 6300 102 1000 197 N/NJ/NU/NUP/NF2208E/EM| 40 80 23 6000 9000 58.3 62 0.49
N/NJ/NU/NUP/NF410E/EM | 50 130 31 4800 | 6000 120 120 23 N/NJ/NU/NUP/NF2209E/EM| 45 85 23 5300 | 8000 61.4 67.8 0.54
N/NJ/NU/NUP/NF411E/EM | 55 140 33 4200 | 5700 145 141 3.24 N/NJ/NU/NUP/NF2210E/EM| 50 90 23 5000 | 7500 64.2 73.6 0.65
N/NJ/NU/NUP/NF412E/EM 60 150 35 4000 5300 148 144 35 N/NJ/NU/NUP/NF2211E/EM| 55 100 25 4300 6700 75.3 87.2 0.77
N/NJ/NU/NUP/NFA13E/EM | 65 160 37 3500 | 4700 185 191 4.03 N/NJ/NU/NUP/NF2212E/EM| 60 110 28 4000 | 6300 101 123 1.09
N/NJ/NU/NUP/NF414E/EM | 70 180 42 3300 | 4400 205 210 6.7 N/NJ/NU/NUP/NF2213E/EM| 65 120 31 3500 5600 120 149 1.55
N/NJ/NU/NUP/NF415E/EM | 75 190 45 3100 4200 254 265 7.28 N/NJ/NU/NUP/NF2214E/EM| 70 125 31 3300 5300 119 151 17
N/NJ/NU/NUP/NFA16E/EM | 80 200 48 3000 4000 275 284 8.25 N/NJ/NU/NUP/NF2215E/EM| 75 130 31 3000 5000 135 172 18
N/NJ/NU/NUP/NF417E/EM | 85 210 52 2900 | 3800 325 350 9.7 N/NJ/NU/NUP/NF2216E/EM| 80 140 33 2800 | 4800 148 186 22
N/NJ/NU/NUP/NF418E/EM | 90 225 54 2700 3400 380 410 1 N/NJ/NU/NUP/NF2217E/EM| 82 150 36 2600 4500 169 218 2.8
N/NJ/NU/NUP/NFA19E/EM | 95 240 55 2600 | 3100 410 455 14 N/NJ/NU/NUP/NF2218E/EM| 90 160 40 2400 | 4300 207 265 36
N/NJ/NU/NUP/NF420E/EM | 100 250 58 2400 2900 425 465 15 N/NJ/NU/NUP/NF2219E/EM| 95 170 43 2200 4000 230 298 43
N/NJ/NU/NUP/NF422E/EM | 110 280 65 2200 | 2700 500 565 19 N/NJ/NU/NUP/NF2220E/EM| 100 180 46 2000 | 3800 259 338 5.99
N/NJ/NU/NUP/NF426E/EM | 120 310 72 2000 | 2400 510 600 21 N/NJ/NU/NUP/NF2222E/EM| 110 200 53 1900 | 3400 334 442 87
N/NJ/NU/NUP/NF428E/EM | 140 360 82 1800 2200 635 745 29 N/NJ/NU/NUP/NF2224E/EM| 120 215 58 1800 2900 460 630 8.2
N/NJ/NU/NUP/NF430E/EM | 150 | 380 85 1700 | 2000 650 800 32 N/NJ/NU/NUP/NF2226E/EM| 130 | 230 64 1700 | 2800 535 740 11
N/NJ/NU/NUP/NF2228E/EM| 140 25 68 1600 | 2600 575 840 15
N/NJ/NU/NUP/NF2230E/EM| 150 270 73 1500 | 2500 665 985 19
N/NJ/NU/NUP/NF2232E/EM| 160 290 80 1300 | 2400 820 1000 24
N/NJ/NU/NUP/NF2234E/EM| 170 310 86 1100 | 2200 970 1200 29
N/NJ/NU/NUP/NF2236E/EM| 180 320 86 1100 | 2100 970 1200 30
N/NJ/NU/NUP/NF2238E/EM| 190 340 92 1000 | 2000 1200 1500 36
N/NJ/NU/NUP/NF2240E/EM| 200 360 98 900 1900 1300 1650 45
N/NJ/NU/NUP/NF2244E/EM| 220 400 108 900 1700 1500 1900 62




it i i WFiREENERESERAE

EHEN_ETI]NE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.
—_ LMY . . " = = 3 i »
i?ﬂ *I)&%iﬁiﬁ(/cylmdncal roller bearing $§|J *I)é‘c%imﬁ(/cylmdncal roller bearing
BEARY IRPREEE ERTERTT (KN ) BEARY IRBRELE BERT (KN )
T L= Principal dimensions Speed ratings Basic load ratings %;ii)% LA =] Principal dimensions Speed ratings Basic load ratings %%KE)E
: ga : = g ; p p = : = 9
BearingNo. miE | Mz | BE 5 WO (KN (88 (KN [0 BearingNo. Az | ME | BE ig [ (KN B8 (KN) | prass
d D B Grease oil Dynamic | Siatic d D B Grease Qil Dynamic| Siatic
N/NJ/NU/NUP/NF2304E/EM 20 52 b 7000 12000 42 49 022 N/NJ/NU/NUP/NF1004E/EM 20 52 21 7000 12000 42 49 0.22
N/NJ/NU/NUP/NF2305E/EM| 25 0 o 000 | 29000 | 4iz P o N/NJ/NU/NUP/NF1005E/EM| 25 62 24 9000 | 12000 | 427 40.9 04
N/NJ/NU/NUP/NF1006E/EM| 30 72 27 8000 | 10000 | 51.4 50.8 0.6
N/NJ/NU/NUP/NF2306E/EM| 30 72 27 8000 | 10000 | 514 50.8 0.6
N/NJ/NU/NUP/NF1007E/EM| 35 80 31 7000 | 9000 64.4 65.7 0.9
N/NJ/NU/NUP/NF2307E/EM| 35 80 31 7000 | 9000 64.4 65.7 0.9 N/NJ/NU/NUP/NFI008E/EM| 40 80 3 6300 | 8000 2.2 a8 m—
N/NJ/NU/NUP/NF2308E/EM| 40 80 33 6300 8000 82.2 88 11 N/NJ/NU/NUP/NF1009E/EM| 45 100 36 5600 7000 106 113 1.51
N/NJ/NU/NUP/NF2309E/EM| 45 100 36 5600 | 7000 106 113 151 N/NJ/NU/NUP/NF1010E/EM| 50 110 40 5300 | 6700 128 142 2.01
N/NJ/NU/NUP/NF2310E/EM| 50 110 40 5300 | 6700 128 142 501 N/NJ/NU/NUP/NF1011E/EM| 55 120 43 4800 | 6000 148 162 28
N/NJ/NU/NUP/NF2311E M| 55 120 e pr— — 148 iy s N/NJ/NU/NUP/NF1012E/EM| 60 130 | 460 | 4500 | 5600 168 188 3.38
N/NJ/NU/NUP/NF1013E/EM| 65 140 48 4000 | 5000 190 212 3.75
N/NJ/NU/NUP/NF2312E/EM| 60 130 | 460 | 4500 | 5600 168 188 3.38
N/NJ/NU/NUP/NF1014E/EM| 70 150 51 3800 | 4800 224 262 45
N/NJ/NU/NUP/NF2313E/EM| 65 140 48 4000 | 5000 190 212 3.75 N/NJ/NU/NUP/NFIOISE/EM| 75 160 o5 3600 | 4500 242 327 633
N/NJ/NU/NUP/NF2314E/EM| 70 150 51 3800 | 4800 224 262 45 N/NJ/NU/NUP/NF1016E/EM| 80 170 58 3400 | 4300 275 332 6.6
N/NJ/NU/NUP/NF2315E/EM| 75 160 55 3600 | 4500 244 327 6.33 N/NJ/NU/NUP/NF1017E/EM| 85 180 60 3200 | 4000 315 382 8.6
N/NJ/NU/NUP/NF2316E/EM| 80 | 170 | 58 | 3400 | 4300 | 275 332 66 PMAHU/MNUPANFIOISE/EM) 90 | 170 | 64 | 3090 | 3800 | 329 395 24
N/NJ/NU/NUP/NF1019E/EM| 95 200 67 2800 | 3600 394 496 10.8
N/NJ/NU/NUP/NF2317E/EM| 85 180 60 3200 | 4000 315 382 8.6 HRG NI /
N/NJ/NU/NUP/NF1020E/EM| 100 | 215 73 2600 | 3400 480 530 13
N/NJ/NU/NUP/NF2318E/EM| 90 190 64 3000 | 3800 329 395 9.2
/NU/NU/NUP/ / N/NJ/NU/NUP/NF1021E/EM| 105 160 26 6400 | 2800 115 155 1.8
N/NJ/NU/NUP/NF2319E/EM| 95 200 67 2800 | 3600 394 496 108 N/NJ/NU/NUP/NFL022E/EM| 110 170 P 5400 | 3200 140 185 >3
N/NJ/NU/NUP/NF2320E/EM| 100 215 73 2600 3400 480 530 13 N/NJ/NU/NUP/NF1024E/EM| 120 180 28 5700 3100 145 205 2.5
N/NJ/NU/NUP/NF2322E/EM| 110 240 80 2500 3200 560 730 18 N/NJ/NU/NUP/NF1026E/EM| 130 200 33 5100 2800 170 245 3.8
N/NJ/NU/NUP/NF2324E/EM| 120 | 260 | 86 | 2300 | 3000 685 895 24 N/NJ/NU/NUP/NF1028E/EM| 140 | 210 | 33 | 4800 | 2300 | 180 250 39
N/NJ/NU/NUP/NF1030E/EM| 150 | 225 35 4600 | 2300 200 285 48
N/NJ/NU/NUP/NF2326E/EM| 130 | 280 93 2100 | 2900 800 1100 31.2
N/NJ/NU/NUP/NF1032E/EM| 160 | 240 38 4400 | 2200 235 340 5.8
N/NJ/NU/NUP/NF2328E/EM| 140 300 102 | 2000 | 2700 925 1300 36.6 RN BN FIBsAEEN] 070 | @a6 P e o e o= .
N/NJ/NU/NUP/NF2330E/EM| 150 | 320 | 108 | 1800 | 2500 930 1340 45 N/NJ/NU/NUP/NF1036E/EM| 180 | 280 46 4100 | 1900 375 545 11
N/NJ/NU/NUP/NF2332E/EM| 160 340 114 1700 | 2300 972 1430 55.8 N/NJ/NU/NUP/NF1038E/EM| 190 | 290 46 3900 | 1800 360 530 11
N/NJ/NU/NUP/NF2334E/EM| 170 360 120 1500 2100 1110 1650 63 N/NJ/NU/NUP/NF1040E/EM| 200 310 51 3500 1800 400 600 14
N/NJ/NU/NUP/NF2336E/EM| 180 | 380 | 126 | 1200 | 1600 | 1210 | 1780 | 71.2 N/NJ/NU/NUP/NF1044E/EM| 220 | 340 | 56 | 2900 | 1700 | 505 755 21
N/NJ/NU/NUP/NF1048E/EM| 240 | 360 56 2700 | 1600 530 825 25
N/NJ/NU/NUP/NF2338E/EM| 190 | 400 132 1000 1400 1300 1800 85
N/NJ/NU/NUP/NF1052E/EM| 260 | 400 65 2600 | 1500 655 1100 31
N/NJ/NU/NUP/NF2340E/EM| 200 | 420 135 900 1300 1410 1920 94.5 N/NJ/NU/NUP/NF1056E/EM| 280 | 420 = 5500 | 1200 90 1200 -
N/NJ/NU/NUP/NF1060E/EM| 300 | 460 74 2200 | 1100 890 1500 44
N/NJ/NU/NUP/NF1064E/EM| 320 | 480 74 220 1000 910 1500 47




it i i WFiREENERESERAE

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.
= e ] =
HIUE T = R 5 1B E CC/CA/MB/MA/E/E1 BIEF R E IR E CC/CA/MB/MA/E/E
’. I~ oo A Product data sheet of self aligning roller
Product data sheet of self aligning roller
- R . RIERT =i
R =5 g_? . "?j iﬂﬁ el Mounting Dimensions(mm) Weight
fill=1 Rt ;A TEE M ; ; s ’ Bearing Dimensions (mm) Load Ratings(Kn) (RPM)
X . ! ounting Dimensions(mm) | Weight d D (kg)
Bearing Dimensions (mm) Load Ratings(Kn) (RPM) . No a a 3
No da Da ra (kg) d D B Cr Cor Grease Oil Min Max Max
d D B Cr Cor | Grease | Oil Min Max Max 23022 | 110 170 45 278 461 2200 | 3000 120 160 2.0 3.92
22308 40 90 33 124 142 4100 | 5000 49 81 15 1.06 23024 | 120 180 46 304 510 2000 | 2800 130 170 2.0 420
22309 5 100 36 146 175 3600 | 4500 5a o1 15 142 23026 | 130 200 52 383 644 1900 | 2600 140 190 2.0 6.30
22310 50 110 40 180 216 3200 | 4300 60 100 2.0 1.89 2408 | 1 21D 3 24 29 1800 | 2400 150 e 20 640
23030 | 150 225 56 451 790 1700 | 2200 162 213 21 8.20
22311 55 120 43 214 258 3200 | 3800 65 110 2.0 242 S5 | Teo S = T " o | o T 7T 57 T
22312 60 130 46 245 294 2800 [ 3500 72 118 2.1 3.00 23034 | 170 260 67 626 1112 | 1600 | 2000 182 248 21 14.20
22313 65 140 48 268 324 2500 | 3300 77 128 21 3.60 23036 | 180 280 74 730 1290 | 1400 | 1800 192 268 21 17.20
22314 70 150 51 301 373 2000 2700 82 138 21 4.40 23038 190 290 75 767 1390 1300 1700 202 278 21 19.80
22318 = 160 e 352 251 2200 | 3000 a7 148 1 ca3 23040 | 200 310 82 890 1650 | 1200 | 1600 212 298 21 2365
— = =0 = = F e e = = = e 23044 | 220 340 90 1090 | 2040 | 1100 | 1500 234 326 25 28.80
: : 23048 | 240 360 92 1160 | 2220 | 1000 | 1400 254 346 25 36.20
22317 | & 180 60 433 556 | 2000 | 2500 99 166 25 7.50 23052 | 260 400 104 | 1460 | 2850 | 900 | 1200 | 278 382 30 | 5120
22318 90 190 64 489 641 1800 | 2200 104 176 2.5 8.85 23056 | 280 420 106 1580 3030 850 1100 298 402 3.0 62.90
22319 95 200 67 536 709 1800 | 2200 109 186 25 10.20 23060 | 300 460 118 1910 | 3800 800 1000 318 442 30 76.00
22320 | 100 | 215 73 626 | 840 | 1700 | 2100 | 114 | 201 | 25 | 1340 <3064 | 320 | 48D | 121 | 2180 | JBI0) | BOO | 1000 | 338 | 462 | 20 | £1:50
p—— | — 70 s 16 963 m— —— 24 76 s 1825 23068 | 340 520 133 2570 | 4400 700 900 362 498 40 | 104.00
23072 | 360 540 134 2150 | 4480 670 850 382 518 40 | 11000
22324 | 120 260 86 847 1154 | 1400 | 1800 134 246 25 2230 5076 | 380 =D T3 =760 | 5000 =25 300 103 s 0 5500
22328 | 140 300 102 1140 | 1620 | 1100 | 1500 158 282 3.0 36.40 23084 | 420 620 150 2750 | 5850 450 600 442 598 40 | 160.00
22330 | 150 320 108 1270 | 1850 | 1000 | 1400 168 302 3.0 42.80 23088 | 440 650 157 3550 | 6500 400 500 468 622 S0 ] 185.00
22332 | 160 340 114 1070 | 1820 950 1300 178 322 3.0 50.20 23090 | -460 680 163 3800 | 7140 370 480 488 652 20 | 20800
23096 | 480 700 165 3800 | 6900 330 430 508 672 50 | 217.00
22334 | 170 360 120 1180 | 2120 950 1300 188 342 3.0 59.60
230/500| 500 720 167 4100 | 7700 300 400 528 692 50 | 236.00
22336 | 180 380 126 | 1290 | 2330 | 900 | 1200 | 198 362 30 | 6985 230/530| 530 780 185 | 5000 | 10200 | 260 360 558 752 50 | 308.00
22338 190 400 132 1430 2600 850 1050 212 378 4.0 80.90 230/560| 560 820 195 5020 | 10500 260 360 588 792 50 360.00
22340 | 200 420 138 1530 | 2800 750 950 222 398 40 93.50 230/600| 600 870 200 5900 | 11600 | 240 340 628 842 50 | 421.00
22344 | 220 460 145 2570 | 3450 700 900 42 138 20 | 12000 230/630| 630 920 212 6500 | 12800 | 230 330 666 884 60 | 471.00
m— [ p— 00 e e —— s Py Py e 20 | 19600 230/670| 670 980 230 7400 | 14200 | 230 330 706 944 60 | 604.00
230/710| 710 1030 236 8050 | 16200 | 200 280 746 994 60 | 660.00
deade | 260 | 40 | 165 | G0 | 4700 | o0 | B0 | 2 [ B2 | S0 | 1A 230/750| 750 | 1090 | 250 | 8150 | 18900 | 200 | 280 | 786 | 1054 | 60 | 780.00
22356 | 280 580 175 3600 | 5600 550 750 308 552 50 | 23000 230/800| 800 1150 258 | 12200 | 20900 | 180 260 836 1114 6.0 | 890.00
22360 | 300 620 185 3950 | 6000 500 700 336 584 60 | 265.00 230/850| 850 1220 272 9050 | 22500 | 150 220 886 1184 60 |1074.00
22364 320 670 200 4530 6820 450 650 346 630 6.0 360.00 230/900| 900 1280 280 9800 22500 150 220 936 1244 6.0 1220.00
>23¢8 | 340 515 212 c100 | 7800 700 500 368 80 50 | 41100 230/950| 950 1360 300 | 11300 | 26500 | 130 200 986 1324 6 1450.00
=7 | o = i == | = — 5 — =T 0 230/1000[ 1000 | 1420 308 | 12700 | 30500 | 130 200 1036 | 1384 60 |1590.00
- : 230/1060] 1060 | 1500 325 | 13380 | 32300 | 120 160 1104 | 1456 80 |2250.00
22376 | 380 780 230 | €000 | 9300 | 300 500 415 740 60 | 51800 230/1180] 1180 | 1660 | 355 | 15000 | 36000 | 110 150 | 1240 | 1600 80 | 2460.00
22380 | 400 820 243 7400 | 10300 | 200 400 442 790 6.0 | 623.00 230/1250[ 1250 | 1750 375 | 17350 | 43650 | 100 120 1285 | 1715 80 |2750.00




it i i WFiREENERESERAE

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

1@ L 3% = = 53 X 1B & CC/CA/MB/MA/E/E1 1 L% = = 58 $1 1B & CC/CA/MB/MA/E/E1
Product data sheet of self aligning roller Product data sheet of self aligning roller
4 Y 2 ~ i—§
g-‘:JF'g . Eﬂ— %ﬁ fez MountingiDﬁinTsions(mm) W%i?ht ﬂ% . Eﬁ ﬁiﬁi b Mountingﬁfﬂfnjsions(mm) Wge%jht
Bearing Dimensions (mm) Load Ratings(Kn) (RPM) Bearing Dimensions (mm) Load Ratings(Kn) (RPM)
No da Da ra (ka) No da Da ra (kg)
d D B Cr Cor Grease Qil Min Max Max d D B Cr Cor Grease Qil Min Max Max
23120 100 165 52 330 520 2000 2800 110 155 2.0 5.05 23218 90 160 524 335 492 1900 2600 100 150 20 4.62
23121 105 175 56 249 494 1900 2600 119 161 25 5.50 23220 100 180 60.3 428 637 1800 2300 112 168 21 6.82
23122 110 180 56 386 613 1800 2400 120 170 2.0 6.23 23222 110 200 69.8 530 809 1600 2000 122 188 21 9.80
23124 120 200 62 463 736 1800 2400 130 190 2.0 7.62 23224 120 215 76 620 968 1500 1900 132 203 21 11.80
23126 130 210 64 492 812 1700 2200 140 200 20 8.62 23226 130 230 80 708 1092 1300 1700 144 216 2.5 13.95
23128 140 225 68 561 953 1600 2000 152 213 21 10.85 23228 140 250 88 826 1320 1200 1600 154 236 2.5 18.60
23130 150 250 80 747 1267 1400 1800 162 238 21 16.10 23230 150 270 96 963 1560 1100 1500 164 256 25 23.96
23132 160 270 86 870 1460 1300 1700 172 258 21 19.45 23232 160 290 104 1112 1810 1000 1400 174 276 25 29.30
23134 170 280 88 911 1565 1200 1600 182 268 21 21.05 23234 170 310 110 1200 2030 950 1300 188 292 3.0 34.90
23136 180 300 96 1060 1850 1100 1500 194 286 2.5 26.90 23236 180 320 112 1280 2170 900 1200 198 302 3.0 37.85
23138 190 320 104 1200 2120 1000 1400 204 306 25 34.90 23238 190 340 120 1450 2490 850 1100 208 322 3.0 46.10
23140 200 340 112 1420 2530 950 1300 214 326 2.5 43.50 23240 200 360 128 1650 2870 800 1000 218 342 3.0 55.30
23144 220 370 120 1610 2900 900 1200 238 352 3.0 54.10 23244 220 400 144 2130 3720 750 950 238 382 3.0 78.30
23148 240 400 128 1840 3310 850 1100 258 382 3.0 67.50 23248 240 440 160 2560 4620 670 850 258 422 3.0 108.10
23152 260 440 144 2270 4190 800 1000 278 422 3.0 94.90 23252 260 480 174 2760 4700 630 800 282 458 4.0 141.00
23156 280 460 146 2380 4410 750 900 302 438 4.0 102.30 23256 280 500 176 3080 5100 600 750 302 478 4.0 147.00
23160 300 500 160 2660 4800 670 850 322 478 40 123.00 23260 300 540 192 3700 5950 530 670 322 518 4.0 192.00
23164 320 540 176 3560 5700 630 800 342 518 40 165.00 23264 320 580 208 4180 6820 500 630 342 558 4.0 245.00
23168 340 580 190 4040 6460 600 750 362 558 4.0 208.00 23268 340 620 224 5000 8150 450 570 368 592 5.0 300.00
23172 360 600 192 4080 6850 560 700 382 578 40 222.00 23272 360 650 232 5130 7880 430 550 388 622 5.0 335.00
23176 380 620 194 4300 7750 400 500 402 598 4.0 236.00 23276 380 680 240 5750 9300 410 530 408 652 5.0 380.00
23180 400 650 200 4550 8200 380 480 428 622 5.0 265.00 23280 400 720 256 6450 11000 390 510 428 692 50 450.00
23184 420 700 224 5320 9200 360 450 448 672 5.0 350.00 23284 420 760 272 7250 11900 370 490 456 724 6.0 548.00
23188 440 720 226 5900 10000 340 430 468 692 5.0 377.00 23288 440 790 280 7700 12800 350 470 476 754 6.0 590.00
23192 460 760 240 6300 11100 320 400 496 724 6.0 443.00 23292 460 830 296 8400 13600 320 440 496 794 6.0 698.00
23196 480 790 248 6850 12000 300 380 516 754 6.0 485.00 23296 480 870 310 10600 | 15200 300 420 516 834 6.0 837.00
231/500| 500 830 264 7550 13800 280 360 536 794 6.0 580.00 232/500( 500 820 336 10600 | 18600 280 400 536 884 6.0 985.00
231/530| 530 870 272 8050 15300 280 360 566 834 6.0 643.00 232/530( 530 980 355 11000 | 20300 260 380 574 936 8.0 1165.00
231/560| 560 920 280 9050 15900 260 340 596 884 6.0 740.00 232/560( 560 1030 365 11150 | 21000 240 360 612 992 8.0 1350.00
231/600| 600 980 300 10100 | 18800 240 320 636 944 6.0 894.00 232/600( 600 1090 388 13100 | 25000 220 340 654 1048 8.0 1555.0
231/630| 630 1030 315 10200 | 20200 220 300 666 994 6.0 1050.00 232/630( 630 1150 412 13700 | 26800 190 300 684 1096 10 1850.00
231/670| 670 1090 336 10800 | 22700 210 290 706 1054 6.0 1250.00 232/670( 670 1220 438 15600 | 30500 170 260 724 1166 10 2270.00
231/710 710 1150 345 11800 25200 200 280 754 1106 8.0 1430.00 232/710 710 1280 450 15700 30500 160 220 764 1226 10 2470.00
231/750| 750 1220 365 13350 | 28100 190 270 794 1176 8.0 1700.00 232/750( 750 1360 475 19000 | 37500 150 210 814 1296 12 2980.00
231/800 800 1280 375 14350 30550 180 260 844 1236 8.0 1920.00 232/800 800 1420 488 19900 | 41000 130 170 864 1356 12 3320.00
231/850| 850 1360 400 15600 | 33450 160 220 904 1306 10 2200.00 232/850( 850 1500 515 22300 | 45500 120 160 914 1436 12 3861.00
23171000, 1000 1580 462 20300 45600 100 130 965 1532 10 3500.00 232/900 900 1580 515 23600 | 49000 110 140 964 1516 12 4247.00




it i i WFRRBENERRSERAS

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

BYRER T HAATIRS

Metric series of single row tapered roller bearings

y Pt w7 | AT
=1 Yz
(] S 8 T 3 . =
z =
Tapered roller bearing . R
T
\
1
— -
D N
SRR THR
FRES SERNEAT | SERS AT
x AMEUR< ( mm ) Dimension HE: o Ll o
Ff Bearing type ¢ ) Rated |Raled static i‘%
i Fre | EHke dynamic load Weigh
wizs | RES . .
hic The current code | The original code d D B € T Rmin { rmin load Cr(Kn)| Cor(Kn) k)
3027%51
PR 1 | 30200 | 7200E
N p NEVEN P . s . E i
- EEERTASTUERHFALOBESHANAHST, BEETHRERIEL, e T TR S e e B e o oy e e
A] & 5 AY o7 A K 5 . . ; y 1
TJ?;E’J?EH?&:%@& } oot ) o 4 [ 30203 | 7203 | 17 | 40 | 12 | 11 [1325] 1 1 20.7 219 0079
- RAEHER TR A ER R, ANEFMMETLSRIRE, EREMERTERIE 5 | 30204 | 7204€ | 20 | 47 | 1a | 12 [1s25]| 1 | 1 282 306|012
R AT BLERE AR RO 12 [ PR ANGH B0 5 6 | 30205 | 72056 | 25 52 15 13 [1625] 1 1 32.2 37 0.153
- BHER TR —ARR AR ERIFEE, RYTBURRSR A MRS E RIS 2R Ui ST SR s 28 7 | 30206 | 7206E | 30 62 16 14 [1725] 1 1 433 505 |0231
8 30207 7207E 35 72 17 15 18.25 1.5 1.5 54.2 63.5 0.332
EMISR 9 30208 7208E 40 80 18 16 19.75 1.5 1.5 63 74 0417
o ’ o =g 10 | 30209 7209E 45 85 19 16 20.75 15 1.5 67.9 83.6 0473
BIEETIRHERTHR, WIRERTFHAMLIIRERTFHAS, AbREatnfasik, 08
S RRIE R DRIG e, SERRERATR 11 | 30210 7210E 50 90 20 17 21.75 15 15 733 92.1 0.529
= ALELE e ’ = = e 12 | 30211 7211E 55 100 21 18 2275 2 15 90.8 113.7 0.715
13 | 30212 7212E 60 110 22 19 23.75 2 1.5 103.3 130 0.905
FENA 14 | 30213 7213E 65 120 23 20 2475 2 15 120.6 1526 113
ABINEEM. i, AThEEES, LI, IR TIER. 15 | 30214 | 7214 | 70 | 125 | 24 21 | 2625| 2 15 1323 1736 | 1259
16 | 30215 7215E 75 130 25 22 27.25 2 1.5 1384 185.4 1.36
. 17 | 30216 7216E 80 140 26 22 28.25 25 2 160.4 212.8 1.68
Product characteristics
-It is mainly used to bear the combined radial and axial load, the greater the contact of tapered roller bearing is, 18 30217 7217€ 85 150 28 24 30.5 25 2 1776 236.8 206
The larger the axial load can bear: 19 | 30218 7218E 90 160 30 26 325 25 2 200.1 269.6 2.56
The single row tapered roller bearing is a separate type bearing. Its inner components and outer rings can be installed separately 20 | 30219 7219 95 170 32 27 34.5 3 25 2266 309 3.06
The radial clearance and axial clearance of the bearing can be adjusted; 21 30220 7220E 100 180 34 29 37 3 25 2539 3503 3.74
-Tapered roller bearing generally adopts steel plate stamping cage, when the size is large, steel plate welded cage or steel pillar 22 | 30221 7221E 105 190 36 30 39 3 2.5 285.3 398.6 438
solid cage is used. 23 | 30222 7222E 110 200 38 32 41 3 2i5 3149 443.6 5.233
24 | 30224 7224E 120 215 40 34 43.5 2.5 2 335 487 6.28
Structure and design 25 | 30226 7226E 130 230 40 34 43.75 3 25 364 525 7.25
It includes single row tapered roller bearing, double row tapered roller bearing and four row tapered roller bearing. There are 26 30228 7228E 140 250 42 36 45.75 4 3 407 589 8.74
standard designed metric bearing, British bearing and non-standard bearing designed according to different working conditions 27 30230 7230E 150 270 45 38 49 4 3 449 651 107
1eaapk o differentiappication conaitions, 28 | 30232 | 7232 | 160 | 290 | 48 | 40 | 52 | 4 3 509 744 | 131
29 | 30234 7234E 170 310 52 43 57 5 4 616 865 16.1
Main applications
, , . . ) 30 | 30236 7236E 180 320 52 43 57 5 4 583 815 16.6
Large machine tool spindle, axle box, high power reducer, rolling mill, backup roll and work roll.
31 | 30238 7238E 190 340 55 46 60 5 4 721 1000 20.1




it i i WFiREENERESERAE

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

B RHER T HANATIRS B EHRTHANTR

Metric series of single row tapered roller bearings Metric series of single row tapered roller bearings
MRS ; . EENTT | e AT WFRES . . ERNATE | SRR AT
Jf Bearing type 2HERY [ mm.) Dimension gmffjjﬁ ffr;ii?c Wi;ih ’f Bearing type SMERST (mm ) Dimension gﬁfaﬁtﬂ:jlﬁ ;ﬁ:r:ii?c \A;E;%h
= . =3 .
No | BEHELERE o | o | 8 | o | 7 | R | min |ioggcrn] comm |9 No | MRS BRS | 0 | o | e | o | 1 |wmn| min o] cotm |9
32 | 30240 7240E 200 360 58 48 64 5 4 792 1120 23.8 6 32208 7508E 40 80 23 19 24.75 1.5 15 77.9 97.2 0.531
33 | 30244 7244E 220 400 65 54 72 5 4 887 1373 336 7 32209 7509E 45 85 23 19 24.75 15 15 80.7 104 0.573
30375 8 32210 7510E 50 90 23 19 24.75 1.5 1.5 82.8 107.6 0.626
1 30302 7302E 15 42 13 11 14.25 HE 1 229 21.6 0.094 9 32211 7511E 55 100 25 21 26.75 2 1.5 108 142.3 0.853
2 30303 7303E 17 47 14 12 15.25 1 1 28.3 27.3 0.129 10 | 32212 7512E 60 110 28 24 29.75 2 1.5 132.8 179.6 1.168
3 30304 7304E 20 52 15 13 16.25 1.5 1.5 331 33.2 0.166 11 | 32213 7513E 65 120 31 27 32.75 2 15 160.9 221.7 1.544
4 30305 7305E 25 62 17 15 18.25 1.5 1.5 46.9 48.1 0.266 12 | 32214 7514E 70 125 31 27 33.25 2 1.5 168.5 237.1 1.643
5 30306 7306E 30 72 19 16 20.75 15 1.5 59 63.1 0.385 13 | 32215 7515E 75 130 31 27 33.25 2 1.5 1703 242.1 1.75
6 30307 7307E 35 80 21 18 22.75 2 1.5 753 82.6 0.515 14 | 32216 7516E 80 140 33 28 35.25 2.5 2 198.1 279 2.132
7 30308 7308E 40 90 23 20 25.25 2 1.5 90.9 107.6 0.748 15 | 32217 7517E 85 150 36 30 38.5 2.5 2 226.7 324 2.68
8 30309 7309E 45 100 25 22 27.25 2 1.5 108.9 129.8 0.987 16 | 32218 7518E 90 160 40 34 42.5 2.5 2 269.8 395.5 347
9 30310 7310E 50 110 27 23 29.25 2.5 2 130.1 157.1 1.289 17 | 32219 7519E 95 170 43 37 45.5 3 2.5 302.5 448.4 4.24
10 | 30311 7311E 55 120 29 25 315 25 2 1533 187.6 1.635 18 | 32220 7520E 100 180 46 39 49 3 23 341 512 5.1
11 | 30312 7312E 60 130 31 26 33.5 3 2.5 192.7 209.9 2.003 19 | 32221 7521E 105 190 50 43 53 3 2.5 380 581 6.26
12 | 30313 7313E 65 140 33 28 36 3 2.5 195.9 241.7 2.44 20 [ 32222 7522E 110 200 53 46 56 3 2.5 4317 666.3 7.446
13 30314 7314E 70 150 35 30 38 3 2.5 219 271.7 2.98 21 | 32224 7524E 120 215 58 50 61.5 3 2.5 475 764 9.26
14 | 30315 7315E 75 160 37 31 40 3 2.5 252.8 318.8 3.586 22 | 32226 7526E 130 230 64 54 67.75 4 3 549 895 11.4
15 | 30317 7317E 85 180 41 34 44.5 4 3 304.9 388.2 4.96 23 | 32228 7528E 140 250 68 58 71.75 4 3 643.7 1049.3 14.4
16 | 30318 7318E 90 190 43 36 46.5 4 3 342 440 5.8 24 | 32230 7530E 150 270 73 60 77 4 3 721.3 1181.8 18.2
17 | 30319 7319E 95 200 45 38 495 4 3 368 483 6.8 25 | 32232 7532E 160 290 80 67 84 4 3 856.5 1434.6 23.3
18 | 30320 7320E 100 215 47 39 51.5 4 3 402 490 8.22 26 | 32234 7534E 170 310 86 91 968 1640 28.6
19 | 30321 7321E 105 225 49 41 53.5 4 3 432 568 9.38 27 | 32236 7536E 180 320 86 91 998 1720 29.9
20 | 30322 7322E 110 240 50 42 54.5 4 3 471 619 11 28 | 32238 7538E 190 340 92 97 1120 1900 36.1
21 | 30324 7324E 120 260 55 46 59.5 4 3 562 754 14.2 29 | 32240 7540E 200 360 98 104 1320 2180 43.2
22 | 30326 7326E 130 280 58 49 63.75 5 4 605 780 17.4 30 | 32244 7544E 220 400 108 114 1190 1930 48.1
23 30328 7328E 140 300 62 53 67.75 5 4 721 985 27.2 31| 32248 7548E 240 440 120 127 1530 2480 81.3
24 | 30330 7330E 150 320 65 55 72 5 4 825 1060 25.5 32 | 32252 7552E 260 480 130 137 1760 2870 102
25 | 30332 7332E 160 340 68 58 75 5 4 880 1400 29.5 323751
26 | 30334 7334E 170 360 72 62 80 5 4 1020 1340 35.6 1 32303 7603E 1F 47 19 16 20.25 1 1 363 35.3 0.173
27 | 30336 7336E 180 380 75 39.7 2 32305 7605E 25 62 24 20 25.25 1.5 15 68.8 61.6 0.368
28 | 30338 7338E 190 400 78 46.2 3 32306 7606E 30 72 27 23 28.75 15 15 96.4 81.6 0.563
29 | 30340 7340E 200 420 80 53:5 4 32307 7607E 35 80 3. 25 32.75 2 15 118.3 99 0.767
30 | 30344 7344E 220 460 88 69 5 32308 7608E 40 90 33 27 35.25 2 1.5 147.8 115.7 1.049
31 | 30348 7348E 240 500 105 88.9 6 32309 7609E 45 100 36 30 38.25 2 1.5 189.4 145.3 141
32 | 30352 7352E 260 540 114 108 7 32310 7610E 50 110 40 33 42.25 2.5 2 236.1 177.5 1.936
322%5 8 | 32311 | 7611E | 55 120 | 43 35 | 455 | 25 2 2714 203 2.37
2 32203 7503E 17 40 16 14 17.25 1 1. 274 27.5 0.105 9 32312 7612E 60 130 46 37 48.5 3 25 303 226.7 2.9
2 32204 7504E 20 47 18 15 19.25 1 1 303 34.7 0.157 10 | 32313 7613E 65 140 48 39 51 3 25 349.8 259.6 3.53
3 32205 7505E 25 52 18 16 19.25 I 1. 41.3 49.2 0.2 11 | 32314 7614E 70 150 51 42 54 3 25 408.5 298.9 4.35
4 32206 7506E 30 62 20 17 21.25 1 15 51.8 63.7 0.287 12 | 32315 7615E 75 160 55 45 58 3 25 347.4 483.1 5.37
5 32207 7507E 35 72 23 19 24.25 1.5 15 70.6 89.5 0.447 13 | 32316 7616E 80 170 58 48 61.5 3 25 387.9 543.1 6.38




it i 13 il

CHENGTONG WUZHOU

RTINS IR s

Self aligning ball bearing/technical parameters

mE | i) | ShEmm) | mmmy) | EORRE B gg )
1500 10 30 14 23000 29000 0.047
1501 12 32 14 21000 26000 0.053
1502 15 35 14 18000 22000 0.060
1503 17 40 16 16000 20000 0.088
1504 20 47 18 14000 17000 0.140
1505 25 52 18 12000 15000 0.163
1506 30 62 20 10000 12000 0.260
1507 35 72 23 8500 10000 0.403
1508 40 80 23 7600 9300 0.505
1509 45 85 23 7000 8500 0.590
1510 50 90 23 6500 7900 0.810
1511 55 100 25 5800 7100 1.091
1512 60 110 28 5300 6500 1.453
1513 65 120 31 4900 5900 1.628
1514 70 125 31 4500 5600 1.628
1515 75 130 31 4300 5300 2.011
1516 80 140 33 4100 5000 2.529
1517 85 150 36 3800 4600 3392
1518 90 160 40 3500 4300 4161
1519 95 170 43 3300 4000 4.979
1520 100 180 46 3100 3800 6.073

IEIDERER A/ B RS EL

Self aligning ball bearing/technical parameters

W ikiEE M ERE SBIRASE

SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

me | pyEmm) | MEmm) | SR (mm) Hgﬁﬁﬁﬁ E('jfff)ﬁ (ko)
1600 10 35 17 18000 24000 0.085
1601 12 37 17 16000 22000 0.095
1602 15 42 17 14000 20000 0.141
1603 17 47 19 13000 18000 0.158
1604 20 52 21 11000 15000 0.209
1605 25 62 24 9400 13000 0.335
1606 30 72 27 8000 11000 0.500
1607 35 80 31 7100 9800 0.675
1608 40 90 33 6200 8600 0.925
1609 45 100 36 5600 7700 1.232
1610 50 110 40 5100 7000 1.645
1611 55 120 43 4600 6400 2.109
1612 60 130 46 4200 5800 2.597
1613 65 140 48 3800 5300 3.231
1614 70 150 51 3600 4900 4,232
1615 75 160 55 3400 4600 5.130
1616 80 170 58 3100 4300 6.109
1617 85 180 60 3000 4100 7.051
1618 a0 190 64 2800 3900 8.440




ibt i 5 il W inkid g E RS SBIRAE

EHEN_ETI]NE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

O BRABRFEEREFHANEZEBR (1SO)

Radial clearance of cylindrical roller Bearings (ISO)

LDERAED/mm 248 048 3iH 447 Bz

> < min max min max min max min max min max
10 25 20 45 35 60 50 75
10 24 25 20 45 35 60 50 75 65 90

0
0
24 30 0 25 20 45 35 60 50 b 70 95
5
5

30 40 30 25 50 45 70 60 85 80 105
40 50 35 30 60 50 80 70 100 95 125
50 65 10 40 40 70 60 90 80 110 110 140
65 80 10 45 40 75 65 100 90 125 130 165
80 100 15 50 50 85 75 110 105 140 155 190
100 120 15 55 50 90 85 125 125 165 180 220
120 140 15 60 60 105 110 145 145 190 200 245
140 160 20 70 70 120 115 165 165 215 225 275
160 180 25 75 75 125 120 170 170 220 250 300
180 200 35 90 90 145 140 195 195 250 275 330
200 225 45 105 105 165 160 220 220 280 305 365
225 250 45 110 110 175 170 235 235 300 330 395
250 280 55 125 125 195 190 260 260 330 370 440
280 315 55 130 130 205 200 275 275 350 410 485
315 355 65 145 145 225 225 305 305 385 455 535
355 400 100 190 190 280 280 370 370 460 510 600
400 450 110 210 210 310 310 410 410 510 564 665
450 500 110 220 220 330 330 440 440 550 625 735

= I & iR -+ H i

High-end cylindrical roller bearings




it i i WFiREENERESERAE

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

= = =0 = — ey i
18 3% & = 5 &Y 1B & CC/CA/MB/MA/E/E1 B IUEF =R 818 £ CC/CA/MB/MA/E/E1
Product data sheet of self aligning roller Product data sheet of self aligning roller
7 : RERT =8 . g : IR )
RS X Rq %}z@ FoR Mounting Dimensions{mm) Weight ?Ejfi X ET‘F iﬁﬁ am Mounting Dimensions(mm) | Weight
Bearing Dimensions (mm) Load Ratings(Kn) (RPM) K Bearing Dimensions (mm) Load Ratings(Kn) (RPM) (kg)
No da Da ra (kg) No da Da ra
d D B Cr Cor Grease Qil Min Max Max d D B Cr Cor Grease Oil Min Max Max
24013 65 100 35 110 165 2800 | 3800 74 a0 10 0.96 24122 | 110 180 69 472 798 1800 | 2200 120 170 20 6.73
24015 75 115 40 164 250 2600 3500 82 106 1.0 148 24124 120 200 80 575 998 1600 1900 130 190 20 962
24015 ol 140 o0 =0 220 2400 1 3200 200 1 L &8 24126 | 130 210 80 585 1030 | 1200 | 1600 140 200 20 10.25
24020 | 100 150 50 251 448 2400 | 3000 110 140 2.0 3.20
24022 | 110 170 50 380 600 5100 | 2800 120 170 20 505 24128 | 140 225 85 670 1200 | 1200 | 1800 152 213 2.1 1245
24024 | 120 180 60 400 675 2000 | 2700 130 170 2.0 515 24130 | 150 250 100 890 1600 | 1000 | 1300 162 238 21 18.95
L = e e e 24132 | 160 | 270 | 109 | 1040 | 1880 | 1000 | 1300 | 172 | 258 | 21 | 2470
glen | L4l 0 5 G L] 150 | o0 13 200 =1l ol 24134 | 170 280 109 1070 | 1930 900 1200 182 268 2.1 26.50
24030 | 150 225 75 570 1070 | 1800 | 2500 162 213 2.0 11.10 : :
24032 160 240 80 652 1230 1700 2400 172 228 20 12.10 24136 180 300 118 1210 2220 800 1100 194 286 25 33.00
24034 170 260 90 792 1520 1600 2300 182 248 2.0 1645 24138 190 320 128 1410 2590 700 1000 204 306 25 40.50
24036 | 180 280 100 928 1820 | 1500 | 2100 192 268 2.0 2210 =140 | 200 D 0 1220, | =03 = = P = e A00
24038 | 190 290 100 975 1910 | 1300 | 1800 202 278 2.0 22.95
24040 | 200 310 109 | 1120 | 2220 | 1200 | 1600 | 212 298 25 | 2940 24144 | 220 | 370 150 | 1900 [ 3580 | 700 [ 950 | 238 | 352 30 | 6250
24044 | 220 340 118 1370 | 2760 | 1200 | 1500 234 326 2.5 39.20 24148 | 240 400 160 2160 | 4090 650 850 258 382 3.0 77.20
24048 240 360 118 1440 2930 1000 1300 254 346 3.0 40.90 24152 260 440 180 2730 5330 600 800 278 422 30 106.80
24052 | 260 400 140 1840 | 3850 940 1200 278 382 3.0 63.00
24156 | 280 460 180 2810 | 5480 560 750 302 438 40 | 11350
24056 | 280 420 140 1960 | 4100 900 1100 298 402 3.0 66.00
24060 300 460 160 2430 5160 240 1000 318 442 3.0 95.20 24160 300 500 200 3560 5990 550 750 322 478 4.0 159.00
24064 | 320 480 160 2700 | 5100 790 1000 338 462 40 | 106.00 24164 | 320 540 218 4660 | 6950 530 730 342 518 40 | 210.00
24008 | 40 | 530 | 190 f o200 ] 690 | 0 | 00 f d62 | 490 | 40 | 1900 24168 | 340 | 580 | 243 | 5040 | 8220 | 510 | 710 | 362 | 558 | 40 | 260.00
24072 | 360 540 180 3370 | 6220 670 840 382 518 40 | 147.00
% | =0 = T 55 | 56 = =D S T R 24172 | 360 600 243 5320 | 8840 500 700 382 578 40 | 277.00
24080 400 600 200 4090 7800 600 750 422 578 4.0 202.00 24176 380 620 243 5420 9310 580 680 402 598 4.0 293.00
24084 | 420 620 200 4180 | 8450 570 720 442 598 50 | 21000 24180 | 400 650 250 5890 | 10070 | 550 650 428 622 50 | 326.00
2088 | 444 650] 212 4350 1 3100 340 b0 468 622 20 ] 24500 24184 | 420 700 280 7000 | 11950 | 530 630 448 672 50 | 433.00
24092 | 460 680 218 4900 | 10200 | 510 640 488 652 50 | 277.00
22006 | 230 200 3T 5000 | 10200 | 500 530 03 572 co | 28500 24188 | 440 720 280 7120 | 12500 | 500 600 468 692 50 | 452.00
240/500| 500 720 218 5200 | 10450 | 480 600 528 692 50 | 298.00 24192 | 460 760 300 7850 | 14400 | 450 550 496 724 6.0 | 558.00
240/530( 530 780 250 6350 12700 450 550 558 752 5.0 410.00 24196 480 790 308 8550 14900 400 500 516 754 6.0 605.00
240/560| 560 820 258 6950 | 13800 | 420 520 588 792 50 | 46500
240/600| 600 870 272 8100 | 16500 | 390 490 628 842 6.0 | 550.00 sl S g0 ) 2800 | 16100 | 270 e 2ok i 80 [ 1480
240/670| 670 930| 308 9700 | 19900 | 340 430 706 944 6.0 | 790.00 241/560| 560 920 350 | 11400 | 20500 | 300 400 596 884 6.0 | 956.00
240/710] 710 | 1030 | 315 | 8900 | 21600 | 320 410 746 994 60 | 880.00 241/600| 600 980 375 | 10900 | 22400 | 280 380 636 944 60 | 114000
240/750| 750 1090 335 9730 | 25000 | 300 390 786 1054 6.0 |1065.00 4 =
240/300| 800 | 1150 | 345 | 12200 | 30500 | 290 | 370 | 836 | 1114 | 60 | 124600 241/630| 630 | 4030 | 400i | 12000 | 25600 | @50, | .350 | €66 | 99 60 | 10000
240/850| 850 1220 365 12500 | 31500 270 350 886 1184 6.0 | 1394.00 241/670| 670 1090 412 14000 | 31500 220 320 706 1054 6.0 | 1575.00
240/900| 900 1280 375 | 12800 | 31500 | 230 330 936 1244 6.0 |1880.00 241/710| 710 1150 438 | 14400 | 30800 | 190 270 754 1106 80 | 1800.00
240/950] 950 | 1360 | 412 | 14600 | 39000 | 200 | 300 | 986 | 1324 | 6.0 |1990.00 241/750| 750 | 1220 | 475 | 16400 | 37000 | 150 | 220 | 792 | 1175 | 80 | 210000
240710000 1000 | 1420 412 | 15600 | 40000 | 160 260 1036 | 1384 6.0 |2100.00
240/1060] 1060 | 1500 | 438 | 17200 | 45000 | 130 200 | 1104 | 1456 80 | 249000 241/8001 800 | 1280 | 495 | 17500 | 38400 | 130 200 842 | 1238 80 | 230000
240/11200 1120 | 1580 462 | 18100 | 48500 | 100 170 1164 | 1536 8.0 [2790.00 241/850| 850 1360 500 | 19200 | 42700 [ 100 150 898 1312 10 | 2700.00




it i i WFiREENERESERAE

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

B RHER T HAATI RS B RERFHANTIRS

Metric series of single row tapered roller bearings Metric series of single row tapered roller bearings
RS conhi e | ameoe e Vtick=1 == =
ff B SR (mim ) Dimension Eﬁﬁ:tfﬁﬁ :Sf:i?;gc W%fh {? Be?;i_ig type SMUR (mm ) Dimension ﬁfiizﬁ fflﬁiiﬁ Wi;ﬁh
= pimee = dynamic load = Nmia ™ dynamic load
Nei| WEES Tnfﬁfm ¢ L 8 & T | iR | i \oayd crikn)| corkny | K9 B | Y 8 b B C T | Rmin | omin | crikn)| corrny | 19
14 | 32317 T617E 85 180 60 49 63.5 4 2 4218 592.8 7:31 23 | 32030 [2007130E[ 150 225 48 36 48 3 25 367.6 635.8 6.25
15 | 32318 7618E 90 190 64 53 67.5 4 3 478.3 683.3 8.81 24 | 32032 (2007132E[ 160 240 51 38 a1 3 2:5 419.6 734.5 7.66
16 | 32319 7619E 95 200 67 55 715 4 3 516.1 737.7 101 25 | 32034 [2007134E[ 170 260 57 43 57 3 25 5194 920.5 104
17 | 32320 7620E 100 215 73 60 775 4 3 600.1 872.2 13 26 | 32036 (2007136E[ 180 280 64 48 64 3 2.5 640.6 11513 14.1
18 | 32321 7621E 105 225 7T 63 81.5 4 3 647.2 945.2 14.8 27 | 32038 |[2007138E[ 190 290 64 48 64 3 25 653.2 1178.5 14.6
19 | 32322 7622E 110 240 80 65 84.5 4 3 723.7 1064.4 17.8 28 | 32040 [2007140Ef 200 310 70.5 70 18.9
20 | 32324 7624E 120 260 86 69 90.5 4 3 825.8 1226.2 221 29 | 32044 (2007144E 220 340 76.5 76 244
21 | 32326 7626E 130 280 93 78 98.75 4 3 506 847 26.6 30 | 32048 |[2007148E| 240 360 76.5 76 259
22 | 32328 7628E 140 300 102 85 107.75 392 33.9 31 | 32052 |2007152E 260 400 87.7 87 38
23 | 32330 7630E 150 320 108 90 114 41.4 32 | 32056 |2007156E 280 420 87.7 87 40.2
24 | 32332 7632E 160 340 114 95 121 5 4 1168 1876 48.3 33 | 32060 [2007160E] 300 460 100.7 100 57.5
25 | 32334 7634E 170 360 120 100 127 57 34 | 32064 (2007164E| 320 480 100.7
26 | 32336 7636E 180 380 126 106 134 2.7 13 1300 1760 66.8 329F35I
27 | 32338 7638E 190 400 132 109 140 78.9 1 32904 |2007904Ef 20 37 12 9 12 0.3 0.3 132 17.5 0.056
28 | 32340 7640E 200 420 138 115 146 90.9 2 32905 |2007905E[ 25 42 12 9 12 0.3 03 16 21 0.064
29 | 32344 7644E 220 460 154 108 3 32906 |2007906E[ 30 47 12 9; 12 0.3 0.3 17 23:2 0.073
30 | 32348 7648E 240 500 165 137 4 32907 |2007907E[ 35 55 14 115 14 0.6 0.6 278 396 0123
31 | 32352 7652E 260 540 176 187 5 32908 |2007908E[ 40 62 15 12 15 0.6 0.6 335 48.5 0.161
320§§U 6 32909 |2007909E[ 45 68 15 12 15 0.6 0.6 347 52.4 0.187
1 32004 |2007104Ef 20 42 15 12 15 0.6 0.6 28.2 25.1 0.095 7 32910 |2007910F 50 72 15: 12 15 0.6 0.6 359 56.3 0.193
2 32005 |2007105E] 25 47 15 11.5 15 0.6 0.6 341 28 0.111 8 32911 |2007911E[ 55 80 17 14 17 1 1 446 733 0.282
3 | 332006 (2007106E 30 55 17 13 17 X 1 46.8 35:7 0.171 9 32912 |2007912Ef 60 85 17 14 17 1 1 46 73 0.306
4 32007 |2007107E] 35 62 18 14 18 5 1 59.2 43.2 0.224 10 | 32913 |2007913E[ 65 90 17 14 17 i 1 455 73:2 0.323
5 32008 |2007108E] 40 68 19 14.5 19 2 1 711 51.9 0.268 11 | 32914 |2007914E 70 100 20 16 20 1 1 70.8 115 0.049
6 32009 |2007109E] 45 75 20 15.5 20 1 1 814 58.4 0.337 12 | 32915 |2007915E[ 75 105 20 16 20 1 1 78.2 125 0.53
7 32010 |2007110f 50 80 20 15.5 20 3 1 89 61.1 0.362 13 | 32916 |2007916E 80 110 20 16 20 1 1 79.2 128 0.56
8 32011 |2007111F] 55 90 23 17.5 23 1.5 1.5 117.2 80.2 0.551 14 | 32917 |2007917E 85 120 23 18 23 15 15 96.8 165 038
9 32012 |2007112E] 60 95 23 175 23 1.5 15 1222 81.7 0.59 15 | 32918 |2007918E 90 125 23 18 23 1.5 15 95.8 165 0.841
10 | 32013 |2007113E[ 65 100 23 17.5 23 1.5 1.5 127.3 82.8 0.63 16 | 32919 |2007919E 95 130 23 18 23 1.5 1.5 97.2 170 0.877
11 | 32014 |2007114E 70 110 25 19 25 15 15 160.1 104.3 0.85 17 | 32920 |2007920E 100 140 23; 18 23 15 15 128 218 118
12 | 32015 |2007115E 75 115 25 19 25 1.5 1.5 160.2 103.1 0.875 18 | 32921 (2007921F 105 145 25 20 25 15 15 128 225 123
13 | 32016 |2007116E 80 125 29 22 29 1.5 15 220 141 1,27 19 | 32922 |2007922E 110 150 25 20 25 1.5 1.5 80 138 1.29
14 | 32017 (2007117 85 130 29 22 29 1.5 1.5 220.3 139.8 1.32 20 | 32924 |2007924E[ 120 165 29 23 29 172 318 18
15 | 32018 [2007118E 90 140 32 24 32 2 1.5 271 171.3 1.73 21 | 32926 |2007926E[ 130 180 32 25 32 2 1.5 136 249 242
16 | 32019 (2007119 95 145 32 24 32 2 1.5 168 168 1.88 22 | 32928 [2007928E[ 140 190 32 25 32 247
17 | 32020 |2007120E 100 150 32 24 32 2 1.5 281.7 173.1 1.873 23 | 32930 |2007930E[ 150 210 38 30 38 3.87
18 | 32021 [2007121F 105 160 35 26 35 2.5 2 33538 2054 2.4 24 | 32932 [2007932E[ 160 220 38 30 38 407
19 | 32022 |2007122E] 110 170 38 29 38 2.5 2 403.4 245.7 2.972 25 | 32934 |2007934E[ 170 230 38 30 38 4.33
20 | 32024 |2007124Ef 120 180 38 29 38 2.5 2 404.4 2421 318 26 | 32936 [2007936E[ 180 250 45 34 45 6.44
21 | 32026 [2007126E[ 130 200 45 34 45 25 2 314 540 4.95 27 | 32938 P007938H 190 260 45 134 45 6.66
22 | 32028 |[2007128E[ 140 210 45 34 45 2.5 2 330 585 5.25 28 | 32940 P0079404 200 280 51 39 51 943




it i i WFiREENERESERAE

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

?Ej] }*Em ﬁ?ﬂ*ﬁi/DATA SHEET OF THRUST BALL BEARING j:ﬁjj Bki-l-:m ﬁ(%&?&ﬁ/DATA SHEET OF THRUST BALL BEARING

MRS R (mm) Fint RS Rt (mm) Ei WERES Rest(mm) ovi YRS R (mm) &=
Bearing No Dimensions Weiight Bearing No Dimensions Weiight Bearing No Dimensions Weiight Bearing No Dimensions Weiight
FEs | ps | d D T ko) [T T pws | d D T (k) Fme | g=e | d 5 T ko) [Fme | Bm= | 4 5 T (kg
51100 | 8100 10 24 9 00192 | 59188 | 9008188| 440 | 540 50 | 28.1700
51101 | 8101 12 26 9 00214 | 51192 | 8192 | 460 | 560 30 | 43.0000 S1204 | 5264 1 3200 1 44D 9> 1 :d2.3/0 1| SIA1aM],_Sd1d 0 130 50
- - 51268 | 8268 | 340 | 460 95 | 44.980 | 51415 | 8415 75 160 65 6.170
51102 | 8102 15 28 9 00230 | 51196 | 8196 | 480 | 580 30 | 43.9000 : :
51103 | 8103 17 30 9 | 00251 [ 511/500] 81/500 | 500 | 600 80 | 45.6600 51272 | 8272 | 360 | 500 | 110 | 49.180 | 51415M | 8415 75 160 | 65
51104 | 8104 20 35 10 0.0370 | 511/530] 81/530 | 530 540 85 | 55.8000 51280 | 8280 400 540 112 | 74490 | 51416 8416 80 170 72 8.500
51105 | 8105 25 42 11| 00558 | 511/600| 81/600 | 600 | 710 85 | 64.9000 512/500M] 82/500 | 500 | 670 | 135 | 137.00 [ 51416M| 8416 80 170 72 8.500
51106 | 8106 30 a7 11| 00602 | 511/670| 81/670 | 670 | 800 | 105 |113.9200 51417 | 8417 85 180 75 8.360
51107 | 8107 35 52 12| 0.0720 51304 | 8304 20 47 18 0.146 | 51417M | 8417 85 180 75 | 10.000
51108 | 8108 40 60 13 0.1150 | 51200 | 8200 10 26 11 0.0290 51305 | 8305 25 52 18 0168 | 51418 | 8418 90 190 77 10.500
1109, | 18108 | 45 | 6 | A4 | 01410 1 51201, 1 8201 | A2 | 28 | A1 | 0.0370 51306 | 8306 | 30 | 60 | 21 | 0258 [51418M| 8418 | 90 | 190 | 77 | 10.200
51110 § 8110 1 50 70 14 1L 01520 [ 51202 | 8202 1 d» 32 12 | 0040 51307 | 8307 | 35 68 24| 0370 | 51420 | 8420 | 100 | 210 | 85 | 13.500
s1l1l | 81l 55 . 16 102270 | 51203 | 8203 . 2> 12 | 0.0510 51308 | 8308 40 78 26 0520 | 51420M | 8420 | 100 | 210 85 | 15.500
51112 | 8112 60 35 17 | 02760 | 51204 | 8204 20 40 14 | 0.0760 : :
TERER M SEE o5 50 71 03200 | 51305 T &30% 5% T+ 15 61050 51309 | 8309 45 85 28 0685 | 51422 | 8422 110 | 230 95 | 18.200
51114 8114 70 95 18 0.3440 51206 8206 30 52 16 0.1320 51310 8310 50 95 31 0.937 | 51422M 8422 110 230 95 19.450
51115 | 8115 75 100 19 | 0.3850 | 51207 | 8207 35 62 18 | 0.2150 51311 | 8311 55 105 35 1290 | 51424 | 8424 | 120 | 250 | 102 | 25.500
51116 116 80 105 19 | 04080 | 51208 | 8208 40 58 19| 0.2590 51312 | 8312 60 110 35 1390 | 51424M| 8424 | 120 | 250 | 102
51117 117 85 110 19 | 04260 | 51209 | 8209 a5 73 20 | 0.3020 51313 | 8313 65 115 36 1550 | 51426 | 8426 | 130 | 270 | 110 | 32.000
51118 118 90 120 22 | 06510 | 51210 | 8210 50 78 22 | 03710 51314 | 8314 70 125 40 2010 | 51426M | 8426 | 130 | 270 | 110 | 29.700
51120 | 8100 | 100 | 130 ] 25 [ 09500 S1211 | ‘8211 | 55 90 25 | 0.5870 51315 | 8315 | 75 | 135 | 44 | 2620 | 51428 | 8428 | 140 | 280 | 11z | 29.700
51120M | 8120 | 100 | 130 25 | 1.0400 | 51212 | 8212 650 95 26 | 0.6710

51316 8316 80 140 44 2760 | 51428M [ 8428 140 280 112
51316M | 8316 80 140 44 3.000 51430 8430 150 300 120 41.600

51122 8122 110 145 25 1.0700 51213 8213 65 100 27 0.7470
51122M | 8122 110 145 25 1.0400 51214 8214 70 105 27 0.7830

51124 | 8124 | 120 | 155 | 25 | 1.1300 | 51215 | 8215 75 110 | 27 | 0.8380 51317 | 8317 85 150 | 49 [ 3.550 [51430M| 8430 | 150 | 300 | 120
51124M | 8124 120 | 155 25 | 1.2000 | 51216 | 8216 80 115 28| 0.9210 51317M | 8317 85 150 49 3.570

51126 | 8126 130 170 30 1.7000 | 51217 | 8217 85 125 31 1.2380 51318 | 8318 90 155 50 3.810 | 52202 | 38202 10 32 22 0.083
51126M | 8126 130 | 170 30 | 1.8900 | 51217M | 8217 85 125 31 1.2380 51318M | 8318 90 155 50 3.830 | 52204 | 38204 15 40 26 0.130

51128 | 8128 140 | 180 31 18500 | 51218 | 8218 90 135 35 | 1.6900 51320 | 8320 100 | 170 55 6.000 | 52205 | 38205 20 47 28 0.209
51128M 8128 140 180 31 24000 | 51218M 8218 90 135 35 1.6900 51320M 8320 100 170 55 6.180 52206 38206 25 52 29 0.260

51130 8130 150 190 31 1.9700 51220 8220 100 150 38 2.2550 51322 8322 110 190 63 7.130 52207 38207 30 62 34 0410
51130M | 8130 150 | 190 31 | 2.5000 | 51220M | 8220 100 | 150 38 | 2.2500 T130oM | 8322 10 | 190 53 7900 | 52208 | 38208 | 30 8 36 0485

51132 | 8132 160 | =200 31 | 2.0800 | 51222 | 8222 110 | 160 38 | 2.4400

51324 | 8324 120 | 210 70 9900 | 52209 | 38209 | 35 73 37 0.609

51132M | 8132 160 | 200 31| 2.6000 | 51222M | 8222 110 | 160 38| 2.4200

51134 | 8134 | 170 | 215 | 34 | 3.3000 | 51224 | @224 | 120 | 170 39 | 2.6800 51324M{ 8324 | 120 | 210 | 70 | 10.900 | 52210 | 38210 | 40 78 39 | 0716
51134M | 8134 | 170 | 215 34 | 3.6500 | 51224M | 8224 | 120 | 170 39 | 2.7600 51326 | 8326 | 130 | 225 75 | 13300 | 52211 | 38211 | 45 90 45 1.100

51136 | 8136 180 225 34 | 3.5000 | 51226 | 8226 130 190 45 3.9300 51326M | 8326 130 225 75 13.300 | 52212 | 38212 50 95 46 1220
51136M | 8136 180 | 225 34 | 3.8000 | 51226M | 8226 130 190 45 51328 | 8328 140 | 240 80 | 14.200 | 52213 | 38213 55 100 47 1.290

51138 | 8138 190 | 240 37 | 40500 | 51228 | 8228 140 | 200 46| 4.3800 51328M | 8328 140 | 240 80 | 14.094 | 52214 | 38214 55 105 47 1.360
51138M | 8138 190 | 240 37 | 4.4000 | 51228M | 8228 140 | 200 46| _4.6000 51330 | 8330 150 | 250 80 | 15000 | 52215 | 38215 60 110 47 1570

51140 8140 200 250 37 4.2500 [ 51230 8230 150 215 50 5.6400 51330M [ 8330H | 150 250 30 16.700 | 52216 | 38216 65 115 48 1.670
51140M | 8140 200 | 250 37 | 4.6000 | 51230M | 8230 150 | 215 50 | 6.1000 s133oM | 823280 | 160 | 270 37 | 20456 | 52217 | 33217 | 70 135 o5 2190

51144 8144 220 270 37 4.1600 51232 8232 160 225 51 6.1200
51144M | 8144 220 270 37 4.5600 | 51232M 8232 160 225 51 6.7000
51148 8148 240 300 45 7.4900 51234 8234 170 240 55 7.4200

51334M | 8334H 170 280 87 23400 [ 52218 38218 75 135 62 3.140
51336M | 8336H 180 300 95 27.500 | 52220 38220 85 150 67 4.060

S1148M | 8148 540 300 45 75500 | 51234M | 8234 170 540 3 23000 51338M | 8338H 190 320 105 41.000 | 52222 38222 95 160 67 4.520
51152 8152 260 320 a5 79300 51236 3236 180 250 56 8.0600 51340M | 8340H 200 340 110 44.000 52224 38224 100 170 68 5.300
51152M | 8152 260 | 320 45 | 8.1000 |51236M| 8236 180 | 250 56 | 8.9000 52226 | 38226 | 110 | 190 80 7.910
51156 8156 280 350 53 12.3000 | 51238 8238 190 270 62 10.6000 51405 8405 25 60 24 0.325 52228 38228 120 200 51 8.330
51156M | 8156 280 350 53 12.0000 [ 51238M | 8238 190 270 62 11.9000 51406 8406 30 70 28 0.513 52230 38230 130 215 89 10.400
51160 8160 300 380 62 17.5000 | 51240 8240 200 280 62 12.7000 51407 8407 35 30 32 0.756 52232 38232 140 225 90 12.000
51160M | 8160 300 380 62 17.2000 [ 51240M | 8240 200 280 62 12.4000 51408 8408 40 90 36 1.090 52234 38234 150 240 97 14.000
51164 8164 320 400 63 18.7600 | 51244 8244 220 300 63 13.7000 51409 8409 a5 100 39 1.440 52236 38236 150 250 98 14.900

569164 | 9168164 | 320 400 48 11,6000 [ 51244M | 8244 220 300 63 13.7000
51168 8168 340 420 64 19.7600 [ 51252 8252 260 360 79 25.5000

51410 8410 50 110 43 1.920 52238 38238 160 270 109 24.300

51172 | 8172 | 360 | 440 65 | 22.0000 | 51252M | 8252 | 260 | 360 79| 25.5000 51411 | 8411 55 120 48 2.530 | 52240 | 38240 | 170 | 280 | 109 | 22.700
51180 | 8180 | 400 | 480 65 | 23.8000 | 51256 | 8256 | 280 | 380 90| 27.8000 51412 | 8412 60 130 51 3190 | 52305 | 38305 | 20 52 34 0.330
51184 8184 420 500 65 25.2000 | 51260 8260 300 420 95 | 42.5000 51413 8413 65 140 56 4.090 52306 | 38306 25 60 38 0.480

569184 | 916184 | 420 500 48 15.9000 | 51260M 8260 300 420 95 42.7500 51414 3414 70 150 60 5.380




W ikiEE M ERE SBIRASE

SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

it i 13 il

CHENGTONG WUZHOU

?Ej] BKEH ﬁ%ﬁ*EiEIDATA SHEET OF THRUST BALL BEARING

?Ejj ffkiﬁh ﬂ%ﬁ*ﬁ%/DATA SHEET OF THRUST BALL BEARING

HRELS R (mm) =B HRRIE R (mm) B8 RS R (mm) Ed RS R (mm) Exry
Bearing No Dimensions Weiight Bearing No Dimensions Weiight Bearing No Dimensions Weiight Bearing No Dimensions Weiight
HES | FRS | d L Ll ko) | S | RES | d D L (kg) e | Eme | d | D | T | kO | gme | mme | d | D | 17| ko
52307 | 38307 | 30 68 44 | 0519 | 532070 | 18206 | 35 65 22 | 0290 0103 | 81103 | 17 | 30 | © | ooz | o182M | 81184 | 420 | 500 | &5 .
52308 | 38308 | 30 78 48 | 1010 | s3208u | 18207 | 40 72 23 0336
52300 | 38309 | 35 | 85 | 52 | 1240 | 532000 | 18209 | 45 | 78 | 24 | 0400 Sicd. | 81404 | .20 [ 55| &0 | 00370 || 390 | G192 | 460 | 360; | (80 :
52310 | 38310 | 40 95 58 | 1.800 | s3210u| 18210 | 50 82 26 | 0510 9105 | 81105 | 25 [ 42 | 11 | 0.0558
52311 | 38311 | 45 | 105 | 64 | 2440 | 532110 18211 | 55 95 30 | 0620 9106 | 81106 | 30 | 47 | 11 | 0.0602 | 9204 | 81024 | 20 | 14 | 14 | 0.180
52312 38312 50 110 64 2.700 53213U 18213 65 105 32 0.900 9107 81107 35 52 11 0.0720 9205 81205 25 47 15 0.200
52313 | 38313 | 55 | 115 | 65 | 2800 |s321suf 18215 | 75 | 115 | 32 | 11s0 %02 | 23102 | 46 | so | 12 | o1ies | o308 | sioge | 36 | & | 36 | bo20
52314 | 38314 | 55 | 125 | 72 3900 |53216U | 18216 | 80 | 120 | 33 1.180
52315 | 38315 | 60 | 135 | 79 | 4000 | 532180 18218 | 90 | 140 | 42 | 2310 S0 | 81119 | 50 | 70 | 4 | BLS20 | B30V | Bi20% | 45 | 62 | 18 | 0240
52316 | 38316 | 65 | 140 | 79 | 4870 |s53222u 18222 | 110 | 165 | 45 2.920 9111 | 81111 | 55 | 78 | 16 | 02270 | 9208 | 81208 | 40 | 68 | 19 | 0270
52317 | 38317 | 70 | 150 | 87 | 6800 |s3224u| 18224 | 120 | 175 | 46 | 3000 9112 | 81112 | 60 | 85 | 17 | 0.2760 | 9209 | 81209 | 45 | 73 | 20 | 0.320
52318 38318 75 155 88 7.120 | 53226U | 18226 130 195 53 3.070 9113 81113 65 90 17 0.3200 9210 81210 50 78 22 0.390
52320 | 38320 | 85 | 170 | 97 | 9.o00 | 532280 18228 | 140 | 210 | s5 | s.080 o114 | 81112 | 70 | 95 | 18 | 03420 | 9211 | 81211 | 55 | 90 | 25 | os1o
52322 | 38322 | 95 | 190 | 110 | 12.500
52324 | 38324 | 100 | 210 | 123 | 20300 | 53300U | 18300 | 45 90 33 0.87 o> | Gl | 75 | 100] 191033850 | 3212 | 8la2 160 193 | 20 | 0700
52326 | 38326 | 110 | 225 | 130 | 21.900 | 53314U | 18314 | 70 | 130 | 48 | 2510 9116 | 81116 | 80 | 105 ) 19 | 04080 | 9213 | 81213 | 65 | 100 | 27 | 0870
52328 | 38328 | 120 240 140 | 27.000 | 53315U | 18315 75 140 52 2.870 9117 81117 | 85 | 110 | 19 | 04260 9214 81214 | 70 | 105 | 27 0.790
52330 | 38330 | 150 | 250 | 140 | 31630 | 53316U | 18316 | 80 | 145 | s52 | 3240 9118 | 81118 | 90 | 120 | 22 | 0.6510 | 9215 | 81215 | 75 | 110| 27 | 0.850
52330M | 38330H 150 250 140 31.630 | 53320U | 18320 100 175 64 5.980 9120 81120 100 | 135 25 0.9500 9216 81216 30 115 28 0.925
52336M | 38336H | 180 | 300 | 165 | 49300 | 533220 | 18322 | 110 | 195 | 72 | 9200 o e (i wel &= aw | 5 | oo T T 31 | 1w
53324U | 18324 | 120 | 220 | 8o | 12.100
52405 | 38405 | 15 | 60 | 45 | 0640 | 53330U | 18330 | 150 | 250 | 92 | 19.830 9124 | 81124 | 120 [ 155) 25 | 11300 [ 9218 | 81218 | 90 | 135] 35 | 1770
52406 38406 20 70 52 0.970 9126 81126 | 130 | 170 | 30 1.7000 9220 81220 100 [ 150 | 38 2.400
52407 | 38407 | 25 80 59 | 1440 9128 | 81128 | 140 | 180 | 31 | 1.9460 | 9222 | 81222 | 110 | 160 | 38 | 2.600
52408 | 38408 | 30 90 | 65 | 2300 9130 | 81130 | 150 | 190 | 31 | 2.0660 | 9224 | 81224 | 120 | 170 | 39 | 2.900
52009" | 38400 | 34 ). 100 | 72 ] 2530 9132 | 81132 | 160 | 200 | 31 | 21890 | 9226 | 81226 | 130 | 190 | 45 | 3910
52410 | 38410 | 40 | 110 | 78 | 3.200
= | s | 45 s | & e 9134 | 81134 | 170 | 215 | 34 | 29500 | 9230 | 81230 | 150 | 215 | 50 | 5.800
c2a12 | 38412 | 50 | 130 | 93 | 5880 9136 | 81136 | 180 | 225 | 34 | 3.0400 | 9234 | 81234 | 170 | 240 | 55 | 8.300
52413 | 38413 | 55 | 140 | 101 | 7.4%0 9138 | 81138 | 190 | 240 | 37 | 3.8400 | 9236 | 81236 | 180 | 250 | 56 | 8.240
52415 | 38415 | 60 | 160 [ 115 | 51.000 9140 | 81140 | 200 | 250 | 37 | 22300 | 9238 | 81238 | 190 | 270 | 62 | 10.400
iiﬁg 3:313 :2 i;g ig 5 5'00 9144 | 81144 | 220 270 | 37 | 45000 | 9240 | 81240 [ 200 280 | 62 | 12.400
o TN e e Ty e 9148 | 81148 | 240 | 300 | 45 | 7.2500 | 9244 | 81244 | 220 | 300 | 63 | 13.700
w127, | ssazz | o0 | 230 | 166 | 22800 9452 | 81152 | 260 | 320 | 45 | 8.1000 | 9248 | 81248 | 240 | 340 | 78 | 23.600
52424 | 38424 | 95 | 250 | 177 . 9156 | 81156 [2801| 350 | 53 | 12.3000 | 9252 | 81252 | 260 | 360 | 79 | 25.500
52426 | 38426 | 100 [ 270 | 192 9160 | 81160 | 300 | 380 | 62 | 17.5000 | 9256 | 81256 | 280 | 380 | 80 | 27.800
52428 | 38428 | 110 [ 280 | 196 | 58.500 9164 | 81164 | 320 [4001| 63 |18.76000| 9260 | 81260 | 300 | 420 | 95 | 42.500
SARA) | SSAGD | WAL |, SO0 [ W08 L BES0 9168 | 81168 | 340 | 420 | 64 |19.76000| 9264 | 81264 | 320 | 440 | 95 | 42.600
532050 | 16205 | 25 0 5 | o1to 9172 | 81172 | 360 | 440 | 65 - 9268 | 81268 | 340 | 460 | 96 | 44.980
53206U | 18206 30 55 20 0.200 9180 81180 | 400 | 480 | 65 - 9272 81272 | 360 | 500 | 110 [ 51.800




@ ik iE 5 il WERikEENE RS ERAS

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

Bz, 8

LY. |
ey
o

8 f d N1z
UEL200(390500)%! oz % UK200+H2300(290500)&! j
TR D 5P EK T S & & R EEIRE R ;

MRS SHER (mm) ma | mEme | e | mmem | REBOERS i —
3tS | B2 | d | 0 |B1] B |82] 5] C [R/min] ©1] 6| bs | (ko) |@ertkN) [ corkN) | (/min) [serem | |aem RIS SRS (mm) =it | FEmG |BERR| RIREE
UEL201 | 390501 | 12 | 40 [37.3]27.8[125]139] 15| 06 [286] 48| mexa | 026 | 736 448 | as00 | E201 | pso1 WIS IBf%S | do | d, | D | D, [ B[ B |B,| €| (kg) |FCr(KN)] Cor(KN) | (r/min)
UEL202 | 390502 | 15 | 40 [37.3[27.8]13.5)13.9) 15 | 06 | 286[ 48| mexa | 023 | 736 448 | 4s00 | E202 | Pso2 UK205+H2305 | 290504 | 20 | 25|52 |38 |35 26| 8 | 17| 025 10.78 6.98 3400
UEL203 | 390503 | 17 | 40 [37.3]27.8135]13.9 15| 06 | 28648 mex1 | 021 | 7.36 448 4500 | E203 | PS03 UK206+H2306 | 290505 | 25 | 30 | 62 | 45| 38 | 28| 8 [ 19| 036 14.97 10.04 2800
UEL204 | 390504 | 20 | 47 [43.7|34.2(135|17.4[ 17| 1 | 333|48| mexa | 018 | 988 62 4000 | E204 | PSO4 UK207+H2307 | 290506 | 30 | 35 72 | 52|43 | 36| 9 | 20 0.57 19.75 13.67 2400
UEL205 | 390505 | 25 | 52 |44.4{34.9135|17.5) 17| 1 |[381)| 48| mext | 025 | 1078 6.98 3400 | E205 | PSO5 UK208+H2308 | 290507 | 35 | 40 | 80 | 58 | 46 | 30 | 10 | 21 0.74 22.71 1594 2200
UEL206 | 390506 | 30 | 62 [48.4/365(159[183( 19| 1 [445| 6 | ™ex1 | 04 14.97 1004 2800 | E206 | PSO6 UK209+H2309 | 290508 | 40 | 45| 85| 65| 50 | 33 | 11 | 22 0.83 24.36 17.71 1900
UEL207 | 390507 | 35 | 72 |51.1/37.6{17.5{18.8| 20 | 1.1 |556| 68| Msxl | 061 | 1475 13.67 2400 E207 | PSO7 UK210+H2310 [ 290509 | 45 | 50 | 90 | 70 | 55| 35| 12 | 24 097 26.98 19.84 1800
UEL208 | 390508 | 40 | 80 [56.3(42.8/183|21.4 21 | 11 | 603 | 68| M8X1 | 075 | 2271 15.94 2200 E208 | P508 UK211+H2311 | 290510 | 50 | 55 |100| 75| 59| 39| 12| 25 1.26 33.37 25.11 1600
UEL209 | 390509 | 45 | 85 |56.3|42.8/118.3|21.4[ 22 | 1.1 | 635| 68| M8X1 081 2436 17.71 1900 E209 [ P509 UK212+4H2312 | 290511 | 55 | 60 |110| 80 | 62 | 41 | 13 | 27 159 36.74 2797 1500
UEL210 | 390510 | 50 | 90 [62.7]49.2(18.3|24.6[ 24 | 1.1 | 699| 7 | mioxa | 098 | 2698 19.84 1800 | E210 | PS10 UK213+H2313 | 290512 | 60 | 65 [120| 85 | 65 |41.5| 14 | 27 2 44,01 34.18 1400
UEL211 | 390511 | 55 |100[71.4[555(20.7|27.8[ 25 | 1.5 | 762| 7 | miox1 | 13 | 3337 2511 1600 | E211 | PS1L UK215+H2315 | 290513 | 65 | 75 [130| 98 | 73| 44 | 15 | 30 256 50.85 41.26 1200
UEL212 | 390512 | 60 |110(77.8619(223| 31 [ 27| 15 |842| & | mMlox1 | 178 | 3674 27.97 1500 | E212 | PS12 UK216+H2316 | 290514 | 70 | 80 [140|105] 78 | 48 | 17 | 33 323 55.04 45.09 1100
UEL213 | 390513 | 65 |120]85.7(69.2[235/34.1) 27 | 15 | 86 | 85| M12x15| 248 | 4404 3418 1400 E213 [ P513 UK217+H2317 | 290515 | 75 | 85 | 150 110] 82 | s0 | 18 | 36 393 64.01 53.28 1000
UEL214 | 390514 | 70 | 125(85.7|69.2|23.5(34.1] 29 [ 1.5 90 | 85| M12x1.5 25 46,79 37.59 1300 E214 P514 UK218+H2318 | 290516 | 80 | 90 |160|120| 86 | 51 19 | 37 474 74.83 60.76 950

UEL215 | 390515 | 75 |130]92.1}76.6/23.5| 37 [ 30| 1.5 | 102 | 85| M12x15| 286 50.85 41.26 1200 E215 P515

UEL216 | 390516 | 80 |140| 92 | 70 | 30 |33.3| 33 2 110 | 11 | M12x15| 3.3 55.04 45,09 1100 E216 P516

UK 300+H2300 ( 290600 ) B! #HEEEIPBRE MR
UEL300(390600)&! #H{m.OESMKE A WERS MRS (mm) B | G | S| BmE

WS SHER (mm) mi | e | e | mmes | RERUERS S IBRS | dy | d, [ D | D | B, | BB, | C| (kg [FCrKN)| Cor(KN) | (r/min)
#tts | Bks [ d | D|BL| B |B2| S| C |R/min| D1 | G DS (kg) | TICHKN) |fcorKN) | (7min) | weee | |gps UK305+H2305 | 290604 | 20 | 25| 62 | 38| 35| 27| 8 | 21 0.36 17.22 11.39 2800
UEL305 | 390605 | 25 | 62 [46.8]34.9159[167 21| 11 | 42 | 6 | mex1 | 043 | 1722 | 1139 | 2800 | E305 | Peos UK306+H2306 | 290606 | 25| 30 | 72 | 4538 | 30 | 8 [ 23| 0.59 20.77 14.97 2600
UEL306 | 390606 | 30| 72| 50 |36.5|175[17.5| 23| 11 | 49 | 65| msx1 | 069 | 2077 | 1417 | 2600 | E306 | P60 UK307+H2307 | 290607 | 30 | 35 (80| 52|43 ]34 | 9 | 25| 075 25.66 1792 2200
UEL307 | 390607 | 35 | 80 [51.6{38.1|17.5[183 25| 1.5 | 55 [ 65| M8x1 08 25.66 17.92 2200 €307 | Pea7 UK308+H2308 | 290608 | 35 | 40 | 90 | 58 | 46 | 36 | 10 | 27 1.02 3135 22.38 2000
UEL308 | 390608 | 40 | 90 [57.1{415(206[198[ 27| 1.5 | 635| &8 | miox1 | 108 | 3135 2238 2000 | E308 | P6O8 UK309+H2309 | 290609 | 40 | 45 |100| 65 | 50 | 39 | 11 | 30 1.38 40.68 130 1800
UEL309 | 390609 | 45 | 10058.743.1|20.6[19.8{ 30| 1.5 | 70 | 8 | miox1 | 145 | 4066 30 1800 | E309 | P609 UK310+H2310 | 290610 | 45 | 50 [110| 70 | 55 | 42 | 12 | 32 168 47.58 SEFL 1700
UEL310 | 390610 | 50 |110|66.6{49.422.2[24.6| 32| 2 | 76 [ 9 |M12x125| 186 | 4758 [ 3571 1700 | E310 | P610 UK311+H2311 | 290611 | 50 [ 55 [120| 75| 59 | 44 | 12 | 34 2.06 55.05 41.91 1400
UEL311| 390611 | 55 |120| 73 |ss.8|22.2(27.8) 3¢ | 2 | 82 | 9 |mM1zx125| 234 | ss05 | 4191 1400 | E311 | P61l UK312+H2312 | 290612 | 55 | 60 |130| 80 | 62 | 48 | 13 | 36 | 253 62.88 48.6 1300
UEL312 | 390612 | 60 |130|79.4/615(23.9B0%5( 36 | 21 | 88 | 9 |m12x1.25| 294 | 6288 486 1300 | E312 | pe12 UK313+H2313 | 290613 | 60 | 65 [140| 85| 65 | 49 | 14 | 38 3.08 72.21 56.68 1200
UEL313 | 390613 | 65 |140|85.7|64.7| 27 p2.55 38 | 21 | 95 | 10 [M12x125| 367 | 7221 56.68 1200 £313 | P613 UK315+H2315 | 290614 | 65 | 75 |160| 98 | 73 | 56 | 15 | 42 4.84 87.25 7167 1000
UEL314 | 390614 | 70 |150[92.1|67.930.2p4.15 40 | 21 | 102 [125|M12x1.25] 44 | 8018 63.48 1100 | E314 | P614 UK316+H2316 | 290615 | 70 | 80 [170|105)| 78 | 58 | 17 | 44 575 94.57 80.35 1000
UEL315 | 390615 | 75 |160|100[74.2(31.8[37.3] 42| 21 | 110 [12.5|M12x125| 534 | 8725 | 7167 1000 | E315 | P61S UK317+H2317 | 290616 | 75 | 85 | 180|110 82 | 61 | 18 | 46 6.72 102.05 89.52 950
UEL316 | 390616 | 80 |170106.480.6|31.8[40.5| 44 | 21 | 117 [12.5|M12%125| 67 | 9457 [ 8035 1000 | E316 | P61 UK318+H2318 | 290617 | 80 [ 90 [190|120| 86 | 66 | 18 | 48 7.87 110.81 [ 100.76 900
UEL317 | 390617 | 85 |18001095/83.7|31.811205) 46 | 3 | 126 |12.5| M16x15| & 10205 | 8952 950 E317 | P617 UK319+H2319 | 290618 | 85 | 95 | 200|125]| 90 | 67 | 19 | 50 9.02 120.51 113.75 850
UEL318 | 390618 | 90 |190f115987.4{36.5h365 48 | 3 | 133 | 14 | Miex1s | 91 | 11081 | 10076 850 318 | Pels UK320+H2320 | 290620 | 90 |100(215|130| 97 | 74 | 20 | 54 | 11.1 133.06 13118 800
UEL319 | 390619 | 95 | 2000122993 8(365[389 50| 3 | 140 | 14 | M16x15| 104 | 12051 | 13175 800 £319 | P619 UK322+H2322 | 290622 [ 100]110|240( 145|105 82 | 21 | 60 149 157.66 | 167.64 700
UEL320 | 390620 | 100|215[1281001{36.5| 50 [ 54 | 3 | 146 | 14 | M16x15 [ 13 13306 | 13118 750 £320 | P620 UK324+H2324 | 290623 |110|120| 260 | 155|112 86 | 22 | 64 18 175.07 194.42 630
UEL321 | 390621 |105|225[13970.048428]484] 56 | 3 | 157 | 16 | M20x15| 146 | 1403 | 14284 | 700 E321 | P621 UK326+H2326 | 290624 |115|130|280|165|121| 90 | 23 | 68 | 23.3 | 19493 [ 22671 560
UEL322 | 390622 |110|240[142[110| 40 [ 55| 60| 3 | 160 [ 16 | M20xL5| 17.2 | 15166 | 16764 | 600 322 | P22 UK328+H2328 | 290625 |125|140| 300 | 180(131| 95 | 24 [ 73 | 28.9 211.38 | 253.93 500




it sl & W inkid g E RS SBIRAE

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

SA200!: HiROLEIMKEIRM A

UCP200 ( Z90500 ) &!

5 s 1 !
S SRR (mm) | Gepn | seE] EEROERS T L EE T 22 5P 3k T G R < | [z b
d|of 8 i [ ells | oy B, | G |R/MIN| ds | (ka) | Cr(KN) |&Cor(KN)| (r/min) | grie2 | IBIRE

SA201 12|40 19 286 13 | 65 286 1325 48 06 |M6X1| 0.14 7.36 448 4500 E201 PS01 RIS ShAZRT (mm) FERYR ERRLE BRSNS
SAZ02 15|40 19 286 | 13| 65 | 286 | 135 | 48 0.6 |M6X1| 0.13 7.36 448 4500 E202 P502 LS IBES D B s L J H HL|H2| A | N|N1| ds | Bfilkg) | 6105 | IEHCS | 37US ) IBIRS
oo Tt s o T es T T Tas T or Teal o T o T 50 om0 T oom T 5o UCWP201] 790501 | 40 |27.4[11.5]125] 96 [30.2] 57 | 14| 36| 13| 19|M10] 06 |ucwz01] 90501 [P203w| z503

UCWP202| 790502 | 40 [27.4[11.5]125] 96 [30.2] 57 [ 14| 36| 13| 19|M10] 06 |ucwz02] 90502 [P203w]| z503
S| eaed [ (k] [ ] | o | el S S ] ] L | [ | || e UCWP203| 790503 | 40 |27.4|11.5| 125| 96 |30.2| 57 | 14| 36| 13| 19 |M10] 06 |UCw203] 90503 |P203W| 2503
205 [ zmiafans) a1 a5 7s gt | s a] O [MexL IR 1078 | 638 | 3400 | E2050] BSO9 UCP201 | z90501Y | 47 [ 31 [12.7[127] 95 [30.2] 62 [ 14 38[13[ 19 [M10[ 07 | uc2o1 [sos01v| p203 | z504
saz06 |30[e2|238] 357 [16] 9 [4a5[ 159 6 [ 1 [mexa| 031 | 1497 | 1004 | 2800 | €206 | sos UCP202 | 290502Y| 47 | 31 [12.7] 127] 95 |30.2] 62 | 14 38| 13| 19|M10] 07 | UCz202 |90502v| P203 | z504
SA207 | 35|72 254 | 389 | 17| 95 | 556 | 17.5 | 68| 11 |M8X1| 051 | 1975 | 1367 | 2400 | E207 | P07 UCP203 | 90503Y| 47 | 31 [12.7] 127] 95 |30.2] 62 | 14| 38| 13| 19|M10] 07 | UC203 | 90503Y| P203 | z504
Tl e e e e e e e e e UCP204 | 790504 | 47 | 31 |12.7] 127] 95 |33.3] 65 | 14| 38| 13| 19 |M10| 07 | UC204 | 90504 | P204 | 7504
aog | 46 |65 562 | Ae7 |8 | A |iess | | 6% id. |l oea | @236 | fmd | ioo6 | 2| pss UCP205 | 790505 | 52 |34.1|14.3] 140 105 [36,5] 71 | 15| 38| 13| 19 |M10] 08 | UC205 | 90505 | P205 | Z505
e I e e e e P e e B e B e e i T i UCP206 | 790506 | 62 | 38.1|15.9] 165] 121|429] 83 | 17| 48| 17| 23 |M14] 13 | UC206 | 90506 | P206 | Z506
e T TR T A RS A T T R e T T UCP207 | 790507 | 72 |42.9|17.5] 167|127 |47.6] 93 | 18| 48| 17| 23 |M14] 16 | UC207 | 90507 | P207 | 2507

UCP208 | 790508 | 80 [49.2] 19 | 184 137[49.2| 100] 18| 54| 17| 23 [M14] 19 | UC208 | 90508 | P208 | z508
s ||| et v | e || e | i | e || o | (U || st || e | e | B || e UCP209 | 790509 | 85 |49.2] 19 | 190]146| 54 |106| 20 | 54| 17| 23 [M14] 2.2 | UC209 | 90509 | P209 | z509

UCP210 | 790510 | 90 [51.6( 19 | 206|159|57.2| 114 | 21| 60| 20| 26 |M16| 2.6 UC210 | 90510 | P210 | Z510
UCP211 | Z90511 | 100|55.6(22.2| 219|171 |63.5{126| 23| 60| 20| 26 |[M16| 3.3 UC211 | 90511 | P211 | Z511
UCP212 | 790512 | 110(65.1(25.4| 241|184 169.8[138| 25[ 70| 20| 26 |M16| 4.6 UC212 | 90512 | P212 | Z512
UCP213 | 790513 | 120(65.1(25.4| 265| 203 | 76.2| 151 | 27 [ 70| 25| 31 |M20] 5.9 UC213 | 90513 | P213 | Z513
UCP214 | 790514 | 125(74.6(/30.2| 266| 210 794|157 | 27 [ 72| 25| 31 |M20| 66 UC214 | 90514 | P214 | 7514
UCP215 | Z90515 | 130|77.8(33.3| 275|217 |82.6(163| 28| 74| 25| 31 |[M20| 74 UC215 | 90515 | P215 | Z515
UCP216 | 790516 | 140 [82.6(33.3| 292|232 |88.9|175| 30| 78| 25| 31 |M20 9 UC216 | 90516 | P216 | Z516
UCP217 | Z90517 | 150[85.7(34.1| 310| 247 95.2]| 187 | 32| 83| 25| 31 |M20 i UC217 | 90517 | P217 | Z517

UD203-210&!

me HEAERY RBREEIE(r/min) ENERE ucp218 | 790518 | 160| 96 [39.7] 327 262 [101.6 200| 33| 88| 27 33|m22] 13 | uc2is| 9o0s18 | P218 | Z518
WS d D B e i FhkN) | E(kN) UCP220 | 790520 | 180] 108 42 | 380] 308] 115] 225[ 40 95 [ 30 38|M24] 16 | UC220 | 90520 | P220 | 7520
uD203 17 40 12 16000 20000 9.58 447 ’

uD204 20 47 14 14000 18000 12.84 6.65 Uc_fsoo ( 290600 ) ﬂ

UD205 25 52 15 12000 | 16000 | 1402 | 7.88 i 3L E T 22 Sh 2K Ty e AR

S 24 62 25 el LIRS L ks |l FEAE PR ) A el e
ubp207 35 72 17 8500 | 11000 | 2567 | 1530 Sif%s | Bes [ D[ B[ ST LT | 0 ] AT N[N o | Eiko [ 3es | BRE [#ks]BRe
uUD208 40 80 18 8000 10000 29.52 18.14 UCP305 | 790605 | 62 | 38 | 15 [175[132| 45 [ 85 | 15|45 17| 20 |m14] 14 | uc3os [ g0605 | P305 | Z60S
uD209 45 85 19 7000 9000 31.67 20.68 UCP306 | 790606 | 72 | 43 | 17 | 180 140| 50 | 95 | 18| 50| 17| 20 |M14] 18 | UC306 | 90606 | P306 | 2606
UD210 50 90 20 6700 8500 3507 5318 UCP307 | 790607 | 80 | 48 | 19 | 210| 160| 56 | 106| 20| 56| 17| 25 |M14] 28 | UC307 | 90607 | P307 | 2607

UCP308 | 790608 | 90 | 52 | 19 | 220(170| 60 [116] 22| 60| 17| 27 |M14 3 UC308 | 90608 | P308 | Z608
UCP303 | Z90609 | 100 57 | 22 [245]|190| 67 | 129| 24|67 20| 30 [M16] 4.1 UC309 | 90609 | P30% | Z609
UCP310 | Z90610 | 110 61 | 22 | 275]|212| 75 [143| 27| 75| 20| 35 |M16] 5.8 UC310 | 90610 | P310 | Z610
UCP311 | 790611 | 120| 66 [ 25 | 310(236| 80 [154]| 30|80 20| 38 |M16| 74 UC311 | 90611 | P311 | Z611
UCP312 | 790612 [130| 71 | 26 | 330|250| 85 [165] 32| 85| 25| 38 |M20| 94 UC312 | 90612 | P312 | Z612
UCP313 | Z90613 | 140( 75 [ 3 | 340|260| 90 | 176| 33| 90| 25| 38 |M20 10 UC313 | 90613 | P313 | Z613
UCP314 | Z90614 | 150| 78 [ 33 | 360| 280 | 95 | 187 | 35| 90| 27 | 40 |M22 12 UC314 | 90614 | P314 | Z614
UCP315 | 790615 | 160| 82 [ 32 | 380 290 100 | 198 | 35 |100[ 27 | 40 | M22 14 UC315 | 90615 | P315 | Z615

SB200%!. W45k BkikR

- — e UCP316 | 790616 | 170 | 86 | 34 [400|300] 106|210 40 |110{ 27| 40 |[M22| 18 [ UC316 | 90616 | P316 | 7616
WS — = 2 s"m*c"”'"’ e o Tit(kg) ﬁfzﬁﬁ ﬁcff&f? ‘ﬁj‘fﬁ;@ UCP317 | 790617 | 180| 96 | 40 | 420|320 112 220| 40 [110] 33 [ 45 [M27] 20 | UC317 | 90617 | P317 | z617
T T I - T e T - i e o UCP318 | 790618 | 190| 96 | 40 | 430|330 | 118 | 235 45 [110] 33 | 45| M27] 24 | UC318 | 90618 | P318 | Z618
=T T = = T ™ RIS — — - UCP319 | 790619 | 200| 103 | 41 | 470] 360 | 125 | 250 45 |120] 36| 50 |M30] 29 | UC319 | 90619 | P319 | Z619
T T T . TR T VTR T e rem s UCP320 | 790620 | 215 108 | 42 | 490 380 | 140 | 275 50 |120] 36 | 50 |M30] 35 | UC320 | 90620 | P320 | Z620
T T T = T T v AT AT = P UCP321 | 790621 | 225] 112 | 44 | 490|380 | 140 | 280 50 [120] 36 | 50 [M30] 35 | UC321 | 90621 | P321 | Z621
s0s | 5 | 52 | 27 | 75 | 15 5 1 MEXL 016 1078 508 3400 UCP322 | 790622 | 240 | 117| 46 | 520] 400 | 150 | 300 55 [140] 40| 55| M33] 45 | UC322 | 90622 | P322 | Z622
55206 | 30 | &2 | % 5 16 5 1 MEXL 025 1497 1004 2800 UCP324 | 790624 | 260 | 126| 51 | 570] 450 | 160 320] 65 |140] 40| 55 |M33] 55 | UC324 | 90624 | P324 | Z624
$8207 35 72 32 85 17 6 11 MBX1 0.38 19.75 13.67 2400 UCP326 | 790626 | 280 | 135 54 | 600 | 480 | 180 | 355 | 75 |140] 40| 55 |M33 72 UC326 | 90626 | P326 | Z626
B208 | a0 | 80 | 34 B 18 8 1 M8x1 058 2271 1594 2200 UCP328 | 790628 | 300 | 145| 59 | 620|500 200 | 390 75 |140] 40| 55 |M33] 89 | UC328 | 90628 | P328 | Z628




it i i WFiREENERESERAE

EHEN_ETI]NE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

~ =
~ = ¢/e En Em 7 ( Hub bearing is one of the key parts of a car. Its main function is to carry the weight and to provide accurate guidance
1\ X, ;

for the rotation of the hub, which requires it not only to bear the axial load but also to bear the radial load.

Wheel bearing

The traditional automobile wheel bearings are composed of two conical roller bearings or ball bearings. The
g = 273 installation, oil, seal and adjustment of the clearance of the bearings are all carried out on the automobile production

LY . .
J i ] e = | / Product introduction line. This kind of structure makes it difficult to assemble in the automobile factory, has high cost and poor reliability,

and it also needs to clean, oil and adjust the bearings when the car is maintained at the maintenance point.

ERWRSSENXETHMT e — BN EEFARRSEEN IR BN ENRIEHRS SiX

The hub bearing unit is developed on the basis of standard angle contact ball bearing and tapered roller bearing. It

?JEE*EK&%EE(&EH}ﬁﬁ%ﬁgﬁﬁﬁﬁﬁﬁa combines two sets of bearings with good assembly performance, omission of clearance adjustment, light weight,
1§QEH4J%$$$@FEEEJ¥KE Eﬂﬁﬁfﬁﬁ?émﬁﬁﬁﬁimﬁﬁﬁAﬁﬁﬁﬂﬂ im]—ﬂﬂﬂﬁ_g ;$;$ o compact structure, large load capacity, pre loading grease for sealed bearings, omission of external hub seal and
Z 1 TE P ZH/™ N N N, 19 : N iy
. _ exemption. Yu Weixiu and other advantages have been widely used in cars, and there is a trend of increasing
HUASGHRREEEE RIS A5 EHTH, XIEEEEESEAT EREE. mAs

application in heavy trucks.

. AIRENE  MESFEEEERERN | EREHEHRTER, REEE,
RERHRRITRER AR RTNEER FHRNEM R EERRN , BRREMAN

Ak, BEEELER. UREREFRERE. EEE. SRRR REEEAN. AEIWATSE
FRNiDiRlE. SRINPEREIRGTEESIR B ZATHED  BHESETLEE
2 NS EEEN




it i i WFRRBENERRSERAS

CHENGTONG WUZHOU 2 SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.
SO B B A 7R
! U EX

Wheel bearing

a4y

1 L
= ol
o =N
L) —- |
oty
e =
- e
e
= =
T - - &
L 43
Il T
2
rrl - P
U7

- A
4
.-_r_‘r
=]
=P __n'l_
E -1
Ty
— el
Z =
:] —
- =
m JD
7 el
= 'H:"”J
< il
72 =l
O s
1l -::d.-_;?
.55:)} %- /i ' )
-g“‘\‘*i— N L
~
3;?‘;\{‘ M.»
=
Sl =
i =




it i i WFiREENERESERAE

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

[EOK T3 GEEW...ESEFI F— ‘A8 mOXK T GE...ET-2RS&75 e .
LT ¢ . 6
ol 5o H4- A - olél o H—— ¥ —4
} 1
: Do 77
o - R B d o NN
iBENEERE] - R/ b8 Bidig ¢
Sliding contact surfaces:steel/steel M@ Wide inner ring Self lubricating R
IR B IMERT BNEH AT
e Dimensions(mm) Load ratings kN " .ﬁh ERe Dimensions(mm) Load ratings kN Wisht
Bearing number ; . . . a | ol | o | ame | men ::(gg F Bearing number v " 5 e . r, e o | mhEdE | BEGE :ng
min “ | min| min| = |Dynamic| Static & min | min =~ | Dynamic| Static
GEEW12ES 12 22 12 7 155 18 0.3 0.3 4 10 53 0.022 GE20ET-2RS 20 35 16 12 29 03 03 9 42 83 0.066
GEEW15ES 15 26 15 9 185 | 22 0.3 0.3 5 16 84 0.031 GE25ET-2RS 25 42 20 16 355 0.6 0.6 7 68 137 0.119
GEEW16ES 16 28 16 9 20 23 0.3 0.3 4 17 85 0.035 GE30ET-2RS 30 47 22 18 40.7 0.6 0.6 6 88 176 0.153
GEEWL17ES 174 30 AR 10 Al 25 0.3 0.3 7 21 106 0.044 GE35ET-2RS 35 55 25 20 47 0.6 i | 6 112 224 0.233
GEEW20ES 20 35 20 12 25 29 0.3 0.3 4 30 146 0.071 GE40ET-2RS 40 62 28 22 53 0.6 1 7 140 280 0.306
GEEW?25ES 25 42 25 16 [ 305]|355]| 06 0.6 4 48 240 0.131 GE45ET-2RS 45 68 32 25 60 0.6 1 T 180 360 0.427
GEEW30ES 30 47 30 18 34 | 40.7 | 0.6 0.6 4 62 310 0.168 GES0ET-2RS 50 75 35 28 66 0.6 1 6 220 440 0.546
GEEW32ES S5 s 32 18 37 44 0.6 i 4 65 328 0.182 GES5ET-2RS 55 85 40 32 74 0.6 1 7 284 573 0.939
GEEW35ES 35 55 35 20 40 47 0.6 1 4 79 359 0.253 GEGOET-2RS 60 90 44 36 80 1 1 6 345 695 1.04
GEEWA40ES 40 62 40 22 46 53 0.6 1 4 L] 495 0.338 GE70ET-2RS 70 105 49 40 92 1 1 6 440 880 1555
GEEWA45ES 45 68 45 25 L7 60 0.6 1 4 127 637 0.481 GE8OET-2RS 80 120 55 45 105 1 1 6 567 1140 231
GEEWS50ES 50 75 50 28 57 66 0.6 i 4 156 780 0.558 GE9OQET-2RS 90 130 60 50 115 : 1 5 690 1370 2.75
GEEWG0ES 60 90 60 36 68 80 il 1 4 245 1220 1.15 GE100ET-2RS 100 150 70 55 130 1 1 7 858 1730 4.45
GEEWG63ES 63 95 63 36, | 71,5 | 83 1 1 4 253 1260 1.25 GE110ET-2RS 110 160 70 55 140 1 1 6 924 1860 4.82
GEEW7O0ES 70 105 [ 70 40 78 92 1 1 4 313 1560 1.71 GE120ET-2RS 120 180 85 70 160 1 1 6 1340 2700 8.05
GEEWS8O0ES 80 | 120 [ 80 45 91 | 105 1 1 4 400 2000 239 GE140ET-2RS 140 210 90 70 - 1 1 7 1070 5350 11.02
GEEW90ES 90 | 130 | 90 50 99 | 115 1 1 4 488 2440 3.21 GE160ET-2RS 160 230 105 80 - 1 1 8 1360 6800 14.01
GEEW100ES 100 | 150 [ 100 | 55 | 113 | 130 1 1 4 607 3030 4.79 GE180ET-2RS 180 260 105 80 - 11 1L 6 1530 7560 18.65
GEEW110ES 110 | 160 | 110 55 124 | 140 1. 1 4 654 3270 5.78 GE200ET-2RS 200 290 130 100 - 12 11 7 2120 10600 28.03
GEEW125ES 125 ]| 180 | 125 | 70 | 138 | 160 il 1 4 950 4750 8.49 GE220ET-2RS 220 320 135 100 275 1.1 11 8 3300 6550 8551
GEEW160ES 160 | 230 | 160 | 80 | 177 | 200 1 1 4 1360 6800 16.5 GE240ET-2RS 240 340 140 100 300 1.1 L 8 3600 7200 3991
GEEW200ES 200 | 290 | 200 | 100 | 221 | 250 | 11 11 4 2120 10600 B840 GE260ET-2RS 260 370 150 110 325 il i ]} 7 4290 8650 515
GE280ET-2RS 280 400 155 120 350 11 11 6 5000 10000 65
GE300ET-2RS 300 430 165 120 375 11 E I | 7 5400 10800 78.07




W ikiEE M ERE SBIRASE

SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

it i 13 il

CHENGTONG WUZHOU

PO TSR GEZ...ESRF * B e BTt GEGZ...ESEFI/GE...CERF|
; Ris ™ — . ; - - s & Ris
i . : ris E° f e D
p| d T ‘ : | /, :
B\{v ES-2RS NV » Z 117> A |
== Y ESs I > | X i
i N% 5 ES-2RS = J ' %E %\w it
BB : /4 < SEEIEEEE /40 i 58 T i1
Sliding contact surfaces:steel/steel - Sliding contact surfaces:steel/steel B Self lubricating L™ s |
MRS MESTT MRS BREETT
ERE Dimensions(mm) Load ratings kN % REE Dimensions(mm) Load ratings kN §
Bearing number r i o chEtrs | sty Wflght Bearing number I r ° ok | BEE Wflght
d D B G dy : s : : ~kg d D B (o dy 2 = : : ~kg
min min = Dynamic | Static min min = Dynamic| Static
GEZ12ES 12.7 (22225 111 | 9525 19 | 03 | 06 6 13 41 0.022 GEGZ31ES 3175 [61.913(35.306(28.575| 54.7 | 06 1 15 125 375 | 0454
GEZ15ES 15.875|26.988|13.894[11.913| 22 | 03 | 06 6 22 65 0.036 GEGZ38ES 38.1 |71.438(40.132(33.325( 639 | 06 1 14 170 510 | 0.726
GEZ19ES 19.05 |31.750|16.662|14.275| 275 | 03 | 06 6 31 95 0.053 GEGZ44ES 4445 |80.963(46.228| 381 | 73 | 06 1 14 224 670 1.14
GEZ22ES 22.225(36.513(19.431(16.662| 32 | 03 | 06 6 42 127 | 0.085 GEGZ50ES 50.8 |90.488(52.578| 4285 82 | o6 1 14 280 850 1.68
GEZ25ES 254 (41.275(22.225| 19.05| 355 | 03 | 06 6 56 166 | 0.121 GEGZ57ES 57.15 [100.01|58.877(47.625| 92 | 06 1 14 355 | 1060 | 201
GEZ31ES 31.75 | 50.8 [27.762| 238 | 455 | 06 | 06 6 86 260 | 0.232 GEGZ63ES 63.5 [111.13(64.643(52.375( 100 i 1 14 415 | 1250 | 295
GEZ34ES 34.925(55.563( 30.15 [26.187| 49 | 0.6 1 6 102 310 | 0.351 GEGZ69ES 69.85 [120.65(70.866| 57.15 | 1095 | 1 1 14 500 | 1500 | 3.63
GEZ38ES 38.1 |61.913(33.325/28575| 53 | 06 1 6 125 375 | 0422 GEGZ76ES 76.2 [130.18|76.759| 61.9 | 119 il 1 14 585 | 1760 | 4.36
GEZA4ES 4445 |71.438|38.887|33.325| 639 | 06 1 6 170 510 | 0.641 GEGZ82ES 82.55 | 139.7 [82.931[66.675| 128 1 1 14 680 | 2040 | 531
GEZ50ES 50.8 (80.963| 44.45| 381 | 73 | 06 1 6 224 670 | 0932 GEGZ8BES 889 [149.23|90.424(71.425| 137 1 1 14 780 | 2360 | 6.81
GEZ57ES 57.15 | 90.488|50.013| 4285 | 82 | 06 1 6 280 850 1.33 GEGZ95ES 95.25 (158.75(94.945| 762 | 146 1 1 14 900 | 2650 | 885
GEZ63ES 63.5 |100.01| 5555 |47.625 92 0.6 11 6 355 1060 1.85 GEGZ101ES 101.6 | 117.8 [107.31(85.725| 164.5 1 1 10 1120 3400 10.2
GEZ69ES 69.85 [111.12|61.112[52.375( 100 1 1 6 415 | 1250 | 242 - —
GEZ76ES 76.2 |120.65(66.675| 57.15 [ 1095 | 1 11 6 500 | 1500 | 3.10 - Diert’:i;oRn?(-mm) Loajﬁiﬁ{gﬂs W | =B
GEZ82ES 8255 |130.17|72238] 619 | 120 | 1 1 6 585 | 1760 | 3.82 WEES Weight
GEZ88ES 889 | 139.7 |77.775|66.675| 130 | 1 1 6 680 | 2040 | 479 Sorahinzic A IR RS (R | S g | B | = | 2| EmE B,
GEZ95ES 95.25 |149.22(83337|71425| 137 | 1 1 6 780 | 2360 | 580 i min | min | & |Dynamic] Static
GEZ101ES 1016 [158.75| 88.9 | 76.2 | 146 1 11 6 900 2650 | 7.00 GE6C 6 | 14| 6 4 g [ 10]03]03) 13 36 9.1 0.004
GEZ114ES 1143 | 177.8 |100.01|85725( 1645 | 1 1 6 1120 | 3400 | 9.80 GE8C 8 [ 16 | 8 5 [10] 1310303115 5.8 14 0.008
GEZ120ES 120.65(187.32|105.56(90.475| 1735 | 1 1 6 1250 | 3750 | 115 GE10C 101919 6 [ 13 | 16 [ 03 | 03 | 12 86 21 0.011
GEZ127ES 127 |196.85|111.12| 9525 | 183 1 1 6 1400 | 4150 | 135 GE12C 12 |22 )10 7 |15 18 | 03 )03 | 10 11 28 0.015
GEZ152ES 152.4 |222.25| 1206510478 207 | 1 1 5 1730 | 5200 | 175 GE15C 15])2 |12 9 |18 | 22 |03 ]03] 8 18 45 0.027
GE17C 17 | 30| 14| 10| 20| 25 03| 03] 10 22 56 0.041
GE20C 20 35 16 12 24 29 03 | 03 31 78 0.066
GE25C 25 42 20 16 29 [ 355]| 06 | 06 51 127 0.119
GE30C 30 | 47 | 22 | 18 | 34 |407| 06 | 06 65 166 | 0.163




it i 13 il

CHENGTONG WUZHOU

%ﬁﬂﬁﬁﬁéﬁﬁﬁ?ﬁ?ﬁ/mﬁ SHEET OF MICRO THRUST BALL BEARING

e Q=S Sz = RERE WEKEE
Model | inner diameter [extemaldiameter]  Height | “uo Pansof | steel ball
F2-6 2 6 3 6 12

F2.5-6 2.5 6 6 12

F3-8 3 8 35 7 1.588
F4-9 4 9 4 8 1.588
F4-10 4 10 4 9 1588
F5-10 5 10 4 9 1588
F5-11 5 11 45 8 1.588
F5-12 5 12 4 8 1.588
F6-11 6 1L 4.5 8 1.588
F6-12 6 12 4.5 9 2.381
F6-14 6 14 5 8 2.381
F7-13 7 13 45 8 2.381

F7-14.5 7 145 5 8 2.381
F7-15 7 15 5 8 2.381
F7-15 7 15 5 11 2.381
F7-17 7 17 6 9 3
F8-14 8 14 4 10 2
F8-16 8 16 5 9 3
F8-19 8 19 6 10 3.175
F8-19 8 19 7 10 3.175
F8-22 8 22 7 11 3
F9-17 9 17 5 10 3
F9-20 9 20 7 10 3.175

F10-17 10 17 5 10 2.381

W inkid g E RS SBIRAE

SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

ﬁﬂﬁ ﬁﬁmﬁiﬂ%%lmm SHEET OF MICRO THRUST BALL BEARING

s kS shE BE WS MERESR
Model inner-diameter [externaldiameter Height Ez:l:élps;;of S;Z‘zlhzar”
F10-18 10 18 5.5 10 3175
F10-18 10 18 4.8 12 2.5
F10-19 10 19 6 10 3175
F10-20 10 20 5.5 10 3175
F10-20 10 20 7 10 3175
F10-21 10 21 7 11 3
F10-22 10 22 7 11 3
F11-21 12 21 5 11 3
F12-19 12 19 5 15 2.381
F12-20 12 20 7 12 3
F12-21 11 21 7 11 3
F12-22 12 22 7 12 3.175
F12-23 12 23 7.5 12 3175




@ ik iE 5 il WERREENE RS ERAS

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

—2=N_
BESide
(G ’ T
UCFL200%! Y & 2
E—3 4 T
UCF200%! T S EE TR 4 S BRI 4h A& - j
T 5 T BE TR 42 Sh 2R T 4l AR :
2 g SMERST (nm) %ggﬁ: A Eﬁ&mﬁc
. SMERT (mm) zgg . RS Lo || s || o] w|afm|a]n|dla | ®F | ge
RS [ p B s L Jl Al A AN de (k;) e B ucrFL201| 40 [309[115] 99 |765| 57 | 255 11 | 15 | 115| m10]| o086 uc201 | FL203
UcrF201 | 40 274 | 1151 76 | 54 12551 11 | 15 | 12 | w10 07 Uc201 F203 UcFL202 | 40 [309|115] 99 |765| 57 [ 255 11 | 15 | 115 m10| 06 uc202 | FL203
UCF202 40 274 115 76 54 | 255 11 15 12 M10 07 uc202 F203 UCFL203| 40 | 309|115 99 |765| 57 | 255]| 11 15 | 11.5 | M10 0.5 uCc203 FL203
UCF203 40 27.4 115 76 54 | 255 11 15 12 M10 0.6 ucz03 F203 UCFL204 | 47 31 127 113 | 90 60 | 2565 11 15 12 | M10 05 uczo04 FL204
UCF204 47 31 12.7 86 64 | 255 11 15 12 M10 0.6 ucz04 F204 UCFL205| 52 | 341|143]| 130 | 99 68 27 13 16 16 | M14 06 uc205 FL205
UCF205 52 34.1 14.3 95 70 27 13 16 12 M10 0.8 uc205 F205 UCFL206 | 62 | 38.1| 15.9| 148 | 117 | 80 31 13 18 16 | M14 0.9 UC206 FL206
UCF208 62 38.1 159 | 108 | 83 | 31 13 18 12 M10 1 uc206 F206 UCFL207 | 72 | 429 175] 161 | 130 | 90 34 15 19 16 | M14 1.2 ucaor? FL207
ucro7 | 72 429 | 175|117 | 92| 34| 15| 19| 14| m2 1.4 uc207 F207 UCFL208 | 80 |49.2| 19 [ 175|144 | 100 ]| 36 | 15 | 21 | 16 [ M14| 16 uc208 | FL208
ucrF208 | 8o 49.2 19 | 130 [ 102 36 | 15 [ 21 | 16 | m14 1.8 UC208 F208 UCFL209 | 85 |49.2| 19 | 188 | 148 | 108 | 38 [ 16 | 22 | 19 | m16]| 1.9 uc209 | FL209
ucr209 | 85 492 19 | 137 [ 105 38 | 16 | 22 | 18 | M4 22 UCc209 F209 UcrFL210| 90 [ 516 19 [ 197 | 157 | 115 40 [ 16 | 22 | 19 [m16]| 22 uc210 | FL210
ucr210 | 90 51.6 19 | 143 [ 111 | a0 | 16 [ 22 | 18 | w14 24 uc210 F210 ucrL211| 100 [ 556|222 224 | 184 | 130 | 43 [ 18 | 25 | 19 [ m1e]| 31 uc211 | FL211
ucF211 [ 100 | 556 [ 222 | 162 [130| 43 | 18 | 25 | 19| mie 3.6 uc211 F211 UCFL212 | 110 [ 651 [ 254 | 250 | 202 | 140 | 48 | 18 | 20 | 23 | m20 4 uc212 | FL212
ucF212 | 110 | 651 | 254 | 175 [ 143 | 48 | 18 | 20 | 19 | mie 4.4 uc212 F212 UCFL213 | 120 [ 65.1 [ 254 | 258 | 210 | 155 | 50 | 22 | 30 | 23 | m20 5 uc213 | FL213
UCF213 120 851 254 187 | 149 | 50 22 30 19 M16 55 uc213 F213 UCFL214 | 125 | 746 | 30.2 | 265 | 216 | 160 54 22 31 23 | M20 56 uc214 FL214
UCF214 125 74.6 30.2 193 | 152 | 54 22 31 19 M16 6.1 ucz14 F214 UCFL215 | 130 | 77.8 | 33.3| 275 | 225 | 165 56 22 34 23 | M20 6.2 ucz1s FL215
UCF215 | 130 778 33.3 | 200 | 150 | 56 [ 22 | 34 | 19 M16 6.9 ucz15 F215 UCFL216 | 140 | 82.6 | 33.3| 290 | 233 | 180 | 58 | 22 | 34 | 25 | M22 8.2 ucz1e | FL216
UCF216 | 140 | 82.6 | 33.3 | 208 [ 165| 58 | 22 | 34 | 23 | M20 8.1 ucz1ie F216 UCFL217 | 150 | 85.7 | 34.1| 305 | 248 | 190 | 63 | 24 | 36 | 25 | M22| 93 ucz217 | FL217
UCF217 | 150 | 85.7 | 34.1 | 220 [ 175 | 63 | 24 | 36 | 23 | M20 9.3 ucz17 F217 UCFL218 | 160 | 96 [39.7| 320 | 265 | 205 | 68 | 24 | 40 | 25 | mM22[ 11 uc218 | FL218
ucrF218 | 160 96 397 | 235 [ 187 | 68 | 24 | 40 | 23 | m20 11 uc218 F218
UCF3008! 75 6 BETR 4 Sh Bk m S A UCFL300%!
TEEMAIT SHERY (mm) TR FOFETRTS | BEPTMREE T 22 115 T &% S0 Bk S AR
= DB [sT L] s A] ai]az] N[ds| #ika s = R SHER T (mm) HSEEECE | B | EFRYREE
UCF305 62 | 38 | 15 [110| 80 [ 29 | 13 | 16 | 16 |M14 1.1 UC305 F305 re D B s L J H A Al A2 N ds (k) e e
UCF306 | 72|43 | 17 [125] 95| 32| 15| 18 | 16 |M14 16 UC306 F306 UCFL305| 62 | 38 | 15 | 150 | 113 | 80 | 29 | 13 | 16 | 19 | M16 1.1 UC305 | FL30S
UCF307 | 80 | 48 | 19 | 135|100 36 | 16 | 20 | 19 [M16 2 ucso7 F307 ucrL3o6] 72 | 43 | 17 | 180 134 90 [ 32 [ 15 [ 18 | 23 | m20 15 UC306 | FL306
UCF308 | 90 | 52 | 19 | 150|112 40 | 17 | 23 | 19 [Mi6 27 uc308 F308 UCFL307| 80 | 48 | 19 | 185 | 141 | 100 [ 36 [ 16 | 20 | 23 | M20 19 uC307 | FL307
UCF309 |100| 57 | 22 | 160|125 44 | 18 | 25 | 19 [M16 3.4 UC309 F309 UCFL308| 90 | 52 | 19 | 200 | 158 | 112 [ 40 | 17 | 23 | 23 | M20 25 uc3os | FL308
UCF310 110 61 | 22 | 175(132| 48 | 19 | 28 | 23 [M20 45 ucz10 F310 UCFL309| 100 57 22 230 | 177 | 125 44 18 25 25 | M22 34 UC309 FL309
UCF311 |120| 66 | 25 | 185|140 52 | 20 | 30 | 23 [Mm20 55 uc3li F311 UCFL310| 110 | 61 22 | 240 | 187 | 140 | 48 19 28 25 | M22 4.4 Uc31o FL310
ucr312 [130| 71| 26 | 195|150 56 | 22 | 33 | 23 | m20 6.5 uc312 F312 UCFL311| 120 | 66 25 | 250 | 198 | 150 | 52 20 30 [ 25 | M22 5.1 UC311 | FL311
UCF313 1401 75 | 30 | 208 166 58 | 22 | 32 | 23 |m20 79 Uc313 F313 ucr312] 130 [ 71 | 26 | 270 | 212 | 160 | 56 | 22 | 33 | 31 | m27 6.1 ucsi2 | FL312
Ucr31a 1501 78 | 33 | 226 [ 178 | 61 1 25 | 36 | 25 |M22 95 Uc31a 314 UCFL313| 140 [ 75 | 30 | 295 | 240 | 175 [ s8 [ 25 [ 33 | 31 | m27 7.8 UC313 | FL313
Ucra1s 160 82 1 32 1236 1182 €6 | 25 | 39 | 25 |22 p UC31s Fals UCFL314| 150 | 78 | 33 | 315 | 250 | 185 [ 61 | 28 | 36 | 35 | M30 9 UC314 | FL314
Ucraie 11701 86 | 34 12501 1961 68 | 27 | 38 | 31 [vz7 1 UC316 F316 UCFL315| 160 | 82 | 32 | 320 | 260 | 195 [ 66 | 30 | 39 | 35 | M30 10 UC315 | FL315
T W ) N L T S IR L R I R
32212 ;gg 19063 :g igg i;: ;j zg :g ;: m;g ;3 Bgig 212 UCFL318| 190 | 96 | 40 | 385 | 315 ]| 235 [ 76 | 36 | 44 | 38 | M33 18 UC318 | FL318
UCFL319| 200 | 103 | 41 | 405 | 330 | 250 [ 94 [ 40 [ 59 | 41 | M36 20 UC319 | FL319
Wiy Lais) dg | || eitollanall B2 | e || cel |l st el ede Liesil i UCFL320| 215 | 108 | 42 | 440 | 360 | 270 | 94 | 40 | 59 | 44 | m39| 27 | ucs20| F320
UCF321 |225]1112) 44 1310]1242] 94 | 32 | 59 | 38 [M33 27 ucs2l F321 UCFL321| 225 [ 112 | 44 | 440 | 360 | 270 | 94 [ 40 | 59 | 44 | M39 27 UC321 | FL321
UCF322 |240|117| 46 | 340) 266 96 | 35 | 60 | 41 |M36| 38 ucsaz F322 UCFL322] 240 | 117 | 46 | 470 | 390 | 300 | 96 | 42 | 60 | 44 |m39| 33 | uc322 | FL322
UCF324 | 260|126| 51 |370]290| 110| 40 | 65 | 41 |M36| 50 uc3a4 F324 UcFi324| 260 | 126 | 51 | 520 | 430 [ 330 [ 110 | 48 | 65 | 47 [ma2| 48 [ucsaa| raza
UCF326 |280|135) 54 | 410[320(115| 45 | 65 | 41 [M36| 66 uc32e F326 UCFL326] 280 | 135 | 54 | 550 | 460 | 360 | 135 | 50 | 65 | 47 | M4z 58 UC326 | FL326
UCF328 ]300]145] 59 [450]350[125] 55 [ 75 | 41 [M36 90 uc3zg F328 UCFL328| 300 | 145 | 59 | 600 | 500 | 400 | 125 | 60 | 75 | 51 | M45 81 UC32g | FL328




it i i WFiREENERESERAE

I:HEN_ETDNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.
N=—3 A 2 i
= =k . . b
IR EEESERAHA Automobile hub bearing YRGEFC BRI Automobile hub bearing
WRES HMFRE Dimension(mm) e | ER YR FRREELS
= | 1=
- 2Rt Di i mifat| ER S ERHFRS Bearing No. d D B C Seal Type| KG SKF FAG
WEES bt s ) ceal | Weight |  Brand Relative NO.
Bearing No. DAC30600037/34 30 60 37 34 A 0.4 |BA2B243733CA
d D B C Type KG SKF FAG DAC30600337 30 60.3 37 37 B.CD 041 |BAHBA405956A| 581736
DAC124000183 12 40 183 183 D 011 C-00187 DAC30620032 30 62 32 32 B.D 041 |NACHI30BYVO
DAC20420030/29 | 20 42 30 29 B 0.17 |BAHB 61746A| 565592 e 20 62 18 a8 5D 056
/ : DAC30630042 30 63 42 42 AB 0.55 VKBA1344
DAC205000206 20 50 206 | 206 A 0.17 61746A DAC30630342 30 63.03 22 B AR 055
DAC255200206 20 52 206 | 206 A 0.18 DAC30640042 30 64 42 42 F 0.49
DAV25520037 25 52 37 37 | BCE | 031 [BT2B445539AA 546647 DAES06A037) 30 64 37 57 D 044
SAC25520020 ™ - " 0 c 03 DAC30650021 30 65 21 21 B 032 | BA2B6037/C4
; DAC32720045 32 72 45 45 AB 0.64 32BWDO5
DAC25520042 25 52 42 42 B.CE 0.34 DAC34660037 34 66 37 37 CEI 043 |BAHB636114A| BAHB479399
DAC25520043 25 52 43 43 B 0.35 DAC35620040 35 62 40 40 B.D 041
DAC25550043 25 55 43 43 B.C 044 BAH0059 803837 DAC35650035 35 65 35 35 B.C.D.EI 0.4 BT2B4456208 | BAHB479399
s > > 2 = = v DAC35720028 35 72 28 28 A 0.5 |BAB441832AB| BAB441832AB
AC25 0088 - 3 2 3 & i DAC35720033 35 72 33 33 B.CD 0.58 BA2B446762B 446242
DAC25550048 25 55 48 48 cD 048 DAC35720034 35 72 34 34 B 0.58 VKBAS97 BA2B243207
DAC25560032 25 56 32 32 D 0.34 DAC35720037 35 72 37 37 B 0.6
DAC25560045 25 56 45 45 c 0.33 DAESS6A00370) 38 o4 37 37 0:34
DAC38700038 38 70 38 38 cD 048 68908A
DAC254650027/24 | 25.4 65 27 24 A 0.28 DAC38720040 P 2 0 20 5 a1
DAC25620048 25 62 48 48 B.C 0.45 DAC38740050 38 74 50 50 B.G 041 FW116 559192
DAC25680043 25 68 43 43 B.C 0.53 DAC39680037 39 68 37 37 | ceDF| 059 | BA2B309692 540733
e o = ) 5 5 o5 DAC39720037 39 72 37 37 CE 056 |BAHB311396B| 542186A
F DAC39740036 39 74 36 36 B.D 0.59 395418
DA i = 8 A3 & =8 DAC39740038 39 74 38 38 B 0.65 636096A
DAC27520045 27 52 45 45 B 0.34 DAC39740039 39 74 39 39 BCDE | 066 |BAHB636096A| 597557
DAC27520045/43 | 27 52 45 43 AB 0.36 801437 DAC40740036 40 74 36 36 BDF 0.62
SRea7E 30004 2 £3 a5 P - pov— DAC40740040 40 74 40 40 cD 066 |BAHB636060C| 559493
DAC40740042 40 74 42 42 D 0.68
SRR N 25 S 2 1 8D Gl DAC40750037 40 75 37 37 BCDF | 062 | BAHB63696E 559494
DAC28580044 28 58 44 44 B.C 048 DAC40750039 40 75 39 39 D 0.64
DAC28620042 28 62 42 42 AB 0.53 VKBA1346 | 574793 DAC40840038 40 84 38 38 B.D 0.97
DAC29530037 29 53 37 37 D 034 | BAH1026B | 801023A BAGATIIOO90N| 40 40 48 4% A 0.8
DAC41680040/35 41 68 40 35 A 0.68 |BTHB1866046| 517009
AR - o =0 2 ik 02 DAC42720038/35 42 72 38 35 B 0.55 VKBA3235 517008
DAC30540024 30 54 24 24 A 0.23 DAC42720038 42 72 38 38 B.F 0.56 [BAHB1866047A
DAC30550030/25 30 55 30 25 AB 0.27 ATVB-2 DAC42750037 42 75 37 37 B.C 0.6 BA2B633457 545495D
DAC30550026 30 55 26 2% D 0.26 DAC42760033 42 76 33 33 B.D 0.6 4668442AA 555801
DAC42760038 42 76 38 38 B.D 0.61 VKB1999
DAC30550032 30 55 32 32 DI 0.27 DAC42760039 42 76 39 39 B.D 0.62 579102
DAC30580042 30 58 42 42 B 04 DAC42780045 42 78 45 45 B.D 0.74 BAH-0069




W ikiEE M ERE SBIRASE

SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

it i 13 il

CHENGTONG WUZHOU

A
\ e Ie; 8 v o .
GBS SFE: VS : st A GAC...TES . C
| re e . | '
| 2 i * ‘
0| 3| - B -
| =l o - -
. !
. R
.. |
158
c o ‘ = A s C j
- - B BEIEEEE : H0/H g-*é}
BENEEIRE /5 Sliding contact surfaces:steel/steel .-
Sliding contact surfaces:steel/steel GEF 1 ES
AR ENEE T
IMERS ESTT ERS Dimensions(mm) Load ratings kN &
Dimensions(mm) Load ratings kN = Bearing — . Weight
= °
ke = Weight number d|lo|le|lc|T|a]|s]| "™ iiakedt skl I
Bearing number d o 5 - q i e o° Shibir | Aesifar ke min ~ | Dynamic| Static
% min | min ~ | Dynamic| Static GAC25T 25 | 47 | 15 | 14 | 15 | 42 | 06 1 25 75 149 0.148
GEF12ES 12 22 11 9 18 | 05 | 05 7 13 68 0.019 GACz28T 28 | 52 | 16 | 15 | 16 | 47 | 1 1 2 90 179 | 0186
GEFISES T 26 3 T 7 o5 | o5 5 20 102 | 002 GAC30T 30 | 55 | 17 | 15 | 17 [495]| 13 1 45 95 188 | 0.208
e 0 55 i6 1 58 | 0E | DE 2 & 168, | 0053 GAC32T 32 | 58 [ 17 [ 16 | 17 | 52 | 2 1 Z 106 211 0.241
GAC35T 35 [ 62 [ 18 | 16 | 18 [ 555 21 1 4 117 234 | 0.268
GEF22ES 39 37 19 16 32 05 | 05 6 43 217 | 0.085
GAC40T 40 [ 68 [ 19 [ 17 [ 19 [ 62 | 28 1 3.5 139 277 0.327
GEFARES i 42 £l 18 6 ) 03 | 05 3 32 2 016 GACA5T 45 | 75 | 20 | 18 | 20 [ e85 35 1 3 162 324 | o416
GEF30ES 30 | S0 ) 27 | 23 | 45 1 1 6 87 439 | 0225 GAC50T 50 | 80 | 20 | 19 | 20 | 74 | 43 1 15 | 185 370 | 0455
GEF35ES 35 55 30 26 50 1 1 5 110 552 | 0302 GAC55T 55 | 90 | 23 | 20 | 23 | 82 | 5 11 4 216 432 | 0.645
GEF40ES 40 62 a3 28 55 1 i 6 130 654 0.375 GAC60T 60 | 95 | 23 | 21 | 23 | 885 5.7 1.1 2.5 245 489 0.714
GEF45ES 45 72 36 31 62 1 1 5 163 816 | 0.598 GAC65T 65 | 100 23 | 22 | 23 [ 935 65 11 1 271 542 0.759
GEF50ES 50 80 42 36 72 1 il 5 220 1100 | 0.869 GAC70T 70 [ 110 25 | 23 | 25 [ 102 | 72 1.1 2 309 618 1.04
GEF55ES 55 90 47 40 80 1 1 6 272 1360 196 GAC75T 75 | 115 | 25 24 25 | 107 | 7.9 i 1 339 676 112
GEF60ES 60 100 =5 45 90 1 1 6 344 1720 775 GACS80T 80 125 29 255 29 115 8.6 1041, 35 387 772 1.54
GEFGSES e | 105 | 55 27 94 1 1 S 375 1870 | 205 GAC85T 85 | 130 | 29 [265| 290 [ 122 | 94 1.1 2 426 851 1.61
S el IRy =T 7 3 = T e TT GAC90T 90 | 140 | 32 | 28 | 32 [1285] 101 1= 35 | 474 948 2.09
GAC95T 95 | 145 | 32 | 295 32 | 135 | 108 15 5 525 1049 | 222
GEF75ES 75 | 120 | 64 55 | 110 1 1 5 510 2570 3.01
e T R = - : - = = GAC100T 100 | 150 | 32 | 31 | 32 | 141 [ 1186 15 0.5 577 1151 | 2.34
G : GAC105T 105 | 160 | 35 [ 325 35 | 148 | 123 2 2 634 1267 | 293
GEF85ES 85 | 135 | 74 | 63 | 125 | 1 1 6 669 | 3340 | 431 GAC110T | 110 | 170 | 38 | 34 | 38 | 155 | 13 5 3 695 | 1380 | 368
GEF90ES 90 | 140 | 76 65 | 130 1 1 5 718 3590 | 472 GAC120T 120 | 180 | 38 | 37 | 38 | 168 | 145 2 05 | 820 1630 | 3.97
GEF95ES 95 | 150 | 82 70 | 140 1 1 5 833 4165 6.05 GAC130T 130 | 200 | 45 | 43 | 45 | 188 | 18 25 1 1060 | 2130 5.92
GEF100ES 100 | 160 | 88 75 | 150 | 15 | 15 5 956 4780 | 743 GAC140T 140 | 210 | 45 | 43 | a5 [ 198 | 19 2.5 1 1120 | 2240 6.33
GEF110ES 110 | 170 | 93 | 80 | 160 | 15 | 15 5 1080 | 5440 | 854 GAC150T [ 150 [ 225] 48' | 46 | 48 | 211 [ 20 3 1 | 1280 | 2550 | 801
GEF115ES 115 | 180 | 98 | &5 | 165 | 15 | 15 | s 1190 | 5960 | 103 GACLOOT. [ 160 [l 240 | 51 | 49 ] 51 225} 20 = 1 | 1445 | 2900 | 942
GAC170T 170 | 260 [ 57 | 55 | 57 | 246 | 21 3 1 1780 | 3560 123
GEF120ES 120 190 105 90 175 15 15 6 1330 6690 124 GACLE0T 120 | 280 | 62 o1 52 | 260 | 21 3 1 5090 2170 174
GEF130ES 130 200 110 95 185 15 1.5 5 1490 7460 13.8 GAC190T 190 | 290 64 62 64 5k 26 3 0.5 2250 4490 182
GEF150ES 150 | 220 | 120 | 105 | 205 | 15 | 15 5 1820 | 9140 | 17.1 GAC200T 200|310 70 [ 66 | 70 | 290 | 26 3 1.5 | 2520 | 5040 | 225




IR £ W FEENERRSERAE

SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

VEEZETIW product category

ﬁyuﬁiﬁ?gﬂﬁ/cyﬁndrical roller bearing

(B A i - B 7

Cylindrical roller bearing

ﬁ?u;ﬁ‘z‘é *iiﬁ%im?%/single row full loaded cylindrical roller bearing

P

L ZATIMREERZEEEA, A SNEHE IR HR A LRSS BN
- BHIERER TR A S ERMR, RRSIFEAE;

- ERFBREER T AR GRS NRIREE, HRR T HREFRSNRERE
BIERTHATRMIEEA. FEMEEMMA.

Rﬂﬁ”iﬁ%&iﬁ?im:ﬁ/DoubIe row full loaded cylindrical roller bearing

Bt

- hERENE IReihRREEE S, AR ERE SHEK;
CRABMMOERT RURNSTRES, BEMAES;
| MERTSREERIEERS EAESEET;

- EREARRER RS,

@yu*fiﬁ%ﬁﬁ?(/%ur row cylindrical roller bearing
FENA
Bl #UR. TIAEL. BT, SRR, 58S,

Product characteristics

-This series of bearings mainly bear radial load. The bearing with rib in inner and outer ring can bear smaller axial load;
-Single row bearing is easy to disassemble and install;

“The cylindrical roller bearing with cage has a higher limit speed and a full loaded roller bearing has a higher bearing capacity;
Single row cylindrical roller bearings can be used as non positioning, semi positioning and positioning bearings.

Design advantages

Enhanced design improves bearing capacity, interchangeability and longer service life;

“The aptimized crown roller is used to optimize the stress distribution and improve the bearing life;
‘Improve the roller and raceway contact and lubrication state, more suitable for high-speed operation;
-Integral cage can be selected with high reliability,

Main applications

ITh W/ &~y

Electrical machinery, machine tools, engineering machinery, light industry machinery, paper machinery, textile machinery, etc.




Wik islE ME ks S RIRAS]

SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

8l ¢ 5% 13

PR TR

A 3 - = ML =
&1E & AR TR R ijﬁxiﬁl‘]/lkk, OFREN
WORK TOGETHER AND WIN-WIN DEVELOPMENT COMMUNICATION

THERE IS NO PERFECT INDIVIDUAL, ONLY PERFECT TEAM

Spherical Roller Bearings

PRt

- ZARFR AR Z R MMM SN, EBRTERANEZEEETS,
REFZ W EEA AR BT feRk F MR ;

- RERFRAOINGE, ATLGMEMSHAREZ BRBEIRE;

- ARRSRAHED, ERTSHETHE.

Wit

- IERELET, RS G RRERE

- ALRB SR F RIS, ML SIS,

- FREERRTAEEMTERT B, 26 TR SHBENSG;
- BRI RS HIRENTEE.

ETERA
e i, TRENE. BOREN. SR, HRNR. SREE,

Product characteristics

‘It is mainly used to bear the combined radial and axial load, the greater the contact of tapered roller bearing is,
The larger the axial load can bear;

"The single row tapered roller bearing is a separate type bearing. Its inner components and outer rings can be installed separately
The radial clearance and axial clearance of the bearing can be adjusted;

Tapered roller bearing generally adopts steel plate stamping cage, when the size is large, steel plate welded cage or steel pillar
solid cage is used

Structure and design
It includes single row tapered roller bearing, double row tapered roller bearing and four row tapered roller bearing. There are
standard designed metric bearing, British bearing and non-standard bearing designed according to different working conditions

to adapt to different application conditions.

Main applications
Large machine tool spindle, axle box, high power reducer, rolling mill, backup roll and work roll.




it sl & W inkid g E RS SBIRAE

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

i?’] ﬁ ?%ﬁﬂﬁkiﬂ 7/ Single row angular contact ball bearing

SHERT Overall dimensions BERENE D

RAEERD | o ma SHZRT Overall dimensions

e d [ o] & [1280]s4 BA] o T cor 3 e a [ o] & [nz 80 B

i mm kN | kv [ o | wmin | omin [ kg et mm

7900 AC 2| 6 03 015 | 2880 | 1250 | 147 | 40000 s6000] 0.009 | [7007¢ 62 | 14 1 06 | 19100] 13700] 150 | 17000] 22000 | 0173
7900C 22 | 6 03 015 | 3000 | 1520 | 141 | 48000 63000 0.009 | [72078 2 | 7| 1 06 | 20700] 20100 147 | 10000 | 14000 | 0287
e . 7000 A 2% | 8 03 015 | s3s0 | 2600 | 132 | 32000 43000 019 | [72078 P I BT I 06 | 27100 | 18400 149 | 7500 | 10000 0294
ﬁ ?ﬁﬁmiﬂzim EK 7000¢ 2 | 8 03 015 | 5300 | 2490 | 126 [ 45000] 63000 0021 | [7207¢ 72| 17| 1 06 | 30500 19900 14.0 | 15000 | 20000 | 032
72004 w| 3] e 06 03 | s400 | 2720 | 138 | 28000 38000 0.032 | [7307a g0 | 2| 1s 1 | 40000 26300 | 139 | 2000 | 10000 | 0.454
. 72008 0| s 06 03 | 5000 | 2500 | 144 | 20000] 28000 0032 | [73078 g0 | 2] 1s 1 | 36500] 24200| 147 | 7100 | 9500 | 0.474
Angu ar contact ball bEarlng 7200C T E 06 03 | 5400 | 2610 | 132 | 40000] sec00] 0036 | [7s08ac 62 | 12| os 03 | 14300| 11200 162 | 14000 28000 021
73004 35| u] os 0.3 | 9300 | 4300 | 122 | 20000] 26000 0053 | [ravsc 62 | 12| o8 03 | 15100 11700] 157 | 16000] 22000 | 0109
73008 s | ] os 03 | 8750 | 4050 | 125 | 18000] 24000 0054 | [7008a 68 | 15 1 06 | 19500 [ 15400 157 | 10000] 14000 039
7901AC 2 | & 03 015 | 3200 | 1770 | 152 | 38000 s3000| 0011 | [7008 68 | 15 1 06 | 20600 | 15900 154 | 15000 | 20000 | 0212
7901C 24 | 6 03 015 | 3350 | 1860 | 147 [45000] 63000 0.011 | [7208 a0 [ 8o [ 18| 12 06 | 35500 25100 146 | ss00 [ 13000 | 0375
70014 28 03 015 | ss00 | 2080 | 138 | 26000] 38000 0.021 | [72088 g0 | 18| 11 06 | 32000 [ 23000] 151 | 6700 [ 9000 | 0383
7001C 26 03 015 | sao0 | 2900 | 135 | 40000 se000| 0024 | [7208c g0 | 18| 11 06 | 36500 25200| 142 | 14000 29000 | 0418
72014 12| 32| w0] o 03 | 000 | 4050 | 131 | 26000] 34000 0037 | [r3osa s0 | 2] 15 1 | 49000 33000 | 140 | 7100 | 000 [ 0633
72018 32| 0] o8 03 | 7450 | 3750 | 138 | 18000 26000 | 0038 | |73088 s0 | 23| 1s 1 | as000| 30500 | 145 | 6300 | 8500 | 06a8
- 7201C 2 [ 10] os 03 | 7900 | 3850 | 125 [ 36000] s0000[ 0.041.| [7e09ac 68 | 12| o6 03 | 15100] 12700] 162 [ 12000 17000 | 013
FERRAFIE 7301 37 | 12 1 06 | 9450 | 4s00 | 127 | 18000] 24000 0.060 | [7a09c 68 | 12| o6 03 | 16000 13400 160 | 14000 20000 | 0229
. ﬁ‘éﬁ]ﬂffﬁ’féﬁﬂﬂmFﬂﬂﬁﬁiéﬁﬁfﬁéﬁ%mﬁﬁ, 73018 37 | 12 1 06 8850 | 4200 | 134 | 16000 | 22000] 0.061 | [7009A 75 | 16 1 06 | 23100 18700| 157 | 9500 | 13000 0.25
7902AC 2 | 7 03 015 | asso | 2530 | 148 | 32000] 43000 0015 | [7009c 75 | 16 1 06 | 24400 19300 154 | 14000 | 19000 | 0.269
- EER A, RBREEHEE; 7902¢ 2 | 7 03 015 | 4750 | 2640 | 145 | 38000 53000 0.015 | [72098 a8 || 11 06 | 39500 [ 28700 147 | 8500 [ 12000 | 0411
- LIRS, 70024 2| 9 03 015 | 6100 | 3450 | 145 [ 24000] 32000 0030 ] [72008 8 | 19| 11 06 | 36000 26200] 154 | 6300 | 8500 | 0421
7002¢ R K 03 015 | 6250 | 3400 | 141 | 34000 48000 0.034 | [7209c g5 | 19| 11 06 | 41000 | 28800 142 | 12000 | 17000 | 0468
< RE. #REND; 72020 15[ 35| ] es 03 | 8650 | 4650 | 138 | 22000 30000 0045 | [r309a w00 | 25 [ 15 1 | 63s00] a3s00| 137 | 6300 | ssoo | oses
s s . . 72028 35 | 1] os 03 | 7950 | 4300 | 144 | 16000| 22000 0046 | [73008 wo | 25 [ 15 1| sssoo| 40000 | 143 | se0o | 7s00 | 069
* BT AR R R BER E — 7T IR0, 38 R A P 1) ) 7202¢ s u] os 0.3 | 650 [ 4550 | 132 | 32000 45000 | 0052 | [7e10aC 72| 12| os 03 | 15900 14200 164 | 11000 15000 | 0132
73024 a2 [ 13 1 06 | 13400 | 7100 | 130 | 16000 22000 0.084 | [710¢ 72 | 12| o6 03 | 16900 15000 162 | 13000 18000 013
73028 42 | 13 1 06 | 12s00] 6600 | 136 | 14000] 19000 0086 | [70108 20 | 16 1 05 | 24500 | 21100] 160 | 8500 | 12000] 0263
5%t 7903AC 0| 7 03 015 | a7so | 2800 | 151 | 30000 40000 0017 | [o10¢ 80 | 16 1 06 | 26000 | 21900 155 | 12000 17000 | 0293
= ) + . 4 3 7903C EREE 03 015 | so000 | 2040 | 148 | 34000 48000 | 0017 | [72108 so | o[ 20| 12 06 | 41500 31500 150 | 8000 | 12000 | 0.466
RRSIMENAL. BIREMRER, BXRARAMIRER, NoIREMR 70034 35 [ 0] 03 015 | 6400 | 3800 | 145 | 22000[ 30000 0.040 | [72108 0| 20| 11 06 | 37500 28600 154 | 5600 [ 8000 | 0477
A AN SRR R AR S 7003C 35 [ 0] 03 015 | 6600 | 3800 | 145 | 32000] a3000] 0044 | [7220¢ 9 | 20| 11 06 | 43000 31500] 145 | 12000] 16000 | 0526
72034 17|40 12] os 03 | 10s00] 6000 | 128 | 20000] 28000 0.067 | [73108 o | 27 2 1 | 74000 s2000| 138 | seoo | 7500 | 11
72038 40 | 12] o6 03 | 9950 | ss00 [ 144 | 14000] 15000 0068 | [73108 10 | 27 2 1| 68000 | 4so00| 144 | sooo | e700 [ 112
FE/RA 7203¢ 40 [ 12] os 03 | 10000] ssso [ 132 | 28000 38000 | 0075 | [ram1ac 80 | 13 1 06 | 18100 | 16800 164 | 20000 14000 | 0.184
73034 47 | 14 1 06 | 15000 8650 | 131 | 14000 19000 0216 | [re11c 80 | 13 1 06 | 19100 17700 163 | 12000 16000 | 0.182
MR BN SRR, BITHME. 73038 47 | 14 1 06 | 14800 8000 | 127 | 13000 17000 0118 | [ron1a o | 18] 11 06 | 32500 27700] 158 | 7500 | 12000 0391
7904AC K 03 015 | 6600 | 4050 | 152 | 24000] 32000 0036 | [r011¢ g0 | 18] 11 06 | 34000 28600 154 | 11000 15000] 0.3
Product characteristics 7904C 37 | s | 03 | o015 | 6950 | 4250 | 145 | 28000] 38000 0036 | [7211A ss [100 | 21 | 15 1| s1000] 3s500| 152 | 7100 | 10000 ] 0613
. i . ’ 70044 42| 12| os 03 | 10800 6600 | 145 | 18000 24000 0068 | |72118 00 [ 21| 18 1 | aes00] 36000 | 154 | s300 | 7100 [ 0627
It can bear radial and axial combined load or pure axial load at the same 7004C 42 | 12| o6 0.3 | 11200 6550 | 140 | 26000] 36000 0076 | [r2110 00| 2| 15 1| 53000 40000 145 | 10000] 14000 [ 0688
time; 7204A 20|47 ] 14 1 06 | 14500 8300 | 128 | 17000 22000 0206 | [73114 120 [ 2 2 1 | sso00| e1sc0| 139 | sovo | 6700 | 142
72048 R 1 06 [ 13300 7650 | 144 [ 12000] 16000] 0209 ] [r3128 120 | 29 2 1 | 79000 ] sesoo| 144 | asoo | e300 | 145
*Small running resistance and high limit speed; 7204C a7 | 14 1 06 | 14600| 8050 | 132 | 24000 34000 0118 | [7s124C 60 | 85 | 13 1 06 | 18300 17700 165 | 9500 | 13000 | 0197
1 : . 73044 s2 15| 1 06 | 18700 | 10400 | 132 | 13000 17000 | 0246 | [7o12C 85 | 13 1 06 | 19400 18700 164 | 11000 | 15000 | 0.194
High rotation accuracy; 73048 s2 | 15| 12 06 | 17300 9650 | 139 | 11000] 15000] 015 | [ro1za 95 | 1] 11 06 | 33000 29500 160 | 7100 | 10000 | 0417
-Low noise and vibration; 7905AC 2| s 03 015 | 7450 | s150 | 156 [ 20000] 28000 0043 | [7012 95 | 18 11 06 | 35000 30s00 156 | 10000 [ 14000] 026
. . ) . . 7905C 42| s 03 015 | 7850 | s400 | 155 | 24000] 34000 0042 | [7212 me | 22 | 1s 1 | 62000 | a8sco| 149 | 6700 | avo0 | 0798
-Single row angular contact ball bearings can only bear one direction of axial 70054 a7 | 12] os 03 | 11300] 7400 | 151 | 16000] 22000 0079 | [72128 mo | 2 | 1s 1 | s6000] aasoo| 153 | 4800 | e300 [ 0815
force, usually used in pairs to balance the axial force. 7005¢ 47| 12| o8 03 [ 11700 7400 | 147 | 22000] 30000] 0089 | [r212¢ wme [ 2| 15 1 | 64000| 49000 144 | 9500 | 13000 | 0.889
72054 2| s2 | 15 1 06 | 16200 | 10300 | 144 | 15000] 20000| 013 | [73128 T EN R 11 | 98000 | 71500] 139 | 4800 | 6300 | 174
72058 sz | s 1 06 | 14800 9400 | 150 | 20000] 14000] 0232 | [r2128 130 3| 21 11 | s0000| esseo] 144 | 4300 | seo | 178
Structure and design 7205C s2 | 15 1 06 | 16600 | 10200 140 | 22000] 28000 0243 | [7a13ac 65 | so | 13 1 06 | 19100 19400 154 | s000 | 12000 | 0211
73054 62 [ 17 ] 11 06 | 26200 | 15800 | 135 | 10000 14000 0235 | [7913¢ o0 | 13 1 06 | 20200 20500 1655 | 10000 | 14000 | 0.208
Provide a variety of structural types: single row angular contact ball bearing, 73058 62 | 17| 11 | o6 | 24400 24600| 141 | 000 [ 13000] 0241 ] [0138 00| 18 | 11 | o6 |3z5000]33000] 162 | 6700 | 9500 | 0ass
2 3 - 7906AC a7 | s 03 015 | 7850 | s9s0 | 161 | 18000] 24000 0049 | [r013¢ RS 06 | 37000 34500 159 | 10000] 13000 | 0493
paired angular contact ball bearing, double row angular contact ball bearing 7906C a7 | 9 03 015 | 8300 | 6250 | 159 | 22000] 28000 0049 | [72134 20 [ 23 | 15 1 | 70500 ssoco| 150 | eouo | ssco | 103
Bearings and four point contact ball bearings, etc. 7006A ss | 13 1 06 | 14500 10100 | 153 | 13000] 18000 0116 | [72138 120 2| 15 1 | 63s00] s2s00| 154 | 4300 | s000 | 105
7006C ss | 13 1 06 | 15100 10300 149 | 19000] 26000 | 0234 | [7213¢ 120 3| 15 1 | 73000] s8s00| 146 | 9000 | 12000] 124
72064 0 [ 62| 16 1 06 | z2500] 14800 144 | 12000 17000 | 0297 | [7313a o | 13| 21 11 |111000f 82000] 140 | 4300 | 6000 | 212
Main applications 72068 62 | 16 1 06 | 20500 | 13500 149 | ss00 | 12000] 0202 | [73138 IERES 11 |102000f 75500] 145 | 3800 | 5300 | 217
7206C 62 | 16 1 06 | 23000| 14700 140 | 18000 24000 0222 | [7s14ac 70 | 00| 16 1 06 | 26500 26300 165 | 8000 | 12000 0341
Machine tools, precision instruments, fluid conveying machinery, light 73064 72 | 18 11 06 | 33500 20000 136 | 9000 | 12000 | 0.346 | |7914C 100 | 16 1 06 | 28100 27800 164 | 9500 | 13000 ] 0338
5 i 73068 72 [ w] 1 06 | 31000 [ 19300 142 | 8000 | 11000] 0354 | [ro14 mo | 20 [ 12 06 | 44000 41500 160 | 6300 | 8500 | 0625
industry machinery, etc. 7907AC ss | 0] o6 0.3 | 11400 8700 | 161 [ 15000] 20000] 0074 | [ro14c | 2 | 11 06 | 47000 43000 157 | 000 | 12000 | 0698
7907¢ 35 [ ss | w0] os 03 | 12100] 9150 | 157 | 18000 24000 0074 | [r224n 125 | 24 | 15 1 | 76s00] e3s00| 150 | se0o | soco | 111
70074 62 | 14 1 06 | 18300] 13400 15.4 | 12000] 16000 [ 0353 | [72148 125 [ 24 [ 18 1 | 69000 ] ssoco| 155 | 4000 | seco | 114




it i i WFRRBENERRSERAS

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

B RHER T HANATIRS B EHRTHANTR

Metric series of single row tapered roller bearings Metric series of single row tapered roller bearings
BE o - Rg == =
o Bfﬁg i SMEIRS ( mm ) Dimension ﬁf::‘t’fﬁ :fiffi = 5 Bfﬁg e SMEURT ( mm ) Dimension ﬁf:fﬁﬁ fffi?ﬂ &
= s -2 dynamic load Avaoh o msiee = dynamic load Weigh
Mo MUTOR [ eiemal o b B c T | Rmin | rmin {oog crkm| coreny | K9 Ho| Wi .| o L B £ T [ Rmin | rmin {yoag crem| corgny | €9
29 | 32944 |2007944E| 220 300 51 39 51 10 11 | 33118 [3007718E[ 90 150 45 35 45 2.5 2 2521 414.7 313
30 | 32948 |2007948E| 240 320 51 39 51; 10.7 12 | 33119 ([3007719E] 95 160 49 38 49 2.5 2 2989 498.2 3.94
31 | 32952 |2007952E| 260 360 63.5 48 63.5 18.6 13 | 33120 [3007720F| 100 165 52 40 52 2.5 2 3094 529.2 4.31
32 | 32956 [2007956E| 280 380 63.5 48 63.5 19.7 14 | 33121 [3007721Ef 105 175 56 44 56 25 2 351.8 607.8 5.29
33 | 32960 |2007960E| 300 420 76 57 76 315 15 | 33122 [3007722E] 110 180 56 43 56 2.5 2 373.2 639.1 5.5
34 | 32964 |2007964E[ 320 440 76 57 76 333 16 | 33124 [3007724E[ 120 200 62 48 62 2.5 2 448.2 779.1 7.68
35 | 32968 [2007968E| 340 | 460 | 76 57 76 34.8 33273
3307R5%! 1 33205 |3007205€] 25 52 22 18 22 1 1 471 55.8 0.216
1 33005 |3007105E] 25 47 17 14 17 0.6 0.6 325 42.5 0.129 2 33206 |3007206E| 30 62 25 19.5 25 1: 1 63.8 754 0.342
2 33006 |3007106E] 30 55 20 16 20 1 i 43.7 58.8 0.201 3 33207 |3007207E| 35 72 28 22 28 1:5 1.5 82.6 101.7 0.515
3 33007 |3007107E[ 35 62 21 17 21 1 1 46.9 63.3 0.254 4 33208 |3007208E] 40 80 32 25 32 1.5 1.5 105.8 135.5 0.715
4 33008 |3007108E] 40 68 22 18 22 1 i 60.2 79.6 0.306 5 33209 |3007209E| 45 85 32 25 32 1.5 1.5 109.5 145.1 0.771
5 33009 |3007109E] 45 75 24 19 24 1 1 726 100.4 0.398 6 33210 |3007210E] 50 90 32 24.5 32 1.5 1.5 112.9 154.6 0.825
6 33010 |3007110EF] 50 80 24 19 24 1 1 76.8 110.9 0.433 7 33211 |3007211E] 55 100 35 27 35 2 1:5 1431 196.7 1.15
7 33011 |3007111EF] 55 90 27 21 27 15 15 94.9 144.7 0.64 8 33212 |3007212E] 60 110 38 29 38 2 1.5 165.8 2314 1.51
8 33012 |3007112E] 60 95 27 21 27 15 15 96.7 151.1 0.691 9 33213 |3007213E| 65 120 41 32 41 2 1.5 202.2 281.6 1.99
9 33013 |3007113E] 65 100 27 21 27 1.5 15 100.9 163.6 0.723 10 | 33214 (3007214E| 70 125 41 32 41 2 1.5 208.6 298.3 2.1
10 | 33014 |3007114E 70 110 31 25.5 31 1.5 15 1344 2004 1.07 11 | 33215 [3007215E] 75 130 41 31 41 2 15 207.1 299.7 2.17
11 | 33015 |3007115EF 75 115 31 255 31 15 15 1331 221.2 112 12 | 33216 (3007216E| 80 140 46 35 46 2.5 1.5 2457 361.8 2.83
12 | 33016 |3007116E| &0 125 36 295 36 15 15 181.9 304.3 163 13 | 33217 [3007217E| 85% 150 49 37 49 2.5 2 281.7 415.7 3.52
13 | 33017 |3007117E &S 130 36 29.5 36 15 15 180.4 305.5 1.69 14 | 33218 [3007218E| 90 160 55 42 55 2.5 2 3306 499.7 4.55
14 | 33018 |3007118E] 90 140 39 325 39 2 15 232.6 388.6 2.2 15| 33219 [3007219Ef 95 170 58 44 58 3 25 3774 568.4 5.48
15| 33019 |3007119EF 95 145 39 325 39 2 15 231 389.9 2.26 16 | 33220 [3007220E| 100 180 63 48 63 3 2.5 436.5 666.2 6.71
16 | 33020 |3007120Ef 100 150 39 325 39 2 15 229.5 391.2 2.33 17 | 33221 (3007221E] 105 190 68 52 68 3 2.5 497.8 770.5 8.12
17 | 33021 |3007121E| 105 160 43 34 43 2.5 2.5 264.7 453.5 3.003 77. 78F&5I
18 | 33022 |3007122Ef 110 170 47 37 47 2:3 2 288.7 502.7 3.74 1 30612 7712E 60 120 46 2.22
19 | 33024 |3007124E| 120 180 48 38 48 3 2 298.2 535.1 4.07 2 30613 7713E 65 150 54 4.5
20 | 33026 |3007126E 130 200 55 43 55 25 2 400.6 7274 6.15 3 | 33714X2| 7714R 70 120 45 1.89
21 | 33028 |3007128E[ 140 210 56 44 56 2.5 2.5 407 755.5 6.584 4 30616 7716E 80 130 32 1.6
| 22 | 33030 [3007130F] 150 225 59 459 869 7.98 5 [33218x2| 7718E 920 160 50 3.83
331%31 6 | 30621 | 7721 | 105 | 215 | 78 126
1 33108 |3007708E[ 40 75 26 20.5 26 15 15 84.7 110.3 0.486 7 30623 7723E 115 190 49 5.13
2 33109 |3007709E] 45 80 26 20.5 26 1.5 1.5 87.1 117.2 0.535 8 | 30628 7728 140 230 58 8.97
3 33110 |3007710E[ 50 85 26 20 26 1.5 1.5 89.3 1241 0.572 9 7806 32 72 29.75
4 33111 |3007711E[ 55 95 30 23 30 15 15 1145 164.8 0.843 10 7808 40 80 21.5 0.45
5 33112 |3007712E[ 60 100 30 23 30 i5 15 117.1 173.2 0.895 11 7809 45 90 38.5 0.846
6 33113 |3007713E 65 110 34 265 34 15 15 142.8 2204 13 12 [ 33113X2| 7813E 65 100 30.5 1.1
7 33114 |3007714E] 70 120 37 29 37 2 15 1721 267 1.7 13 | 33114X2| 7814E 70 120 23 1.33
8 33115 |3007715F 75 125 37 29 37 2 15 176.1 279.6 1.78 14 | 30615 7815E 75 130 41 2.17
9 33116 |3007716E[ 80 130 37 29 37 2 15 179.6 2923 1.87 15 | 33216X2| 7816E 80 140 45 2.74
10 | 33117 |3007717€] &S 140 41 32 41 25 2 215.7 354.2 243 16 | 30617 7817E 85 157 47.65 3.95




it i i WFiREENERESERAE

EHEN_ETI]NE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.
= LYY i . i = - . . i
B A EFE T 7% /cylindrical roller bearing B3 B FEE _jl‘imﬁ(/cyllndncal roller bearing
BEER 1BEREEE AT (KN) EARS RPREEIE EERA (KN )
= g 5 3 s 3 . = B
HARELS Principal dimensions Speed ratings | Basic load ratings %%KE)E HERRS Principal dimensions Speed ratings | Basic load ratings ’(%KE)E_V
i . — - - g
BearingNo. wiz | sz | =E | s B (KN [ (KN | BearingNo. mz | 2 | mE | . HO[F KN (8 (KN [ e
d D B Grease Qil Dynamic| Siatic d D B Grease Qil Dynamic| Siatic
N/NJ/NU/NUP/NF202E/EM | 15 35 11 | 15000 | 20000 12 14 0.008 N/NJ/NU/NUP/NF303E/EM | 17 47 14 | 13000 | 15000 | 24.646 | 21.164 | 0.1387
N/NJ/NU/NUP/NF203E/EM | 17 40 12 | 18000 | 18000 | 176 14.6 0.009 N/NJ/NU/NUP/NF304E/EM | 20 52 15 | 14000 | 17000 | 23.1 19.2 0.149
N/NJ/NU/NUP/NF204E/EM | 20 47 14 | 17000 | 20000 | 16.6 13.9 0.109 N/NJ/NU/NUP/NF30SE/EM | 25 e 7 agon | 12606 | 385 358 098
N/NJ/NU/NUP/NF205E/EM | 25 52 15 11000 | 14000 | 275 26.8 0.155
N/NJ/NU/NUP/NF306E/EM | 30 72 19 8000 | 10000 | 49.2 51.3 0.3
N/NJ/NU/NUP/NF206E/EM | 30 62 16 8500 | 11000 36 356 0.24
N/NJ/NU/NUP/NF307E/EM | 35 80 21 7000 | 9000 62 63.2 0.54
N/NJ/NU/NUP/NF207E/EM | 35 72 17 7500 | 9500 46.5 48 0.36
N/NJ/NU/NUP/NF208E/EM | 40 20 P 2000 | B0eb B 55 o N/NJ/NU/NUP/NF308E/EM | 40 90 23 6300 | 8000 76.8 778 071
N/NJ/NU/NUP/NF209E/EM | 45 85 18 6300 | 8000 585 638 053 N/NJ/NU/NUP/NF309E/EM | 45 100 25 5600 | 7000 93 98 0.98
N/NJ/NU/NUP/NF210E/EM | 50 90 20 6000 | 5000 61.2 69.2 0.58 N/NJ/NU/NUP/NF310E/EM | 50 110 27 5300 | 6700 105 112 131
N/NJ/NU/NUP/NF211E/EM | 55 100 21 5300 6700 80.2 95.5 0.63 N/NJ/NU/NUP/NF311E/EM | 55 120 29 4800 6000 128 138 17
N/NJ/NU/NUP/NF212E/EM | 50 110 22 5000 | 6300 89.8 102 0.95 N/NJ/NU/NUP/NF312E/EM | 60 130 31 4500 | 5600 142 155 2.07
N/NJ/NU/NUP/NF213E/EM | 65 120 23 4500 | 5600 102 118 1.15
N/NJ/NU/NUP/NF313E/EM | 65 140 33 4000 | 5000 170 188 2.58
N/NJ/NU/NUP/NF214E/EM | 70 125 24 4300 | 5300 112 134 1.34
N/NJ/NU/NUP/NF314E/EM | 70 150 35 3800 | 4800 195 220 3.04
N/NJ/NU/NUP/NF215E/EM | 75 130 25 4000 | 5300 112 135 1:72
N/NJ/NU/NUP/NF216E/EM | 80 — o5 ze00 | dam0 — = 76 N/NJ/NU/NUP/NF315E/EM | 75 160 37 3600 | 4500 228 260 3.88
N/NJ/NU/NUP/NF217E/EM 85 150 28 3600 4500 158 192 21 N/NJ/NU/NUP/NF316E/EM 80 170 39 3400 4300 245 270 4.3
N/NJ/NU/NUP/NF218E/EM | 90 160 30 3400 | 4300 170 203 2.63 N/NJ/NU/NUP/NF317E/EM | 85 180 41 3200 | 4000 265 280 5.25
N/NJ/NU/NUP/NF219E/EM | 95 170 32 3200 4000 192 214 3.06 N/NJ/NU/NUP/NF318E/EM | 90 190 43 3000 3800 290 320 6.24
N/NJ/NU/NUP/NF220E/EM | 100 | 180 34 3000 | 3800 208 226 345 N/NJ/NU/NUP/NF319E/EM | 95 200 45 2800 | 3600 320 350 7.27
R/BHRLNUR NP2 Le/EN | 105 A0 A8 =200 | #e80 =4 i i N/NJ/NU/NUP/NF320E/EM | 100 | 215 47 2400 | 2900 390 440 7.8
N/NJ/NU/NUP/NF222E/EM | 110 | 200 38 2600 | 3400 239 342 5.36
N/NJ/NU/NUP/NF321E/EM | 105 | 225 49 2300 | 2800 430 510 11
N/NJ/NU/NUP/NF224E/EM | 120 | 215 40 2400 | 2900 345 435 5.85
N/NJ/NU/NUP/NF226E/EM | 130 | 230 e a0 | 2800 76 e = N/NJ/NU/NUP/NF322E/EM | 110 | 240 50 2200 | 2700 460 540 12
N/NJ/NU/NUP/NF228E/EM | 140 | 250 17 5300 | 2700 365 260 5 N/NJ/NU/NUP/NF324E/EM | 120 | 260 55 2000 | 2600 535 615 14
N/NJ/NU/NUP/NF230E/EM | 150 | 270 45 2200 | 2500 395 520 117 N/NJ/NU/NUP/NF326E/EM | 130 | 280 58 1900 | 2300 590 690 18
N/NJ/NU/NUP/NF232E/EM | 160 | 290 48 1900 | 2300 450 600 12 N/NJ/NU/NUP/NF328E/EM | 140 300 62 1800 | 2200 675 810 203
N/NJ/NU/NUP/NF234E/EM | 170 | 310 52 1800 | 2200 495 665 18 N/NJ/NU/NUP/NF330E/EM | 150 | 320 65 1600 | 2000 735 895 26
N/NJ/NU/NUP/NF236E/EM | 180 320 52 1700 | 2100 510 685 19.2 N/NJ/NU/NUP/NF332E/EM | 160 220 . 1400 | 1800 20 a5 s
N/NJ/NU/NUP/NF238E/EM | 190 340 55 1600 | 2000 610 810 21.6
N/NJ/NU/NUP/NF334E/EM | 170 360 72 1200 | 1600 910 1000 39
N/NJ/NU/NUP/NF240E/EM | 200 360 58 1400 | 1800 630 860 28
NRLRLNUE/NFaRaEEN | 220 || @D e e | dc =y o 5 N/NJ/NU/NUP/NF336E/EM | 180 380 75 1000 | 1400 975 1150 44
N/NJ/NU/NUP/NF248E/EM | 240 | 440 73 1000 | 1100 770 1100 51 N/NJ/NU/NUP/NF338E/EM | 190 | 400 78 900 1300 1045 1265 50
N/NJ/NU/NUP/NF252E/EM | 260 480 80 900 1000 955 1400 70 N/NJ/NU/NUP/NF340E/EM [ 200 420 80 800 1000 1130 1340 57




it i i WFiREENERESERAE

EHENI_STIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.
i Il 3% < 7= B8 &} 1R = CC/CA/MB/MA/E/E1 1 Ui 5% = F= 58 &4 18 = CC/CA/MB/MA/E/E1
gning : gning . ; ) g
.= =

I r r S
- Vz
o o CA [V uB 7
= — — — = g LT = [l I | = = =
_ . SRR it
e _ ETT ija.a] bz Mounting Dimensions(mm) | Weight
[z Bearing Dimensions (mm) Load Ratings(Kn) (RPM) K
| d D B Cr Cor Grease Qil Min Max Max

o s B 77 22205 | 25 52 18 40 42 8100 | 10000 30 46 1.0 017

22206 | 30 62 20 53 59 5600 | 6800 36 56 1.0 030

22207 | 35 72 23 79 87 4700 | 5800 42 65 1.0 0.44

T - 22208 | 40 0 23 81 94 4600 | 5600 47 73 1.0 0.51

me . Re s R Mounting Dimensions(mm) | weight 22209 | 45 85 23 85 100 | 4200 | 5200 | 52 78 10 | 061
Bearing Dimensions (rm) Load Ratings(kn) (REM) 5 S (kg) 22210 | 50 90 23 87 108 | 3900 | 4800 | 57 83 10 | 088

a a ra

No - . 22211 | 55 100 25 105 129 | 3500 | 4300 64 91 15 0.82
d b B cr Cor | Grease | Ol Min Max | Max 22212 | 60 110 28 126 170 | 3200 | 4200 69 101 15 121

21304 | 20 52 15 32 32 6100 | 7500 27 45 1.0 0.17 22213 | 65 120 31 155 201 | 2800 | 3500 74 111 15 1.62
1305 | 25 p 7 - s 200 | 5800 P . o 025 22214 | 70 125 31 163 211 | 2700 | 3300 79 116 15 1.70
22215 | 75 130 31 167 222 | 2500 | 3200 84 121 15 1.80

21306 30 72 19 58 64 4400 | 5800 37 65 1.0 0.43 22216 80 140 33 180 245 2300 | 3000 90 130 2.0 221
21307 35 80 21 65 75 4200 5400 44 71 15 052 22217 85 150 36 216 286 2200 2800 95 140 20 2.85
T = = = 5 e = = T = 22218 | 90 160 40 247 332 | 2000 | 2600 | 100 150 2.0 3.50
- : 22219 | 95 170 43 286 391 | 2000 | 2400 | 107 158 2.1 4.25

21309 | 45 100 25 106 118 | 3400 | 3800 54 91 15 1.03 22220 | 100 180 46 319 438 | 1800 | 2400 | 112 168 21 4.90
910 | 50 570 5 Tod 7% | 300 | 4600 P 106 50 0 22222 | 110 200 53 417 592 | 1500 | 1900 | 122 188 2.1 7.50
22224 | 120 215 58 484 698 | 1400 | 1800 | 132 203 2.1 9.00

21311 | 55 120 29 146 175 | 2800 | 3400 65 110 20 168 22226 | 130 230 64 567 834 | 1200 | 1600 | 144 216 25 | 1130
21312 | 60 130 31 167 201 | 2600 | 3300 72 118 21 2.00 22228 | 140 250 68 647 958 | 1100 | 1600 | 154 236 25 14.60
| s e o oo P R p— = o 1 porm 22230 | 150 270 73 760 1130 | 950 | 1300 | 164 256 25 1845
22232 | 160 290 80 850 1280 | 950 | 1200 | 174 276 25 2230

21314 70 150 35 218 276 2200 | 2900 82 138 2.1 3.20 22234 | 170 310 86 975 1500 950 1200 188 292 3.0 2845
21315 75 160 37 245 311 2000 2800 87 148 21 376 22236 180 320 86 1010 1590 8001 1000 198 302 3.0 30.00
e | a0 =5 e e = | 550 | 2 = 5 53 e 22238 | 190 340 92 842 1555 | 750 | 1050 | 208 322 3.0 35.80
: : 22240 | 200 360 98 947 1790 | 700 900 218 342 30 | 47.00

21317 | 85 180 41 307 397 1800 | 2200 99 166 25 530 22244 | 220 400 108 1250 | 2280 | 950 | 1300 | 238 382 3.0 61.80
1318 | 90 190 23 230 123 1600 | 2200 | 102 76 55 620 22248 | 240 440 120 | 1820 | 2750 | 900 | 1200 | 258 422 3.0 85.30
22252 | 260 480 130 1900 | 3600 | 850 | 1100 | 282 458 40 | 11000

21319 | 95 200 45 366 500 | 1700 | 2200 | 109 186 25 710 22256 | 280 500 | 1301 | 1990 | 3600 | 800 | 1000 | 302 478 40 | 126.00
21320 | 100 215 47 397 546 | 1600 | 2000 | 114 201 2.5 8.90 22260 | 300 540 140 | 2310 | 4750 | 670 850 322 518 40 | 143.00
e e — - 50 - o0 | om | 1o 1L pom o 22264 | 320 580 150 | 2490 | 4550 | 650 850 342 558 40 | 17500
22272 | 360 650 170 | 4200 | 6200 | 400 550 248.00

21322 | 110 240 50 460 635 1400 | 1800 | 124 226 25 11.82 52276 | 380 700 775 | 2500 | 6500 | 2002 | 550 583.00




@ ik iE 5 il WERikEENE RS ERAS

CHENGTONG WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.
el s .
i 5” ﬁ E’fﬁﬂﬁgﬁ 7?/ Single row angular contact ball bearing L] ,'f—I_" %ﬁﬁﬂ&ﬁ J—fk/ Four point contact ball bearing
SHERT Overall dimensions AR nn SR Overall dimensions HEEEOG e HRIERE Basic rated load AR BRBREEE Limit speed
2 B0 sa | o | cCor [ [ i | e oo 2 e B o | cor ] T2 e e B model EART Basic dimensions [ - = P R
e e e I T e e e B o S R 8 Oanic]_ Bt | Faiweosint | piggecin | miggeem || ER
Wb > |omis | omin ] ks Uit} Fimin: | el | ) N d ] D I B Cr Cor Pu Grease speed | O lubrication speed
- . : = = L - =
7214C 125 | 24 15 1 | 79500 e4s500| 146 | 8500 | 11000] 124 | [7922aC 150 | 20 11 06 | 49000 s6000| 164 | 5300 | 7100 | 0877 A FTELSE N KN N " 7 .
T314A 7 |50 | 35| 2t 11 |125000] 93500 | 142 | 4000 | 5300 | 26 | |7e22¢ 0| 20| Lt 06 | 52000] 59500] 165 | 6300 | 8500 | 0867 R r/min r/min g
73148 150 [ 35 | 21 11 [114000] se000 | 145 | 3600 | sooo | 265 | [7022a 0 | 28 2 1 [9esoo] 9ss00] 159 | a000 | s300 | 228 Q1202N2M Q1202M 15 35 11 12.7 8.3 0.36 25000 36000 0.062
7915AC 105 | 16 1 06 | 26500 27700 165 | 7500 [ 10000 0355 | [re22¢ 170 | 28 2 1 |106000]104000] 156 | s600 | 8000 | 226 QJ203N2M 01203M 40 12 15.9 106 0.45 21000 30000 0.082
7915¢ 105 | 16 1 06 | 28600 29300 165 | 000 [12000] 0357 | 72224 1mo 200 38 | 21 11 [170000|158000] 152 | 3600 [ 4s00 | aas Q1303NZM Q1303M 17 47 14 234 15 0.64 20000 28000 0.14
70154 us | 20 | 1t 06 | 45000] 43500 161 | 6000 | 8000 | 0661 | [72228 200 | 38 | 21 11 | 154000 144000] 154 | 2600 | 3400 | 458 QJ304N2M 0120aM 20 3 15 R 216 0.85 17000 54000 018
7015¢ s | 20 | 11 06 | 48000 45500| 159 | &500 | 12000 | 0748 | [7222¢ 200 | 38 | 21 11 |176000[160000] 145 | s000 | 7100 | 51
72150 s [10] s | 1s 1 [76000] easoo| 152 | se00 | 7500 | 119 ] [73224 240 | so 3 11 |z20000| 215000 142 | 2600 | 3400 | 112 QJ205N2M QJ205M 25 52 15 27 212 083 15000 22000 0.16
72156 w0 [ s | us 1 [ essoo] ssson| 156 | 3s00 | s3e0 | 122 | [73228 240 | so 3 11 [z01000{197000] 148 | 2200 | 3000 | 112 QJ305N2M QJ305M 62 17 39 28 118 14000 20000 0.29
7215C 1w | 25 [ 1s 1 [s30001] 70000 | 148 | so0o [ 11000] 136 | [7924ac s | 2| 11 06 | e7s00] 77000] 165 | 4800 | e300 | 115 QJ206N2M 0J206M 62 16 37.5 30.5 12 13000 19000 0.24
73150 60 | 37 | 21 11 | 136000] 106000] 140 | 3800 | s000 | 3.3 | [7e24c 165 | 22 | 11 06 | 72000] 81000] 164 | ss00 | 7500 | 115 Q1306N2M QJ306M 30 72 19 53 415 163 12000 17000 0.42
| Geiet s [ e e o | et 7 7 eeon (e T N P B - - T 0 B
1 1 1 1 7. 164 1 pl 4A 1. 21 a0t 1 11 pt 1 1 &
7916¢ 10 | 16 1 05 | 20000] 30500 165 | ss00 | 12000 0376 | [72248 2s [ 40 [ 21 11 |165000162000] 154 | 2400 | 3200 | 626 QJ307N2M Q307M 80 21 64 51 196 11000 13000 0.57
70168 15 | 22 | 11 06 | s5000 | s3000| 160 | 5600 | 7500 | 08 | [7320a 260 | ss 3 11 |246000[252000] 142 | 2200 | 3000 | 125 QJ208N2M QJ208M 40 80 18 56 49 19 11000 15000 0.45
7016C ws| 2| 11 06 | sesoo] sssoo| 157 | so00 | 11000 o966 | [73248 260 | ss 3 11 |225000[231000] 148 | 2000 | 2300 | 144 QJ308N2M QJ308M 90 23 78 64 2.45 9800 14000 0.78
72167 80 [140 ] 26 2 1 | 89000 76000 154 [ s000 | 7100 | 146 | [rs2sac w0 [ 24 [ 15 1 [7a000] s6000] 165 | 4300 | sooo | 154 QJ209N2M QJ209M 45 85 19 63 56 216 9800 14000 0.52
72168 10 | 26 2 1 | s0s00| 69500 | 155 | 3600 | 5000 | 149 | [7s26C 180 | 24 | 15 1 | 78500 91000] 165 | s000 | 7100 | 15 QJ309NZM QJ309M 100 55 100 33 325 3400 12000 105
7216¢ 140 | 2 2 1 | 93000 77500 148 | 7500 | r0000] 164 | [7026a 200 | 33 2 1 |137000]125000] 162 | 3400 | 4500 | 368
73164 0| 3 | 21 11 | 147000 119000] 140 | 3600 | 4800 | 371 | [r228a 130 [ 230 | 0 3 11 |189000[103000] 153 | 2400 | 3200 | 7.6 QJ210N2M QJ210M 50 ElY 20 65.5 61 24 9100 13000 0.59
73168 170 | 38 | 2t 11 |135000] 109000] 1a5 | 3200 | 4300 | 379 | [722s8 230 | 20 3 11 |171000[175000] 157 | 2200 | 3000 | 7.1 QJ310NZM QJ310M 110 27 118 100 3.9 7700 11000 135
79174C 20| 18 | 11 06 | 36500 38500 165 | 6700 | 9000 | 0.541 | [7326A 280 | s8 4 15 |273000[203000] 142 | 2200 | 2800 | 175 QJ21IN2M QJ211M 55 100 21 85 83 3.2 7700 11000 0.77
7917 € 120 | 18 11 06 | 39000] 40s00| 164 | sooo | 11000 0534 | [73268 280 | s8 4 15 |250000]268000] 143 | 1900 | 2600 | 176 QJ31IN2M QJ311M 120 29 137 118 455 7000 10000 175
70174 130 | 22 | 11 06 | s6500) 56000| 161 | 5300 | 7100 | 0913 | [re28AC 190 | 24 | 15 1 | 75000| 90000 164 | 4000 | 5600 | 163 QJ212N2M QZ12M 50 110 22 96.5 93 3.65 7000 10000 0.99
7017 € o | 22 | 11 06 | 60000 5as00| 159 | 7500 | 10000| 101 | [re2sc 190 | 24 | 1s 1 | 79500 95500| 165 | 4800 | 6700 | 163
72174 8s 150 | 8 2 1 |103000] ss000 | 151 | asco | 6700 | 183 | [r028a no | 3 2 1 [120000[133000] 163 | 3200 | 4300 | 39 QJ312N2M Qi=12M 30 L 156 237 2.3 6300 000 ik
72178 150 | 28 2 1 93000 | 81000 | 155 | 3400 | 4800 | 187 7228A 140 | 250 | 42 3 11 |218000|234000] 152 | 2200 | 3000 | 892 QJ213N2M QJZlaM 65 120 23 110 112 44 6700 9500 1.20
7217C 150 | 28 2 1 |107000] o050 | 149 | 6700 | 500 | 204 | [72288 250 | a2 3 11 |197000[213000] 156 | 2000 | 2800 | 894 QJ313N2M QJ313M 140 33 176 156 6.1 6000 8500 2.70
73174 180 | a1 3 11 [159000]133000] 141 | 3400 | 4so0 | 433 | [7328A 300 | 62 4 15 |300000[335000] 143 | 2000 | 2600 | 214 QJ214N2M 0J214M 70 125 24 120 122 4.8 6300 9000 1.30
73178 130 | a1 3 11 |146000|122000] 146 | 3000 | 4000 | 443 | [73288 300 | 62 4 15 |275000[310000] 148 | 1700 | 2400 | 216 QJ314N2M QJ314M 150 35 200 180 6.7 5600 3000 3.15
7918AC 125 | 18 | 11 06 | 20500 43500 | 164 [ 6300 [ 8500 | 056 | [7s30ac 210 | 28 z 1 [ 96500 [115000] 165 | 3800 | s000 | 297
7918C 15[ 18| 11 06 | 41500 46000 [ 165 | 7500 [ 10000] 0563 | [7930C NEIE 2 1 [102000]122000] 165 | 4300 | 6000 | 296 QIZLSNZM QIZ215M A5 150 25 25 132 5.2 6000 5500 145
70188 40 | 24 | 1s 1 [ e7s00] sesoo | 160 | asoo [ 6700 | 129 | [7030a 25 | 5 | 21 11 [137000] 154000] 163 | 2400 [ 3000 | a5 QJ315N2M QJ315M 160 37 216 200 7.35 5300 7500 3.90
7018C 10 [ 24 [ 1s 1 | 71500 esoo0 | 157 | 7200 | ss00 | 134 | [72308 270 [ as 3 11 |2as000]280000] 152 | 2000 | 2800 | 112 QJ216N2M QJ216M 80 140 26 146 156 5.85 5600 8000 185
72187 so [160 | 30 2 1 |118000[103000] 151 [ 4s00 | eoco | 225 | [72308 REAES 3 11 [225000]254000] 155 | 1800 | 2600 | 112 QJ316N2M QJ316M 170 39 232 228 8 4900 7000 4.60
72138 160 | 30 2 1 |107000] 94000 | 155 | 3200 | 4300 | 220 | [7330a 320 | 65 4 15 |315000[370000] 145 | 1800 | 2400 | 26 QJ217N2M QI217M 150 28 156 173 6.2 5300 7500 2.25
7218¢ 160 | 30 2 1 [123000]105000] 145 | 6300 | 9000 | 251 | [73308 320 | 65 4 15 |289000]3a0000] 150 | 1600 | 2200 | 259 OJ3LTN2M QI317M 85 180 a1 250 255 8.65 4700 6700 545
73188 10 | 43 3 11 |172000]147000] 141 | 3200 | 4300 | 506 | [7e32€ 220 | 28 2 1 |106000|133000] 165 | 3800 | 5000 | 31
73188 190 | a3 3 11 | 156000 135000] 1a6 | 2800 | 3800 | 517 | [7032a 240 | 38 | 21 11 |1ss000[176000] 163 | 2200 | 2800 | 577 QL218N2M QL218M 90 160 30 186 200 6.95 4900 7000 2.75
7919AC 130 [ 18 | 11 06 | 40000 | 45500 | 164 | oo | ss00 | 0603 | [r232a o Lo 3 11 |263000]305000] 153 | 1900 | z600 | 141 Q1318 N2M QL318M 190 43 285 305 10.2 4400 6300 6.45
7919¢C 30| 18 | 11 06 | 42500 43000 165 | 7200 | 20000 0597 | [72328 290 | 28 3 11 |238000[ 279000 159 [ 1700 | 2400 | 142 0J219N2M QJ219M o5 170 32 212 232 7.8 4700 6700 3.35
70197 5 | 24 | 1s 1 | 67000 67000 | 161 | 4500 | e300 | 143 | [7332a 310 | 68 4 15 |345000[420000] 145 | 1700 | 2200 | 307 QJ319N2M QJ319M 200 45 305 340 11 4200 6000 7.45
7019¢ s | 24 | 1s 1 | 73500 73000 | 159 | 6700 | 9000 | 142 | [73328 340 | 68 4 15 |315000|385000] 150 | 1500 | 2000 | 308 QJ220N2M 0J220M - 180 34 336 265 8.65 2400 6300 2.05
72190 ss || ]| = 11 |128000{121000] 150 | 4300 | sec0 | 268 | [rs3ac 20| 8 2 1 [113000] 198000 164 | 3600 | as00 | 336
72198 w | 2| 2 11 [116000] 101000] 154 | 3000 | 4000 | 274 | [7034a 260 [ a2 [ 21 11 [186000[214000] 161 | 2000 | 2600 | 7.9 QJ320N2M Qi320Mm 215 2 345 400 & 3900 5600 9.30
7219C B 11 [133000[112000] 146 [ 6000 [ #s00 [ 305 | [7234a 310 [ sz 4 15 |285000[360000] 152 [ 1800 | 2400 | 173 QJ222N2M QJ222M 110 200 38 280 325 104 3900 5600 5.573
73194 200 | a5 3 11 |183000] 162000] 141 | 3000 | 4000 | 583 | [72348 N ET 4 15  |266000]325000] 156 | 1600 | 2200 [ 176 QJ322N2M Q1322M 240 50 390 480 14.3 3400 4800 12.5
73198 200 | a5 3 11 |167000{ 149000| 146 | 2600 | 3600 | 598 | 7334 360 | 72 4 15 |390000|485000] 143 | 1600 | 2200 | 358 QJ224N2M QJ224M 120 215 40 300 365 11.2 3500 5000 6.95
7920aC @0 | 20 | 11 06 | 47500 51500 163 | 5600 | 8000 | 0804 | [73348 360 | 72 4 15 |355000[4as000] 148 | 1400 | 2000 | 356 QJ324N2M QI324M 260 55 215 530 15 3200 4500 158
7920 o[ 20 11 06 | so000] s4000| 164 | 6700 | s000 | 0794 | [7e3ec 180 | 250 | 33 2 1 [145000f184000] 165 | 3200 [ as00 | 4o QI226NZM QI226M 230 20 310 200 116 3200 2200 775
70204 150 [ 24 | 15 1 | 6800 70500 | 363 | 4s00 | 6000 | 1as | [7036A w0 [ a6 | 21 11 |207000]252000] 162 | 1900 | 2400 | 105 130
7020¢ 150 [ 26 | us 1 [7ssoo] 77000 160 | e300 | so00 | 146 | [r236n 320 | s2 4 15 |30s000]38s000] 153 | 1700 | 2200 | 181 QJ326N2M QI326M 280 o8 455 610 16,6 2800 4000 19.5
72200 100 [180 [ 3¢ [ 21 11 [144000[126000] 150 [ 4000 | s300 [ 3227| [r2368 320 | s2 4 15 |276000350000] 157 | 1500 | 2000 | 184 QJ228N2M QJ228M 140 250 42 345 475 13.2 3000 4300 9.85
72208 180 | 34 21 11 [130000]114000] 154 | 2800 | 3800 | 329 | [7336 380 | 75 4 15 |a10000[s35000] 145 | 1500 | 2000 | 421 QJ328N2M QJ328M 300 62 500 695 18.6 2700 3800 24.0
7220¢ 10| 3 | 21 11 [149000]127000] 145 | se00 | sooo | 365 | [73368 380 | 75 4 15 150 | 1300 [ 1800 | 426 QJ2230N2M QJ2230M 270 45 200 570 153 2800 4000 12.5
150 = E
73200 25 | @ 3 11 [207000193000] 140 [ 2800 | 3800 | 729 | [re38c 190 | 260 | 33 2 1 [147000f 192000] 165 | 3000 [ 4300 | 498 QJ330N2M QJ330M 320 55 530 765 196 3500 3600 390
73208 215 | @7 3 11 |190000[ 178000 145 | 2400 | 3400 | 743 | [703sA 290 [ 46 | 21 11 |z24000| 280000 161 | 1800 | 2a00 | 113
7921AC R 06 | 48000 | sa000 | 164 | 5600 | 7500 | 082 | [7238a 340 | s5 4 15 [315000[410000] 155 | 1600 | 2200 | 224 QJ232N2M QJ232M 160 290 48 450 670 17.6 2700 3800 15.5
7921C us [ 20 [ 11 06 | 51000 s7o00| 165 | s300 | sooo | 0826 | [r2388 340 [ 55 4 15 |284000[375000] 159 | 1400 | 2000 | 225 QJ332N2M Qi332m 340 68 570 880 21.6 2400 3400 34.5
70214 160 | 26 2 1 | s0000| s1500| 161 | 4300 | seco | 184 | [7338a a0 | 78 B 2 143 | 1400 [ 1900 | 475 QJ234N2M QJ234M 310 52 455 120 183 2400 3400 19.5
7021 € 160 | 26 2 1 | 8000 89500 | 155 | 6000 | sso0 | 182 | 73388 00 | 78. s 2 |a10000[ss0000] 143 | 1300 | 1700 | 472 QJ334N2M QJ334M 170 360 F7 655 1040 25 2200 3200 415
e e e e e = Qe | amseM | .o 0 |52 [ | 7es | 1o | s | oo [ s
A - z & A 1
7221 190 | 36 | 21 11 |162000{143000] 145 | 5300 | 7500 | 433 | [r2a0a 360 | s8 4 15 |335000]4s0000] 159 | 1500 | 2000 | 265 QJ336N2M Ql336M 380 75 680 1020 26 2100 3000 47.5
73214 225 | a8 3 11 |208000]193000] 142 | 2600 | 3600 | 934 | [72408 360 | 58 4 15 | 30500 [410000] 158 | 1300 | 1300 | 268 QJ338N2M QJ338M 190 400 78 702 1160 285 2000 2800 49.0
73218 225 | a9 3 11 |191000]177000] 145 | 2400 | 3200 | 943 | [73404 420 | 0 5 2 o] 145 | 1300 | 1300 | 544 QJ240N2M QJ240M 200 360 58 540 915 23.2 2100 3000 28.5




W inkid g E RS SBIRAE

LY . L]
it i
EHENI_STIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

B RHER T HAATI RS T B R = A

Metric series of single row tapered roller bearings Double row tapered roller bearing .
. WEELS R —— i | mEmed | oo ZMMAERIET  SRFIEE
s Bearing type Rated. Raled static Weigh REFHEEL AR gEZ LR ARER
NoBTHE| MRS | g | o | 8 | ¢ | T |Rmin| min |eemc| conn | K9 A R AR
17 | 30618 | 7818 | 90 | 170 5.07 1. ZIHR T TR ) R PO PR
18 | 30619 | 7819 | 95 | 160 379 LB e B L Ve
19 | 30621%2| 7821 | 105 | 170 572
31375 | IEEISBearing type SMERS (mm ) Dimension 1SOZ5
1 | 31305 | 27305 | 25 62 17 13 |1825| 15 | 15 40.7 433  |0262 = — — e
2 | 31306 | 27306 | 30 | 72 | 19 | 14 |2075| 15 | 15 524 604 | 0392 No,| MRS | S d D B1 cl B Flmin | rsmin | 150sres
3 | 31307 | 273076 | 35 80 21 15 | 2275| 2 15 65.7 768 |0514 3520751
4 | 31308 | 27308E | 40 90 23 17 |2525| 2 15 814 964 | 0727 =
5 | 31309 | 27309E | 45 | 100 | 25 18 | 2725| 2 15 95.6 1138 |0.944 1| 352004 | 2057104E 20 42 34 28 15 0.6 0.3 3cC
6 | 31310 | 27310 | 50 | 110 | 27 19 |2925| 25 2 108 1285 | 1.23 2 | 352005 | 2097105€ 25 47 34 2 15 0.6 03 4cc
7 | 31311 | 27311 | 55 | 120 | 29 | 21 | 315 | 25 | 2 129.9 158 | 157 3 | 352006 | 2097106E | 30 55 39 31 17 1 03 4cc
8 | 31312 | 27312 | 0 | 130 | 31 | 22 | 335 | 3 2.5 145.4 1768 | 1.92 4 | 352007 | 2097107E | 35 62 41 33 18 1 03 4cC
9 | 31313 | 273138 | 65 | 140 | 33 23 36 3 25 165.7 2026 | 239 5 | 352008 | 2097108E 40 68 44 35 19 1 0.3 3Cb
10 | 31314 | 27314E | 70 | 150 | 35 25 38 3 25 186.9 231 2.87 6 | 352009 | 2097109E 45 75 46 37 20 1 0.3 3CC
11 | 31315 | 273156 | 75 160 37 26 40 3 2.5 208.5 2589 3.38 7 352010 2097110E 50 80 46 37 20 1 0.3 3CC
12 | 31316 | 27316E | 80 | 170 | 39 27 | 425 3 25 2298 2871 | 4.05 8 | 352011 | 2097111E 55 90 52 41 23 15 0.6 3CC
13 | 31317 | 273176 | 85 | 180 | 41 28 | 445 4 3 253.9 3191 | 469 9 | 352012 | 2097112E 60 95 52 41 23 15 0.6 4CC
14 | 31318 | 27318 | 90 | 190 | 43 30 | 465 4 3 2817 3571 | 546 10 | 352013 | 2097113E 65 100 52 41 23 15 06 4¢C
15 | 31319 | 273196 | 95 | 200 | 45 32 | 495 4 3 292 355 6.64 11| 352014 | 2097114 70 110 57 45 25 15 0.6 4cC
16 | 31320 | 27320E | 100 | 215 | 51 35 | 565 4 3 374 465 8.59 12 | 352015 | 2097115E 75 115 58 46 25 15 0.6 acc
17 | 31321 | 27321E [ 105 225 53 36 58 4 3 402 500 9.58 13 352016 2097116E 80 125 66 52 29 1.5 0.6 3CC
18 31322 27322E 110 240 57 38 63 4 3 458 610 12.1 14 352017 2097117E 85 130 67 53 29 15 0.6 4CC
19 31324 27324E 120 260 62 42 68 4 3 539 695 153 15 352018 2097118E 90 140 73 57 32 2 06 3CC
20| 31326 | 27326E | 130 | 280 | 66 44 72 5 4 605 780 184 16 | 352019 | 2097119t 95 145 73 57 B 2 06 acC
21| 31328 | 27328E | 140 | 300 | 70 47 77 5 4 593 900 2238 17 352020 | 2097120E | 100 150 7 57 D) p 06 acC
22| 31330 | 27330E | 150 | 320 | 75 50 82 5 4 781 1020 | 25.2 18 352021 | 20971z | 10% 160 - 2 3 75 06 2DC
A3, 31490 | 27904k | 360 | 540 L EL 19| 352022 | 2097122E | 110 | 170 86 68 38 25 06 | 4pC
i: ;E;: i;;g:; =5 50 = e 20 | 352024 | 2097124E | 120 180 88 70 38 2.5 0.6 4DC
21| 352026 | 2097126E | 130 200 102 80 45 2.5 0.6 4EC
26 | 306118 | 27711 | 55 | 125 | 37
e | & i | 5 5 22 | 352028 | 2097128F | 140 210 104 82 45 25 0.6 4DC
o8 7904 19 50 >3 23 352030 2097130E 150 225 110 86 48 3 1 4EC
> e o e " s 24 | 352032 | 2097132E | 160 240 116 90 51 3 1 4EC
o= 306 5 = 5 e 25 | 352034 | 2097134E | 170 260 1281 100 57 3 1 4EC
31 7908 a1 90 | 355 26 | 352036 | 2097136E | 180 280 142 110 64 3 I 3FD
32 7909 47 100 425 1.66 27 352038 2097138E 190 290 142 110 64 3 1 4FD
33 7910 S0 | 100 | 35 127 28 | 352040 | 2097140E | 200 310 154 120 70 3 1 4FD
34 7911 | 57.15 |104.775| 30.762 103 29 | 352044 | 2097144E | 220 340 166 128 76 4 1 4FD
35 7912 |107.95|168.275| 36.512 0.597 30 352048 2097148E 240 360 166 128 76 4 1 4FD
36 3002 55 130 36 31 352052 2097152E 260 400 190 146 87 5 11 4FC
37 |32313%1| 1355 32| 352056 | 2097156E | 280 420 190 146 87 5 11 4FC




W inkid g E RS SBIRAE

LY . L]
it i
EHENI_STIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

}Ejjfg_jriﬂi E(ﬁ}g%/mta sheet of thrust roller bearing

EELS R (mm) =R WERS R (mm) o
Bearing No. Dimensions waweritie Bearing No. Dimensions waweritie
FHELS RES d D T (kg) WES RRs d D i (kg)

Anewmodel | The original model

9103 81103 17 30 ] 0.0251 9184 81184 420 500 65 »
9104 81104 20 35 10 0.0370 9192 81192 460 560 80 -
9105 81105 25 42 11 0.0558
9106 81106 30 47 11 0.0602 9204 81024 20 14 14 0.180
9107 81107 35 52 11 0.0720 9205 81205 25 47 15 0.200
9108 81108 40 60 13 0.1150 9206 81206 30 52 16 0.220
9110 81110 50 70 14 0.1520 9207 81207 35 62 18 0.240
9111 81111 55 78 16 0.2270 9208 81208 40 68 19 0.270

Anew model  |The original madel

9112 81112 60 85 17 0.2760 9209 81209 45 73 20 0.320
9113 81113 65 90 17 0.3200 9210 81210 50 78 22 0.3%0
9114 81114 70 95 18 0.3440 9211 81211 55 90 25 0.619
9115 81115 75 100 19 0.3850 9212 81212 60 95 26 0.750
9116 81116 80 105 19 0.4080 9213 81213 65 100 27 0.870
9117 81117 85 110 19 0.4260 9214 81214 70 105 27 0.790

> EHETF@E
Thrust roller bearing 9118 | 81118 | 90 | 120 | 22 | 06510 | 9215 | 81215 | 75 | 110 | 27 | 0.850
HENATHEARMTRASHASTAENN. FHEARY , BENSHAEEIHR glal | w100 | 150 ] 29 | D00 | o20 | BIAR ] A0 | AP 1 98 | OB
7 55% ., SEABEIETHRIEL , MRERESRE SRS , HESEL 122 | 81122 | M0 | 145 | 25 | 10700 | 9217 | &1217 | 8 | 125 | 31 | 1300
" 9124 | 81124 | 120 | 155 | 25 | 1.1300 | 9218 | 81218 | 90 | 135 | 35 | 1770
e O N—— 9126 | 81126 | 130 | 170 | 30 | 17000 | 9220 | 81220 | 100 | 150 | 38 | 2.400
BEDRT WRSLEMERSEN  ENRTWRENED R T WRRAEERETE 9128 81128 | 140 | 180 | 31 | 1.9460 | 9222 81222 | 110 | 160 | 38 2.600
. MEHEHSARE  URARNRITAKT  AZETE. MEDRTIMEENH

9130 81130 150 190 31 2.0660 9224 81224 120 170 39 2.900
= Y RIN IA=FAVAN St e = »
ERFEHEAE Db &, WAIRRMOAEAARMNERTT, RN 55 Tom (5 T T 5 i T o 1ol o i T o | oo

225 A= B 4 [ R ANE =R e AV E ERST
=l 9136 | 81136 | 180 | 225 | 34 | 30400 | 9234 | 81234 | 170 | 240 | 55 | 8300
ENEERTFRATERTERR. ATh=ERERE. R, XSS 9138 81138 | 190 | 240 | 37 | 3.8400 | 9236 81236 | 180 | 250 | 56 8.240
i, 9140 81140 200 250 37 2.2300 9238 81238 190 270 62 10.400
Thrust roller bearings are used to bear combined axial and radial loads, but the radial load should not exceed 55% of 9144 81144 220 270 37 4.5000 9240 81240 200 280 62 12.400
the axial load. Compared with other thrust roller bearings, this kind of bearing has lower friction coefficient, higher speed 9148 81148 240 300 45 7.2500 9244 81244 220 300 63 13.700
and alignment performance.
Selection and Control of Tolerance of Thrust Roller Bearing Chamber: Thrust Roller Bearing should rotate flexibly and 9452 81152 260 320 45 8.1000 9248 81248 240 340 78 23.600
without blocking feeling after it is pressed into Thrust Roller Bearing. If the rotation is obviously inflexible, it indicates that 9156 81156 280 350 53 12.3000 9252 81252 260 360 79 25.500
the size of the shaft is too large and the tolerance should be lowered. If the thrust roller bearing has obvious "sand”
feeling when it is rotated by hand after pressing into the shaft, it may be that the tolerance of the shaft is too big or the 9160 81160 300 380 62 17.5000 9256 81256 280 380 80 27.800
roundness of the shaft is not good. So when controlling the tolerance of the shaft and thrust roller bearing chamber, 9164 81164 320 400 63 18.76000 9260 81260 300 420 95 42.500
roundnES§ sh‘ould also be Cfmtroiled. Mény domgstlc manufactlfrers only fontrol the tolerance, but nouhg rf)undnefs 9168 81168 340 420 64 19.76000 9264 81264 220 440 95 42.600
Thrust cylindrical roller bearings are mainly used in heavy machine tools, high-pewer marine gearboxes, oil rigs, vertical
motors and other machinery. 9172 81172 360 440 65 % 9268 81268 340 460 96 44.980

9180 81180 400 480 65 - 9272 81272 360 500 110 51.800




it sl & W inkid g E RS SBIRAE

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

UCFC200 ( TY90500 ) &I
WO A ERER L SR IR

MRS SHRZR (mm) HEESIR ERWFRRS EUBIREERS
s B8 | D | B | S |[D1|D2]| J P | A|AL|A2|A3| N | ds |Hiflikg)| XS | IBRE |3HLE|IBRS

UCT200%!
TR EE TR L2 SR SR

UCWFC201| TY90501 | 40 |27.4]115] 58 | 97 | 53 | 75 | 19| 4 | 9 | 6 | 12 [M10] 06 |UCW201| 90501 |FC203|TY503

UCWFC202 | TV90502 | 40 |27.4]115] 58 | 97 | 53 | 75 | 19| 4 | 9 | 6 | 12 [MI10] 05 |UCW202| 90502 |FC203|TY503

SMERST (mm) UCWFC203 | Tv90503 | 40 [274]115] 58 [ o7 [ 53 [ 75 [ 19| 4 [ o [ 6 [ 12 [M10] 05 Jucw203]| 90503 |FC203] TY503

P WM | oy | BA UCFC201 |TY90501v| 47 | 31 [12.7] 62 | 100|55.1] 78 [205] 5 | 10 | 7 | 12 [M10] 08 | UC201 | 90501V | FC204] TY504
e B | e [HRE UCFC202 |T¥90502Y| 47 | 31 [ 12.7] 62 | 100|551] 78 [205] 5 | 10| 7 | 12 [MI10] 08 | UC202 | 90502Y | FC204] T¥504
DI B[S [LJL L] H]H|[ALAAfNFN]NT kg _E UCFC203_|TY90503Y] 47 | 31 [12.7] 62 | 100|551] 78 |205] 5 | 10 | 7 | 12 |M10] 07 | UC205 | 90503Y | FC204 | TY504

UCFC204 | Tv90504 | 47 | 31 |12.7] 62 | 100|551] 78 |205] 5 | 10 | 7 | 12 [M10] 07 | UC204 | 90504 | FC204 ] TY504

VCT201] 40 | 91 427 94 1 611 10.) 89 L .76 | 32 ] 421 21 1 19 1 163 32)] 08 | UGA01 | T203 UCFC205 | T¥90505 | 52 [34.1]143] 70 [ 115[636] 90 | 21 | 6 [ 10| 7 | 12 [M10] 1 | UC205 | 90505 |FC205]Tv505
UCT202| 40 | 31 [127]| 94 ] 61) 10 | 89 | 76 | 32 [12] 21| 19 ] 16 | 32 038 uc202 | 1203 UCFC206_| TY90506 | 62 | 38.1|159] 80 | 125[707|100] 23 | 8 | 10 | & | 12 [M10] 13 | UC206 | 90506 | FC206] TY506
UCT203| 40 | 31 |127] 94 | 61| 10 | 83 | 76 | 32 | 12| 21 | 19 | 16 | 32 0.8 UC203 | T203 UCFC207 | TY90507 | 72 |429]17.5] 90 | 135|778/ 110] 26 | & | 11| 9 | 14 [M12] 16 | UC207 | 90507 | FC20 |T¥507
uUcT204 | 47 | 31 |127| 94 | 61 | 10 | 89 76 | 32 |12 [ 21| 19 | 18 | 32 0.8 Uc204 | T204 UCFC208 | Tv90508 | 80 [49.2] 19 [ 100|145 848 120] 26 | 10 [ 11 | 9 [ 14 [M12] 21 UC208 | 90508 | FC20 | TY508.
UcT205] 52 (321123 o7 |62 10 8 | 76 | 32 [ 12| 22 | 19 | 18 | 32 09 UC205 | T205 UCFC209 | Tv90509 | 85 [49.2] 19 | 105 160 |933] 132] 26 | 12 | 10 | 14 | 16 |M14] 27 | UC209 | 90509 | FC209| TY509

UCFC210 | TY90510 | 90 |51.6] 19 |110(165]97.6|138] 28 | 12 | 10 | 14 | 16 [M14] 31 UC210 | 90510 | FC210/TYS10
UCFC211 | TY90511 | 100 | 55.6| 22.2| 125 [ 185 [106.1] 150 | 31 | 12 | 13 [ 15 | 19 [M16| 4.2 UC211 | 90511 |FC211|TYS511

UCT206 | 62 | 38.1)| 159|113 ] 70 | 10 | 102 | 89 32 |12 28] 22 | 16 | 37 1.3 UC206 | T206

UCT207 | 72 1429 175[/129/ 78 ) 13 | 102] 89 | 37 | 12] 30 | 22 | 16 | 37 1.7 uc207 | T207 UCFC212 | TY90512 | 110 65.1] 25.4] 135 | 195 [113.1] 160] 36 | 12 | 17 | 15 | 19 |[M16] 53 | UC212 | 90512 |Fc212|TY512
UCT208 | 80 |49.2| 19 |144| 88 | 16 | 114 | 102 | 49 | 16 | 33 | 29 | 19 | 49 23 UCc208 | T208 UCFC213 | T¥90513 | 120 | 65.1| 25.4] 145 | 205 [120.2] 170 | 36 | 14 | 16 | 15 | 19 [M16] 6 UC213 | 90513 | FC213|TY513
UCT209| 85 | 49.2| 19 | 144 | 87 | 16 | 117 | 102 | 49 | 16 | 35 | 29 | 19 | 49 2.4 UC209 | T209 UCFC214 | TYS0514 | 125|74.6(30.2| 150 | 215 f125.1{ 177 | 40 | 14 | 17 | 18 | 19 [M16 T uc214 90514 [FC214|TY514
UCT210| 90 | 516 19 |149| 90| 16 | 117 | 102 | 49 | 16 | 37 | 20 | 18 | 49 25 Uc210 | T210 UCFC215 | TY90515 | 130 | 77.8] 33.3| 160 | 220 [130.1[ 184 40 | 16 | 18 | 18 | 19 [M16] 7.8 | UC215 | 90515 |Fc21s5|T¥515
UcT2111 100 [ 5561222 [ 171 (106 19 | 146 | 130 | &« | 22 | 28 | 35 | 25 | 62 g uc21 | Tz11 UCFC216 | TY90516 | 140 | 82.6] 33.3| 170 | 240 |141.1] 200| 42 | 16 | 18 | 18 | 23 [M20] 93 | UC216 | 90516 | FC216]T¥516

UCFC217 | TY90517 | 150 | 85.7 | 34.1| 180 | 250 |147.1) 208 | 45 | 18 | 18 | 20 | 23 |M20 11 UC217 | 90517 |FC217|TYS17
UCFC218 | TY90518 | 160 | 96 | 39.7| 190 | 265 [155.5( 220 | 50 | 18 | 22 | 20 | 23 [M20 13 UC218 | 90518 | FC218[TYS518

UCT212 | 110 | 65.1 | 254 | 194 | 119] 19 | 146 | 130 | 64 | 22 | 42 | 35 | 32 | 64 4.7 ucz212 | T212

UCT213 | 120 | 65.1 | 25.4 | 224 | 137] 21 | 167 | 151 | 70 | 26 | 44 | 41 [ 32 | 70 T UC213 | T213
UCT214 | 125 | 74.6 | 30.2 | 224 | 137 21 | 167 [ 151 | 70 | 26 | 46 [ 41 | 32 | 70 73 uc214 | T214

UCT215| 130 | 77.8 | 33.3| 232|140 21 | 167 | 161 | 70 | 26 | 48 | 41 | 32 | 70 7.7 Uc215 | T215

UCT216 | 140 | 82.6 | 33.3| 235|140| 21 | 184 | 165 | 70 | 26 | 51 | 41 | 32 | 70 8.4 UC216 | T216

UCT217 | 150 | 85.7 | 34.1| 260 | 162| 29 | 198 | 173 | 73 | 30 | 54 | 48 | 38 | 73 1 ucz217 | 1217
UcT218 | 180 | 96 | 39.7 | 275|170| 30 | 215 | 190 | 80 30| 55| 48 | 40 | 80 13.2 uc218 | T218
UCT300 ( UCK300 ) #! UCFS300%!
i e LR EE TH 42 S IR TH S R Wi A A TR £ SR m &

e e SMERT (mm) THREEIARE | BRI | EERRIRREE
R SHER S (mm) e REMES T T s [0, ] L] J ] AlA|Am|A|N|dG| &g = e
e I IR~ B I i UCFS305 | 62 | 38 | 15 | 80 |110| 80 | 22 | 7 | 9 | 13 | 16 |M14| 14 UC305 | Fs305
UCT305| 62 | 38 | 15 |122| 76 | 12 | 89 | 80 | 36 | 12 | 26 | 26 | 16 | 36 | 14 | UC305 | T305 e e s et e
cienl e o S ounllas L s s L Lot LB e en s LU A I UCFS307 | 80 | 48 | 19 | 100 | 135|100| 27 | 9 | 11 | 16 | 19 |Mis| 24 UC307 | Fs307
UCT307| 80 | 48 | 19 150 94 | 15 |110]100| 45 | 16 | 32 | 30 | 20 | 45 | 24 | UC307 | 1307
UCT308] 90 | 52 | 19 | 162|100 17 | 124 112] 50 | 18 | 34 | 32 | 22 | 50 3 | uc3os | 1308 ﬂgzzgg 190% :3 ;Z E: 123 Ei 3‘3’ i’ iz i; i: :1: 343 Eggﬁg :i:gz
UCT309| 100 57 | 22 [ 178|110 18 | 138 | 125| 55 | 18 | 38 | 34 | 24 | 55 4 | uc3os | 1309
UCT310] 110 61 | 22 | 191[117] 20 [151] 140 61 | 20 | 40 | 37 | 27 | 61| 5 | Uc3io | T30 HeEs DA 10N RIR 20N S 408 ioili S2MR26 1) BT 81 SHIRIORIE 23RN0 e S SRIUGT0MIRES 310
UCT311| 120 66 | 25 | 207 | 127] 21 | 163|150 66 | 22 | 44 | 39 | 29 | 66 | 64 | ucail| 7311 UCFSILL | 120.1 66 | 26 ] 150'| 385 |40 | 33,1 13 1 17 | 20 ] 23 | M20] 62 yeall | Fsall
UCT312[ 130 71 | 26 | 220|135 23 | 178|160 71 | 22 | 46 |41 | 31 | 71| 76 | ucsiz | 1312 TR SS L AR SOUE AURIE S0 Aot P2 Aoi R DM IReio . £ S AR 2 R | B Y U e s 12
uct313| 140] 75 [ 30 [ 238|146 25 [100[170] 80 | 26 | 50 [ 43 [ 32 [ 70| 97 |uc3iz| 1313 e R e e e L e e e B R e e
UCT314] 150 | 78 | 33 | 252 | 155| 25 | 202 180| 90 | 26 | 52 | 46 | 36 | 85 | 11 | uc31a | 1314 UCFs314 | 150 ] 78 | 32 | 185 | 226 (178 | 43 | 18 | 18 | 25 | 25 |M22] 112 | UC314 | Fs3u4
UCT315] 160 | 82 | 32 [ 262 160| 25 [216[192] 90 | 26 | 55 | 46 | 36 | 85 | 14 | uc3is | 1315 LGRS LT6U.L 62 | a4 200 | 230 064 | 48, L 18 L2l Ly s JMaa L 12 ] Ucsls | FESalb
ucT316] 170 86 | 34 | 282|174 ] 28 [230] 204|102 30 [ 60 [ 53 | 42 [ 98 | 16 | uc3ie | 1316 UCFS316 [ 170 | 86 | 40 | 2101250196 | 48 | 20 | 18 | 27 | 51 |M27| 143 | UC316 | FS316
uct317| 180 96 | 40 [ 298] 183] 30 [240] 214 102[ 32 [ 64 [ 53 [ 42 | 98 20 ucs17 | 1317 UCFS317 | 180 | 96 | 40 | 220|260 | 204 | 54 | 20 | 24 | 27 | 31 |M27] 17.2 U317 | FS317
ucT318|190| 96 | 40 | 312|192| 30 | 250|228 | 110 32 | 66 | 57 | 46 [106| 22 uc3is | 1318 UCFS318 | 190 | 96 | 41 | 230 280|216 | 56 | 20 | 24 | 30 | 35 |M30| 204 Uc3lg | Fs3i8
UCT319] 200 103 | 41 [ 322197 31 [ 270 [ 240{ 110 35 | 72 [ 57 | 46 | 106 25 uc31g | 1319 UCFS319 | 200 | 103 | 42 | 240 | 290 | 228 | 74 | 20 | 39 | 30 | 35 | M30| 239 UC319 | Fs319
UCT320] 215|108 | 42 | 345| 210 32 | 290 | 260| 120| 35 | 75 | 59 | 48 [115] 32 | UC320 | T320 UCFs320 | 215108 44 [250 [310 242 74 | 20 | 39 | 32 | 38 [m33] 271 | uC320 | Fs320
UCT321| 225 | 112 | 44 | 345 | 210| 32 [ 290 260|120 35 | 75 | 59 | 48 [115] 32 | uczai | 1321 UCFs321 | 225|112 | 46 | 260 | 310 [ 242 | 74 | 20 | 39 | 32 | 38 [m33| 285 | uc3al | Fs3zl
UCT322| 240|117 | 46 | 385 | 235| 38 | 320 | 285 | 130| 38 | 80 | 65 | 52 |125]| 40 | Uc32z | 1322 UCFS322 | 240 | 117 | 51 | 260 | 340 | 266 | 71 | 25 | 35 | 35 | 41 |M36| 468 | UC322 | Fs322
UCT324] 260 | 126 | 51 | 432 | 267 | 42 | 355 320| 140| 45 | 90 | 70 | 60 |140| 55 | UC324 | 1324 UCFS324 | 260 | 126 | 54 | 300 | 370 | 290 | 80 | 30 | 35 | 40 | 41 |M36| 506 | UC324 | Fs324
UCT326| 280 [ 135 | 54 | 465 | 285 | 45 [ 385350 150 50 [ 100 75 | 65 [150] 69 | uC326 | 1326 UCFS326 | 280 | 135 | 59 | 330 | 410 [ 320 | 85 | 30 | 35 | 45 | 41 |M36] 607 | UC326 | Fs326
UCT328| 300 | 145 | 59 | 515|315 50 | 415|380 155| 50 | 100 80 | 70 [160| 84 | UC328 | T328 UCFS328 | 300 | 145 | 59 | 400 | 450 [ 350 | 95 | 30 | 45 | 50 | 41 [M36] 963 | UC328 | Fs328




it i 13 il

CHENGTONG WUZHOU

= R
RODUCT DISPLAY

e 2o

GE...ES

]

I

GE...E5-2RS

GEZ...E5-2RS5

o

COM...S

GEG..ES GEG..ES-2RS  GEF..ES

I ’

GEEM...ES-2RS

GEEW...ES

GE...ET-2RS GEG...ET-2RS

GK...DO

W inkid g E RS SBIRAE

SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

KRR SRR

Spherical plain bearings series interchange list

o " HERTER S HFRMBHELBRETINS
Ff’"#& GDL ?‘ﬂ{_t% Bore diameter Other manufacturer series
Bearing type GDL series
range SKF INA KO RBC
GE..E 4-12 GE..E GE..E
GE.ES 15-300 GE..ES GEG';'S}_ 2RS GE..ES thBgs
GE..ES-2RS 15-300 GE..ES-2RS GE..ES-2RS
GEG..E 4-12 GE.E GE..G
GEG..ES 15-280 GE..ES GEGiBF—SRS GE..GS M:—? Hss
GEG..ES-2RS 15-280 GE..ES-2RS GE..GS-2RS
GEEW..ES 12-320 GEG..ES GE..LO MB...-E
GEEW..ES-2RS 20-80 GEM..ES-2RS | GE..HO-2RS MB..ESS
GEZ..ES 12.7-152.4 GEZ..ES GE..ZO SBB B..L
N GEEZ..ES-2RS 19.05-152.4 GEZ..ES-2RS | GE..ZO-2RS | SBB..2RS B..LSS
LS R
Radial spherical GEGZ..ES 31.75-139.7 GEZH..ES BH..L
plain bearing GEEGZ...ES-2RS 31.75-139.7 GEZH...ES-2RS BH...LSS
GEWZ..ES 12.7-152.4 GEZM..ES B..EL
GEEWZ..ES-2RS 19.05-152.4 | GEZM..ES-2RS B..ELSS
GEBK..S 5-30
GEBJ..S 5-30
GEFZ..S 4.83-25.4
GEC..XS GE..DO
GEC..X5-2RS 320480 GE..DO-2RS
GEF...ES 12-150 SB..A
GE..XK/K 12-150 SB...
GEK..XS-2RS 25-60 SA3.A
GE..C 4-30 GE..C GE..UK
GEG..C 4-30 GEH..C GE..FW
GEFZ..C 4.83-25.4 COM..AT
GEBJ..C 5-30
GE.ETL-2RS 15-120 GE..TXE-2RS | GE..UK-2RS MB...FSS
GE..ETL/X 15-60 GE..TXGR
GE._ETL-2RS/X 15-60 GE..TXG3E-2RS
GE..XTL-2RS 140-300 GE..TXA-2RS | GE..UK-2RS MB...LFSS
GE.XTL/X 70-200
_ GE...XTL-2RS/X 70-200 GE..TXG3A-2RS
BiliEa GEG..ETL-2RS 15-110 GE..FW-2RS
EOKTHF GEG..XTL-2RS 110-280
Self-lubricating GEG...ETL-2RS 19.05-152.4 B..LFSS
Centrifugal Joint GEH..HTL 320-460 GE..DW
Bearing GEH..HC 100-630 GEP..FS
GEC..XTL
GEC..XTL-2RS 320:460
GEH..XTL
GEH..XTL-2RS 020
GEH...HTL 100-630
GE..XF/Q 100-300 GEC..PSA
GEC..XF/Q 320-460 GEC..PSA
GEH..XF/Q 100-420
GEH...HF/Q 440-630 GEP..P4S
s GAC..S 25-200 GE..5X MB...SA
PR TR GACZ..S 127-152.4 GAZ..SA B..SA
Angular contact
joint bedring GAC.TL 25-200 GE.SW




it i i WFiREENERESERAE

EHEN_ETI]NE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

> - di < e .V
HEN KT GX...SEF AR TR GAC...SES 3
¥y o i ‘
s /2 . S - s
] 7 :
i £y i
Fis| S |
d ; )
D N L I
e _ . ! = Bl
TEENEEEE - 50/ b TBENEEEE] © /5N »-T—-
Sliding contact surfaces:steel/steel Sliding contact surfaces:steel/steel -
SRS EMESAT INERS ERTEE T
HWRES Dimensions(mm) Load ratings kN = EES Dimensions(mm) Load ratings kN &
Bearing s | Weight Bearing Weight
number d D B @ H dk S ds D_l A fs -rls o Eh;kﬁ %ﬁﬁ zkg number d D B C T d o A e T o BE BRET ﬁkg
max | min min | = |Dynamic| Static E min = | Dynamic| Static
GX10s | 10 | 30 [ 75| 7 | 95| 32| 7 |275|155| 3 | 06 | 5 27 136 | 0.036 GAC2sS | 25 | 47 | 15 | 14 | 15 | 42 | 06 | 75 1 25 50 250 | 0.148
GX12s | 12 | 35 | 95| 93| 13|38 | 8 | 32| 18 | 4 | 06 | 5 37 188 | 0.072 GAC28S | 28 | 52 | 16 | 15 | 16 | 47 | 1 8 1 2 60 300 | 0.186
GX155 | 15 | 42 | 11 |10.8| 15 | 46 | 10 | 39 [225| 5 | 06 | 6 53 267 | 0.108 GAC30S | 30 | 55 | 17 | 15 | 17 [495) 1.3 | 85 1 4.5 63 315 | 0208
Gx17s | 17 | 47 |118[112| 16 [ 52 [ 11 [435] 27 | 5 [ 06 | 4 | 61 | 311 | 0137 spceeep e P RV A PIB LIV LR @ [ Fe L = i Sk S
GAC35S | 35 | 62 | 18 | 16 | 18 [ 555 21 | 9 1 4 78 390 | 0.268
GX20S | 20 | 55 |145(13.8| 20 | 60 [125| 50 | 31 | & 1 5 84 425 | 0.246
Gaca0os | 40 | 68 | 19 | 17 | 19 | 62 | 28 | a5 1 35 92 463 | 0327
GX255 | 25 | 62 |165|16.7|225| 68 | 14 | 585|345 6 1 |5 134 672 | 0415 Gaease | a5 [ 75 |22 | 1z | 20 | 625 | 35 | 16 i 3 108 san | GAlE
GX30s | 30 | 75 | 19 | 19 | 26 | 82 [175| 70 | 42 | 8 1 |5 182 909 | 0.614 EAcEoe so e e aon o2 has ae 7 15 B 218 | 045s
GX355 | 35 | 90 | 22 |20.7]| 28 98 22 84 | 505 8 1 S 266 1330 | 0973 GAC55S | 55 a0 23 20 23 82 5 11.5 1.1 4 144 721 0.645
GX40S | 40 | 105 | 27 |215| 32 | 114 [245| 97 | 59 | 9 1 6 357 | 1810 | 1.59 GAC60S | 60 | 95 | 23 | 21 | 23 | 885 57 | 115 Tl 25 163 817 | 0714
GX45S | 45 | 120 | 31 [255(365( 128 | 275|110 | 67 | 11 1 6 486 | 2470 | 224 GACG5S | 65 | 100 | 23 | 22 | 23 | 935 65 [ 115 11 1 180 905 0.759
Gx50s | 50 | 130 | 33 [305[425[ 139 30 [120] 70 [ 10 | 1 [ 6| 554 | 2810 324 ol ST Ll B B B o (S e B 0 [ L ol IR (B
GX60S | 60 | 150 | 37 | 34 | 45 | 160 | 35 | 140 | 84 [125| 1 | & 748 | 3820 | 4.63 sl Ll e L b S o L L Ll H = S
ox0s T 70 1160 (a2 13651 50 Toe 35 T3 [oas (35 = 13 507 a0 557 GACsos | 80 | 125 | 29 [ 255 29 | 115 | 86 | 145 il 35 | 258 1290 | 1.54
- i : i GAC85s | 85 | 130 | 29 [ 265 29 | 122 ] 94 [ 145 T.]; 2 284 1422 | 161
GX80S | 80 | 180 |435| 38 | 50 [ 197 [425] 172 | 108 [145| 1 | 4 | 1110 | 5700 | 6.91 e e T e Tar ieeiana T 5 T 55 == TR
GX100S | 100 | 210 | 51 46 59 | 222 | 45 | 198 | 127 15 1.1 4 1300 6470 10.9 GAC95S 95 145 32 295 32 135 | 10.8 16 15 2 350 1750 299
GX120S | 120 | 230 [53.5( 50 | 64 | 250 | 525|220 | 145 | 165| 1.1 | 3 | 1530 | 7580 | 13.9 GAac100s| 100 [ 150 | 32 [ 31 | 32 [141] 116 16 15 0.5 384 1923 | 234
GX140S | 140 | 260 | 61 | 54 | 72 | 274 | 525|243 [ 177 | 23 | 15 | 3 | 1820 | 9040 | 181 GAC105S| 105 [ 160 | 35 [325] 35 | 148 | 123|175 2 2 423 2116 | 2.93
GX160S | 160 [ 290 | 66 | 58 | 77 [ 313 | 65 | 271|200 [ 23 | 15 [ 2 | 2100 [10440| 232 GAC1105) 110 | 170 | 38 | 34 | 38 [155] 13 | 19 2 3 463 | 2318 | 3.68
GX1805 | 180 [ 320 | 74 | 62 | 86 | 340 |67.5] 299 | 225 | 26 | 15 | 4 | 2430 [12070| 309 Saclis] Tao [ 180 | == | SF | B& | 188 | Bio ] o 1 g5 ] odr late | =2
GAC130S| 130 [ 200 | 45 | 43 | 45 | 188 | 1 9 25 710 3550 | 5.92
GX200S | 200 [ 340 [ 80 | 66 | 87 [365| 70 [ 320 247 | 27 | 15 | 1 | 3070 |15280| 34.2 ek 5 =
GAC140s| 140 [ 210 | 45 | 43 | 45 | 198 ] 19 | 19 2.5 T 740 3740 | 633
GAC150s| 150 [ 225 48 | 46 | 48 [ 211 [ 20 [ 205 3 i 850 4270 | 801
GAC160S| 160 [ 240 | 51 | 49 | 51 [ 225] 20 | 22 3 1 970 4850 | 9.42
GAC170s| 170 [ 260 | 57 | 55 | 57 [ 246 | 21 | 27 3 1 1190 | 5950 | 123
GAac180s| 180 [ 280 | 64 | 61 | 64 | 260 | 21 | 28 3 1 1395 | 6970 | 174
GAC190S| 190 [ 290 | 64 | 62 | 64 [ 275] 26 | 30 3 05 | 1500 | 7500 | 182
GAC200s| 200 [ 310 | 70 | 66 | 70 | 290 | 26 | 30 3 15 | 1680 | 8420 | 225




it sl & W inkid g E RS SBIRAE

EHEN_ETI]NE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

g El: i b i

Insert bearing

UC200(90500)3!
HIRLL S IR PR AR
RIS SR (mm) it (kg) BENGE | SRRt | tRIREGE
S IBIXS d D B S C |rimin| G ds cr(KN) cor(KN) (r/min)
UCW201 | 90501 12 | 40 |274|115] 15 | 0.6 | 4.5 | M5x0.5 0.14 7.36 4.48 4500
UCw202 | 90502 15 | 40 | 274|115 15 | 0.6 | 45 | M5x0.5 0.13 7.36 4.48 4500
UCW203 | 90503 17 | 40 |27.4|115| 15 | 0.6 | 45 | M5x0.5 0.13 7.36 4.48 4500
uc201 90501y | 12 | 47 | 31 |12.7| 17 | 0.6 | 45 M6 x 1 0.21 9.97 6.22 4000
ucz02 90502y | 15 | 47 | 31 [12.7| 17 | 0.6 | 45 MEx1 0.19 9.97 6.22 4000
ucz203 90503y | 17 | 47 | 31 [127]| 17 | 06 | 45 M6X1 0.18 9.97 6.22 4000
ucz204 90504 20 | 47 | 31 |127]| 17 1 4.5 M6 =1 0.16 9.88 6.2 4000
uc205 90505 25| 52 |34.1]143| 17 1 5 M6X1 0.22 10.78 6.98 3400
uc206 90506 30 | 62 |381/159] 19 1 5 MGX1 0.35 14.97 10.04 2800
uczo7 90507 35| 72 |429|175] 20 | 11 6 M8X1 0.52 19.75 13.67 2400
uc208 90508 40 | 80 |49.2] 19 | 21 [ 1.1 8 M8X1 0.7 2271 15.94 2200
ucz09 90509 45 | 85 |49.2] 19 | 22 | 11 8 M8X1 0.74 24.36 17.71 1900
uc210 90510 50| 90 |516) 19 | 24 | 1.1 9 M10x1 0.83 26.98 19.84 1800
uc211 90511 55 | 100 |556(22.2| 25 | 1.5 9 | M10x1.25 1.16 33.37 1511 1600
ucziz 90512 60 | 110 | 651|254 27 | 1.5 | 10 | M10x1.25 1.56 36.74 27.97 1500
ucz13 90513 65 | 120|65.1|254| 27 | 1.5 | 10 | M10x1.25 1.96 44.01 34.18 1400
ucai4a 90514 70 | 125|746(30.2] 29 | 1.5 | 12 | M12x1.5 218 46.79 37.59 1300
uC215s 90515 75 | 130|77.8|333| 30 | 1.5 | 12 | M12x1.5 242 50.85 41.26 1200
uc216 90516 80 | 140 | 82.633.3| 33 2 14 | M12x1.5 2.82 55.04 45.09 1100
uc217 90517 85 | 150 | 85.7|34.1| 36 2 14 | M12x1.5 3.4 64.01 53.28 1000
uc218 90518 90 | 160 | 96 | 39.7| 37 2 14 | M12x1.5 4.3 73.83 60.76 950
ucz219 50919 95 | 170 | 103 | 40.5| 41 2 14 | M16x1.5 4.4 83 70 970
ucz220 90520 | 100 ) 180 ) 108 | 42 | 41 Z 14 | M16x1.5 4.5 93.95 79.35 900

UC300(90600)8! 75T £2 5p 3k i Bk &

RS SHER (mm) Titkg) EEMNRT | BRI &&Eﬂ{éii

s 18IS d D B s C |r/min| G ds cr(KN) cor(KN) (r/min)

uc3os 90605 25162138 15| 21|11 6 Méx1 0.35 17.22 11.39 2800

Uc306 90606 30| 72 | 43 | 17 | 23 | 11 6 Mex1 0.56 20.77 14.17 2600

uc3o7 90607 35|80 | 48 | 19 | 25 | 1.5 8 M8x=1 0.71 25.66 17.92 2200

uc3os 90608 40 | 90 | 52|22 27 |15]| 10 M10x1 0.96 31.35 22.38 2200

UC309 90609 45 [100| 57 | 25 | 30 | 15| 10 M10x1 128 40.66 30 2000

uc31o 90610 50 |110| 61 | 26 | 32 2 12 | M12x1.5 1.65 47.58 35.71 1800

UC31l 90611 55 |120| 66 | 30 | 34 2 12 | M12x1.5 2.07 55.05 41.91 1700

uc31z2 90612 60 [130| 71 | 33 | 36 | 21 | 12 | M12x1.5 2.6 62.88 48.6 1400

8 : s " _ . < UC313 | 90613 | 65 | 140 75 | 32 | 38 [ 2.1 | 12 | M12x15 3.25 72.21 56.68 1300

Quter spherical ball bearing is actually a variant of deep groove ball bearing, which is characterized in that the outer diameter TSP PR e e BT BT Bl e s 35 R 5348 1200
surface of its outer ring is spherical, which can be matched into the corresponding concave spherical surface of the bearing seat UC315 90615 | 75 |160] 82 | 40 | 42 | 21| 14 | mM1ax1s 272 87.25 7167 1100
to play the role of centering. The outer spherical bearing is mainly used to bear the combined radial and axial load dominated by UC316 00616 | 80 |170| 86 | a0 | 44 | 21 | 14 | M14x15 5.55 94.57 80.35 1000
radial load, generally not only the axial load alone. UC317 90617 | 85 [ 180 96 | 41 | 46 | 3 | 16 | M16x15 6.67 102.05 89.52 950
Although its basic performance should be similar to that of deep groove ball bearing, this kind of bearing is mostly used in rough UC318 | 90618 | 90 | 190| 96 | 42 | 48 [ 3 | 16 | M16x15| 7.56 11081 100.76 900
machinery, the installation and positioning is not accurate enough, the axis to neutral difference between shaft and seat hole, or Eg;’] Zgz;z 19050 5‘;2 12; 2‘; ;3 ; ig :ﬁ;’ﬂlé 186?8 Es;g i;i:z :{5)2

. . . . . . . x1. x A i

the shaft is long and the deflection is large, and the accuracy of the beyng |¥self is not high erfougl'u, anfj some §tructures are T a0so1, 110512251 133[ 51 1.85.]1 2 | 18] Migels ) T3 TEI) 250
also rough, Therefore, the actual performance of deep groove ball bearings with the same specifications is quite discounted. Ucaoz2 30622 | 110|230 | 117 ] 54 | 60 3 18 | M18=15 143 157.66 167.64 700
Quter spherical bearing with seat is a bearing unit that combines rolling bearing with bearing seat. Most of the outer spherical UC324 90624 | 120 | 260| 126] 59 | 64 | 3 | 18 | M18=15 185 175.07 19442 630
bearings are made of spherical outer diameter and installed together with the bearing seat with spherical inner hole. They have uCc326 90626 | 130|280 135] 19 | 68 4 20 | M20x15 23 194.93 22671 560
various structural forms, good universality and interchangeability. uc32g 90628 |140|300(145| 59 | 73 | 4 | 20 | M20x15 28.5 211.38 253.93 500
UC330 90630 | 150|320|156| 64 | 78 18 | M20x1.5 229 283 460

Main uses: used in logistics transportation system, fan and construction machinery.




it sl & W inkid g E RS SBIRAE

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

UCPA200 ( ZA90600 ) &!
B TURE T 22 SM IR TH SR B UCFLU200(L90500)%!
BEETE PR (mm) ) o EE TR £ Sh Bk S AR
mke Bts | D|B|s|L|J|H|HL|H2[H3| A | dn [EHK)| smite | IBRE | 58S | 1BRS
UCWPA201| ZA90501 | 40 |27.4/11.5| 76 | 52 |30.2| 62 | 11 | 12 | 40 |M10 0.6 UCW?201| 90501 | PA203 | ZAS03 SRS AMER (mm) e EFRARICE RS

UCWPA202| ZA90502 | 40 |27.4/115| 76 | 52 |30.2| 62 | 11 | 12 | 40 |M10| 06 |UCW202| 90502 | PA203 | ZAS503
UCWPA203| ZA90503 | 40 |27.4|11.5] 76 | 52 |30.2] 62 | 11| 12| 40 |[M10| 0.6 |UCW203| 90503 | PA203 | ZAS503
UCPA204 | ZA90504 | 47 | 31 |127) 76 | 52 |30.2| 62 | 11| 12 | 40 |[M10| 06 UC204 | 90504 | PA204 | ZA504

#ts [BES| D | B | S | L[ J[H|A]A|A|N]C |Siikg| #tS | BES | #KS | HKS
UCWFLU201| 190501 | 40 [27.4]115) 99 |76.5| 54 | 27 | 11 | 17 | 12 |M10[ 06 |UCW201| 90501 |FLU203| L503

UCPA205 | ZA90505 | 52 [34.1]14.3] 84 | 56 [36.5] 72| 12| 15| 45 [M10| 0.8 UC205 | 90505 | PA20S | ZAS0S UCWFLU202|190502( 40 [27.4|115]| 99 |765] 54 | 27 | 11 | 17 | 12 |[M10| 06 [UCW202| 90502 |FLU203| L503
UCPA206 | ZA90506 | 62 [38.1/159]| 94 | 66 [42.9| 84 | 12| 18 | 50 [M14]| 1.2 UC206 | 90506 | PA206 | ZAS06 UCWFLU203|L90503| 40 |27.4|115| 99 |76.5| 54 | 27 | 11 | 17 | 12 |[M10| 0.6 |UCW203| 90503 |FLU203| L503
UCPA207 | ZA90507 | 72 |42.9]17.5|110] 80 |47.6] 95| 13 | 20 | 55 |M14 17 UC207 | 90507 | PA207 | ZA507 UCFLU204 |Looso4| 47 | 31 |127]113] 90 | 60 | 30 | 11 | 19 | 12 [mM10] 08 uc204 | 90504 |FLuz04| LS04

UCPA208 | ZA90508 | 80 149.2] 19 |116| 84 149.2/100| 13 | 20 | 58 [M14 2 UC208 | 90508 | PA208 | ZAS08
UCPA209 | ZA90509 | 85 |49.2| 19 |120| 90 |54.2/108| 13 | 22 | 60 [M14[ 2.2 UC209 | 90509 | PA209 | ZAS09
UCPA210 | ZA90510 | 90 |51.6] 19 1130 94 |57.2]116] 14 | 25| 64 [M16]| 29 UC210 | 90510 | PA210 | ZA510

UCFLU205 |L90505( 52 (341(143|125| 99 [ 68 | 30 | 13 | 19 | 12 |M10| 08 UC205 [ 90505 [FLU205( L505
UCFLU206 |L90506| 62 | 38.1|15.9( 142 |116.5 80 | 33 | 13 | 20 | 12 |M10| 11 UC206 | 90506 |FLU206| L506
UCFLU207 [190507( 72 |1429)|175]156(130| 90 | 36 | 15| 24 | 14 [M12| 14 UC207 | 90507 |FLU207| L507
UCFLU208 |L90508| 80 |49.2| 19 | 1721435 100 38 | 15 | 24 | 14 [M12| 18 UC208 | 90508 |FLU208| L508
UCFLU209 |L90509| 85 |49.2| 18 | 1801485/ 108 | 40 | 16 | 28 | 16 [M14| 21 UC209 | 90508 |FLU209| L509
UCFLU210 |L90510| 90 |51.6| 19 | 190|157 |115| 46 | 16 | 31 | 18 |M16| 25 UC210 | 90510 |FLU210| L510
UCFLU211 |190511|100)55.6)|222)217[184|130| 49 | 21 | 34 | 18 [M16| 3.5 UC211 | 90511 |FLU211| L511
UCFLU212 |190512( 110 [ 55.1(25.4]|235|202|140| 53 | 21 | 38 | 18 [M16]| 4.5 UC212 | 90512 |FLU212| L512
UCFLU213 |L90513[ 120 551|254 248 | 210 152 | 59 | 22 | 38 |205|/m18| 56 uc213 [ 90513 |FLU213| L513
UCFLU214 |L90514) 125)|74.6(30.2| 257 | 216[ 159 | 62 | 22 [ 41 |205/m18[ 57 UC214 | 90514 |FLU214| L514
UCFLU215 |L90515) 130 [ 77.8|33.3| 266 | 225[ 165 | 65 | 22 | 41 | 205[M18| 66 UC215 | 90515 |FLU215| L515

UCPH200 ( ZH90500 ) &
T 1o Pl S BB TR 22 S IR T S 7R -

MRS SMERT (mm) iR EWERS | RRARTERS
e | IBS | DB | S| L | )| H|HL[H2| A| N|NL| de |HEKkD| ks | 1BKRE | geE | IBRS
UCWPH201| ZH90501 | 40 [27.4[11.5/127| 95| 70 |101| 15| 40| 13| 19 | M10 1 UCW201] 90501 | PH203 | ZH503
UCWPH202| ZH90502 | 40 [27.4{11.5/127| 95| 70 {101f 15| 40] 13 | 19 [ M10 1 UCW202| 90502 | PH203 | ZH503
UCWPH203| ZH90503 | 40 |27.4[11.5/127| 95| 70 |101f 15| 40| 13| 19 | M10 1 UCW203] 90503 | PH203 | ZH503
UCPH204 | ZH90504 | 47 | 31 [12.7)127| 95| 70 |101| 15| 40| 13 | 19 [ M10 1 UC204 | 90504 | PH204 | ZH504
UCPH205 | ZH90505 | 52 |34.1{14.3{140(105| 80 |114] 16 | 50| 13 | 19 [ M10 1.2 UC205 | 90505 | PH205 | ZH505 5
UCPH206 | ZH90506 | 62 |38.1/15.9/165/{121| 80 |130] 18 | 50| 17| 21 |[M14| 1.8 UC206 | 90506 | PH206 | ZH506 -
UCPH207 | ZH90507 | 72 |142.9|117.5|167[127| 95 [140| 19| 60| 17 | 21 | M14 2.4 UC207 | 90507 | PH207 | ZH507
UCPH208 | ZH90508 | 80 |49.2| 19 [184|137|100|149] 19| 70| 17 | 25 | M14 2.4 UC208 | 90508 | PH208 | ZH508
UCPH209 | ZH90509 | 85 |49.2| 19 [190|146]105|157| 20 | 70| 17 | 25 |M14| 3.7 UC209 | 90509 | PH209 | ZH509

UCPH210 | ZH90510 90 [51.6] 19 [206|159(110{165] 22 | 70| 20| 25 |M16| 4.1 UC210 | 90510 | PH210 | ZH510 UCFUZOO(FQOE)OO)ﬂ N .é;. L
o [
H £
5 T e T & Sh 3K il BR 5 & " »
—t]
HEMKIKS SHERS (mm) R MRS AL R
#ikS |Bis [ D | B S L Jol A [ A | N | d | Biitkg) | #fkS RS ;LS 18£S
UCWFU201 | F90501 40 | 274|115 76 54 11 17 12 | M10 0.7 ucw201 90501 FU203 F501
UCK200 ( K90500 ) 7l ucwru202 | Foos02 | 40 | 274|115] 76 | 54 | 11 [ 17 | 12 [m10] 06 ucwz02 [ gos02 FU203 F502
{ UCWFU203 | F90503 [ 40 [27.4[115] 76 | 54 | 11 | 17 | 12 [m10] os ucw203 [ 90503 FU203 F503
gt EE TR S BR E Bk Eh A& 1 = UCFU204 | F90504 | 47 | 31 [127] 86 [eas] 11 [ 19 [ 12 [m10] o7 uc204 | 90504 [ Fu204 F504
UcrFu205 | Foos505 | 52 [341[143] a5 [ 70 [ 15 | 19 | 12 [m10] o9 uc205 | 90505 FU205 F505
RIS SHER S (mm) | RIRRLS | RRER] UCFU206 | F90506 | 62 | 36.1| 159 108 | 825] 13 | 20 | 12 |Mi0| 1.4 UC206 | 90506 | FuU208 F508
see [mes | o | 8| s u|a]Aalm]alalaln]n]|seu| mes [are|meears UCFU207 | Fooso7 | 72 |429| 175|117 92 | 15 [ 21 [ 14 [mi2 15 uc207 90507 FU207 F507
UCWK201| k90501 | 40 [274[115] 78 [ 50| 9 |62 |52 |28 12201613 ] 28| 05 [ucwzo1|90501 K203 (K503 UCFU208 | F90508 | 80 |492| 19 | 130 | 102 | 15 | 24 | 16 | M14 19 uc208 90508 Fu208 Fs08
ucwk202| k90502 | 40 [274|115] 78 [ 50| 9 |62 [ 52| 28| 12| 20| 16 | 13 | 28 05 |UCW202| 90502 | K203 | K503 UCFU208 | F90509 | 85 |49.2| 19 | 137 | 105 | 16 | 24 | 16 | M14 2.3 uc209 90508 Fu208 F509
UCWK203| K90503 | 40 (274|115| 78 | 50| 9 | 62 | 52|28 | 12| 20| 16 | 13 | 28 0.5 |UCW203| 90503 | K203 | K503 UCFU210 | FO0510 | 90 | 516 19 | 143 | 111 ] 16 | 28 | 19 | M1§ 2.7 uczio 90510 Fu210 F510
ucwk204| koos04 | 47 | 31 [127] 94 [ 61 [ 10 89| 76| 32 135] 21 [ 19 [ 16 [ 32| 08 | ucao4 |90504 | k204 | k504 UcrFu211 | Foos11 | 100 [ 556 [ 222] 182 | 130 18 | 31 | 19 [m1s]| 39 uc211 90511 FU211 F511
UCK205 | K90505 | 52 [34.1|143| 97 | 62 | 10 | 83 | 76 | 32 | 13.5| 24 19 16 | 32 0.9 UC205 | 90505 | K205 | K505 UCFU212 F90512 | 110 | 65.1 | 254 | 175 | 143 18 34 19 | M16 4.7 uc212 90512 FU212 F512
UCcK206 | k90506 | 62 [381]159] 113 70 | 10 [102] 89 | 32 [135] 28 | 22 [ 16 | 37 | 13 | ucaos | 90506 | k206 | k506 UCFU213 | F90513 | 120 [ 651|254 ] 187 [ 150 | 21 | 34 | 19 [m1s] 57 uc2i3 | 90513 FU213 F513
UCK207 | k90507 | 72 [429[175[ 129 78 | 13 [102] 89 | 37 [17.5] 30 | 22 | 16 | 37 | 17 | uC207 [ 90507 | K207 | K507 UCFU214 | F90514 | 125 | 746 [ 302] 193 [ 152 22 | 35 | 19 [m18] 61 uc214 90514 FU214 F514
UCK208 | K90508 | 80 [49.2| 19 | 144 | 88 | 16 |114)|101| 49 |17.5| 33 | 29 19 49 23 UC208 | 90508 | K208 | K508 UCFU215 F90515 | 130 | 77.8 | 33.3| 200 | 159 | 22 35 19 | M16 6.9 ucz215 90515 FU215 F515
UCK209 | K90509 | 85 [49.2] 19 [ 144 87 | 16 [117]101] 49 [175] 35 | 29 | 19 | 49 | 14 | UC209 [ 90509 | K209 | K509 UCFU216 | Fo0516 | 140 | 826 33.3] 208 | 165 | 22 | 35 | 23 [mM20] 81 uc216 | so0s16 FU216 F516
UcK210 [ k90510 | 90 [s16] 19 [149] 90| 16 [117]101] 49 [175] 37 [ 29 [ 19 [ 49 | 25 | uc21o [90510 [K210[K510 UCFU217 | Fo0517 | 150 [ 857341 220 [ 175 24 | 36 | 23 [m20]| 93 ucz217 90517 FU217 F517
UcK211 | k90511 | 100 [ss6[222] 171 [106] 19 [146]130] 64 [ 27 [ 38 | 35 | 25 | 64 | 38 | ucaia [9os11[k211[Kks11 UCFU218 | F90518 | 160 | 96 [39.7| 235 | 187 | 24 | 42 | 23 | M20 11 uc218 90518 FU218 F518
uck212 [vkoos12] 110 [65.1]25.4] 194 [119] 19 [146]130] 64 [ 27 [ 42 [ 35 [ 32 | 64 | 47 | ucai2 [9o512 [K212[K512 UCFU220 180 | 108 | 42 | 266 | 210 | 28 | 44 | 27 | M2z 12 UC220 Fuz20




it i i WFiREENERESERAE

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

AR T GE...ESRF mIOK TR GEG...ESRF

BEIEEEE | /0 BThEERER] © $R/5N

Sliding contact surfaces:steel/steel GE. ES-2RS Sliding contact surfaces:steel/steel GEG...E GEG...ES GEG...ES-2RS
SMEZRS BRAEFAET MR~ RERTT
shEme Dimensions(mm) Load ratings kN Wiéht SRS Dimensions(mm) Load ratings kN WEiEht
Bearing number . 5 5 c g 2 e o° ety | BEE :L% Bearing number 4 B B c d ry Fis fo.4 shEder | BRaife :k?g
: min | min ~ | Dynamic| Static | min | min =~ | Dynamic| Static
GE20ES GE20ES-2RS 20 35 16 12 29 0.3 0.3 9 30 146 0.066 GEGL17ES | GEG17ES-2RS 17 35 20 12 29 0.3 0.3 19 30 146 0.083
GE25ES GE25ES-2RS 25 42 20 16 | 355 06 | 0.6 7 48 240 0.119 GEG20ES | GEG20ES-2RS 20 42 25 (5 || Bl || s 0.6 (7 48 240 Q53
GE30ES GE30ES-2RS 30 47 22 18 | 407 | 06 | 06 6 62 310 0.153 GEG25ES | GEG25ES-2RS 25 47 28 18 | 40.7 | 06 | 06 17 62 310 0.203
GE35ES GE35ES-2RS 25 55 25 20 47 0.6 1 6 79 399 0.233 GEG30ES | GEG30ES-2RS 30 55 32 20 47 0.6 1 17 742 399 0.304
GE40ES GE40ES-2RS 40 62 28 22 53 0.6 1 7 99 495 0.306 GEG35ES | GEG35ES-2RS 35 62 35 22 53 0.6 1 16 99 495 0.408
GE45ES GE45ES-2RS 45 68 42 25 60 0.6 1 7 27 637 0.427 GEG40ES | GEG40ES-2RS | 40 68 40 25 60 0.6 1 17 127 637 0.542
GES0ES GES0ES-2RS 50 75 35 28 66 | 0.6 1 6 156 780 0.546 GEGA5ES | GEG45ES-2RS | 45 75 43 28 66 | 0.6 1 15 156 780 0.713
GES5ES GES5ES-2RS 55 85 40 32 74 0.6 1 £ 200 1000 0.939 GEGS50ES | GEGS0ES-2RS 50 90 56 36 80 0.6 1 17 245 1220 114
GEG6OES GE6OES-2RS 60 90 44 36 80 1 1 6 245 1220 1.04 GEG60ES | GEG60ES-2RS 60 105 63 40 92 1 1 17 313 1560 2.05
GE70ES GE70ES-2RS 70 | 105 | 49 40 92 1 1 6 313 1560 Al sl GEG70ES | GEG70ES-2RS 70 120 | 70 45 | 105 1 1 16 400 2000 3.01
GE8OES GESOES-2RS 80 | 120 | 55 45 | 105 1 1 6 400 2000 231 GEG80ES | GEG80ES-2RS | 80 | 130 | 75 50 | 115 1 1 14 488 2440 3.64
GESOES GE90ES-2RS 9 | 130 | 60 50 [ 115 1 1 5 488 2440 275 GEGY0ES | GEG90ES-2RS 90 150 | 85 55 | 130 1 1 15 607 3030 522
GE100ES | GE1QOOQES-2RS | 100 | 150 | 70 55 | 130 1 1 7 607 3030 4.45 GEG100ES | GEG100ES-2RS | 100 | 160 | 85 55 | 140 1 1 14 654 3270 6.05
GE110ES | GE110ES-2RS | 110 | 160 | 70 55 | 140 1 1 6 654 3270 4.82 GEG110ES | GEG110ES-2RS | 110 | 180 | 100 | 70 | 160 1 1 12 950 4750 9.68
GE120ES | GE120ES-2RS | 120 | 180 | 85 70 | 160 1 1 6 950 4750 8.05 GEG120ES | GEG120ES-2RS | 120 | 210 | 115 | 70 | 180 1 1 16 1070 5350 14.01
GE140ES | GE140ES-2RS | 140 | 210 | 90 70 | 180 1 1 7 1070 5350 11.02 GEG140ES | GEG140ES-2RS | 140 | 230 | 130 | 80 | 200 1 1 16 1360 6800 19.01
GE160ES | GE160ES-2RS | 160 | 230 | 105 ( 80 | 200 1 1 8 1360 6800 14.01 GEG160ES | GEG160ES-2RS | 160 | 260 | 135 | 80 | 225 | 1.1 11 16 1530 7650 20.02
GE180ES | GE180ES-2RS | 180 | 260 | 105 80 | 225 | 11 11 6 1530 7650 18.65 GEG180ES | GEG180ES-2RS | 180 | 290 | 155 | 100 | 250 | 1.1 1kl 14 2120 10600 3221
GE200ES | GE200ES-2RS | 200 | 290 | 130 | 100 | 250 | 11 1.1 7 2120 10600 28.03 GEG200ES | GEG200ES-2RS | 200 | 320 | 165 | 100 | 275 | 1.1 11 15 2320 11600 | 45.28
GE220ES | GE220ES-2RS | 220 | 320 | 135 | 100 | 300 | 1.1 | 1.1 8 2320 11600 3551 GEG220ES | GEG220ES-2RS | 220 | 340 | 175 | 100 | 300 | 1.1 kil 16 2550 12700 | 51.12
GE240ES | GE240ES-2RS | 240 | 340 | 140 | 100 | 300 | 1.1 11 8 2550 12700 3991 GEG240ES | GEG240ES-2RS | 240 | 370 | 190 | 110 | 325 | 11 11 15 3030 15190 65.12
GE260ES | GE260ES-2RS | 260 | 370 | 150 | 110 | 325 | 1.1 11 7 3030 15190 5154 GEG260ES | GEG260ES-2RS | 260 | 400 | 205 | 120 | 350 | 1.1 1.3 15 3570 17850 82.44
GE280ES | GE280ES-2RS | 280 | 400 | 155 ( 120 | 350 | 1.1 | 1.1 6 3570 17850 | 65.06 GEG280ES | GEG280ES-2RS | 280 | 430 | 210 | 120 | 375 | 1.1 11 15 3800 19100 | 97.21
GE300ES | GE300ES-2RS | 300 | 430 | 165 [ 120 | 375 | 11 | 11 7 3800 19100 | 78.07




it i i WFRRBENERRSERAS

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

[E)/O KT 57

BEIERE © $R/4%

Sliding contact surfaces:steel/steel

BENEEER R/

Sliding contact surfaces:steel/steel

N SERT s _ SRS e _
RS Dimensions(mm) Load ratings kN E_E RS Dimensions(mm) Load ratings kN | i
Bearing = — — Weight Bearing N - Weight
number d B d, G d; h L ds dq e Is a Eﬂ%ﬁ B§§3_ﬁ =kg number d B | d, G| d G h, I? I | dy [ ds b f? Eﬂﬁﬁf %ﬁﬁ ~kg

max | max max | max min ~ | Dynamic | Static max | max 6H min | max | max [ max min| ~ | Dynamic | Static
GK10DO 10 9 16 7 29 24 | 38.5 15 3 2 0.3 12 21 15 0.041 GIHR-K20ES 19 | 56 | M16x15 | 50 | 17 | 78 | 25136 | 17 | 03] 9 30 42 0.37
GKizDO | 12 | 10| 18| 8 | 34 | 27 | 44 [ 175 3 | 2 |03 | 10 10 20 | 0.066 GIHR-K25ES 23 | 56 | M16x15 | 50 | 17 | 78 | 25 | 36 | 21 | 06| 7 18 52 043
GK15DO 15 12 22 10 40 31 51 21 4 251 03 8 16 24 012 GIHR-K30ES 28 | 64 | M22x1.5 | 60 | 23 | 92 [ 32 | 40 | 26 [ 06| 6 62 Q 0.70
GK17DO | 17 | 14 | 25 | 11 | 46 | 35 | 58 | 24 | 4 | 25 | 03 | 10 21 21 0.19 GIHR-K35ES 30 | 78 [ m28x15 [ 70 | 29 [109] 40 [ 50 | 28 [ 06 [ 6 79 104 il
GK20DO | 20 | 16 | 29 | 13 | 53 | 38 | 6451 2751 4 | 25 | 03 | 9o 30 42 0.23 GIHR-K40ES 35 | 94 [ M35x15 | 85| 36 [132] 49| 60 [ 33]06] 7 99 173 2.1
GK25D0 | 25 | 20 | 35 | 17 | 64 | 45 | 77 | 335 4 3 1061 7 a3 56 0.43 GIHR-K50ES 40 | 116 | M45x15 | 105 46 | 163 | 61 | 72 | 37 | 06| 6 156 265 33
GK30DO | 30 | 22 | 40 | 18 | 73 | 51 | 8751 40 | 4 3 1061 6 52 87 0.64 GIHR-K60ES 50 | 130 | M58x15 | 130 | 59 |195]| 75 | 90 | 46| 1 | 6 245 320 55
Gkasoo | 35 1 25 1 47 | 21 | s2 |61 (1021 47 | 2 | 3 | 061 6 79 99 0.96 GIHR-K70ES 55 | 154 | M65x1.5 [ 150 | 66 | 227 86 |100]| 51 | 1 | 6 313 440 8.6
GKa0DO | 40 | 28 53 23 92 69 | 115 | 52 4 4 0.6 i 99 122 1.3 GIHR-K80ES 60 | 176 | M80x2 |170) 81 | 258 [102)125] 55 | 1 6 400 570 12.0
GKa5DO | 45 | 32 | 60 | 27 | 102 77 | 128 | 58 6 5 0.6 7 127 160 1.8 GIHR-K100ES 70 | 230 | M110x2 | 235|111]350|138]166] 65| 1 7 607 965 28.0
GK50DO | 50 | 35 | 66 [ 30 | 112 [ 88 | 144 | 62 6 5 0.6 6 156 193 2.5
GKsoDO | 60 | 44 | 80 | 38 | 135 100 |167.5] 70 6 5 1 6 245 294 3.9
GK70DO | 70 | 49 | 92 | 42 | 160|115 195 | 80 6 6 1 6 313 406 6.6
GKSODO | 80 | 55 [105| 47 [180) 141 ] 231 | 95 6 6 1 6 400 494 8.7
(L)FREEHEE. Can not be relubicated. (2) RGBS HiHIRFLIDME. Can only ber relubicated through the rod end housing
4 ds
==
VA 1 ]
— : t
BEEIRN — IBENREIRE : /4N
| | Sliding contact surfaces:steel/steel
5 =
BENERE : R/ \ —— G
Sliding contact surfaces:steel/steel : i | =i Dimensions(mm)
Bearing

e IR WEHTT _ number d | 8| a]| S| " | 2| | R =]
WFERS Dimensions(mm) Load ratings kN EE' ARG [ IR 6H min | max | max | max
Bearing — ——| Weight GIHN-K12L0* | 12 12 18 | 105 | 32 |M12x1.25] 38 17 54 16 32 12
number | d B d, G d; h L rs of | DR | WEE | g GIHNKI6LO0 | 16 | 16 | 23 | 13 | 40 | Mi4xis | 44 | 19 | 64 | 21 | 40 | 12

max | max max | min = | Dynamic| Static GIHN-K20LO 20 20 29 17 47 | MI6x15 | 52 23 | 755 | 25 47 14
GF20DO 20 16 29 19 50 38 63 0.3 9 30 55 0.35 GIHN-K25L0 25 25 35:5 21 58 M20x15 65 29 94 30 54 1
GF25D0 25 20 35 23 55 45 72.5 0.6 7 48 58 0.53 GIHN-K32LO 32 32 43 27 70 M27x2 80 37 115 38 66 22
GF30D0O 30 22 40 28 65 51 83.5 0.6 6 62 98 0.87 GIHN-K40LO 40 40 x] 22 89 M33x2 20 46 141.5 a7 80 26
GF35D0 35 25 47 30 83 61 102.5 0.6 6 79 164 15 GIHN-K50LO 50 50 66 40 108 M4a2x2 120 57 174 58 96 32
GF40DO 40 28 53 35 100 69 119 0.6 7 99 260 2.4 GIHN-K63LO 63 63 83 52 132 M48x2 140 64 206 70 114 38
GF45D0 45 32 60 40 110 b 132 0.6 7 127 329 3.4 GIHN-K80LO 80 80 105 66 168 M64x3 180 86 264 S0 148 48
GF50D0 50 35 66 40 123 38 149.5 0.6 6 156 376 4.4 GIHN-K100LO 100 100 130 84 210 M80x3 210 96 315 110 178 62
GF60DO 60 44 80 50 140 100 170 1 6 245 490 7
GF70DO 70 49 92 55 164 115 197 1 6 313 636 10
GF80DO 80 55 105 60 180 141 231 il 6 400 705 15




it i i WFRRBENERRSERAS

EHEN_ETIJNE WUZHOU SHANDONG CHENGTONG WUZHOU INTERNATIONAL TRADE CO., LTD.

B L EETUR o4 /Russian joint bearing

s\\\}\\
A

BENEERE -
L E ety
PAMREABMLALTE,

Sliding friction pair:
The structure is Russian
The intemal and external surfaces are nol phosphalized

i s 2LLICNSeries
LCA... Eme SHRT Dimensions(mm) e ffﬁgs £
RBLS 4MF2R~FDimensions(mm) i 55 Bearing ; o - c ” - s reses W:L%ht
Bearing d D B c dk Rls R2s o Tt Weight number = Dynamic Static
number min | min = =kg 2LIC 1160 60 | ¢110 | 60 34 95 18 275 1372 2.184
LLIC /16 6 14 6 4 10 0.4 5 13 1 0.004 2LUIC N190 90 | ¢160 | 80 50 130 | 135 552 2762 6.1
— 3 " - - = = > s N — 2WIC 1120 | 120 | 4215 | 130 90 190 | 135 1470 7268 19.8
2WIC 1150 | 150 | $270 | 160 | 110 | 240 15 2270 11220 374
LC 110 10 20 9 6 16 04 2 12 2 0.013 SLIC/ISeries
lwc n12 12 22 10 7 18 0.4 2 10 2 0.016 iFme MRS Dimensions(mm) Loéaﬁﬁzﬁnﬁgs =0
LC N1s 15 28 12 8 23 0.5 2 11 2 0.028 _ —— : Weight
wc ni7 17 32 14 10 26 0.5 2 10 2 0.044 number ~ Dynamic Static =
LLIC 1120 20 35 16 12 29 05 5 9 5 0.061 2C10 10 | ¢30 14 10 23 1 195 97.7 0.0523
2l C12 012 | ¢32 16 12 26 11 26.5 132.6 0.064
LIC n25 25 42 20 16 355 05 2 7 2 0.11
2 C15 15 | @35 18 14 28 1 333 166.6 0.0816
Lic 130 30 47 22 18 | 407 | 05 2 6.5 2 014 2l C 17 17 | 40 | 21 14 32 15 38 190 0.146
LIC N35 35 55 26 21 47 0.5 2 7 2 0.22 20 C 20 020 | ¢47 26 15 35 22 446 223 0.185
LLC N40 40 62 28 22 53 05 2 7 2 03 6LUC/ISeries —
LLC 145 45 70 a7 25 60 0.5 2 7 3 0.44 WERS SR Dimensions(mm) Lj:ﬁﬁfgs =i
: =T : Weight
LC 1150 50 75 a5 28 66 0.5 2 7 3 0.54 Bearing d D B C dk o BN R slkg
C 1155 55 | 8 | 40 | 32 | 74 | 05 2 7 2 0.75 EEE G S
: : 6LLIC 160 60 | ¢130 | 85 70 115 10 684 3421 0.942
LIC N60 60 90 44 34 80 0.8 25 8 2 0.97 9WC/ISeries
LUC N70 70 105 49 40 92 0.8 25 6.5 4 115 R SN R Dimensions(mm) BB =B
i Load ratings :
; —— — Weight
LC N80 80 125 76 70 114 0.8 25 4 2 3.8 Bearing - TEE e eig
d D B d dk : . kg
c nso 90 130 60 50 115 0.8 25 55 5 D number = Dynamic Static
WIC 1100 100 150 70 55 130 10 3 75 i 43 UIC 1110 | ¢110 | ¢150 [ 40 35 130 2 391 1394 1.9
LLIC20 Series
LLC N1110 110 160 70 55 140 1.0 3 6.5 2 4.7 T
RS AMNEZ R~ Dimensions(mm ! =H
LLIC N1120 120 180 85 70 160 1.0 3 6 4 8 = e Load ratings i »iht
Bearing o ENET (EE7E =
LLIC 1130 130 | 200 95 52 175 10 3 15 2 105 d D B c dk d : kg
number = Dynamic Static
LLC 20 20 | @35 16 12 29 9 40 149 0.0623




